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Preface 

This book is Wlilteri in a style illIeiIdad to Plovide basic. Plact.k:alllnowl •• andtld'lllq.-l 
for marketers, I.IlfIaill.d in the dill:ipln. of IirNn:e and 8CCOI..I1Iing. n Is not i!landed to gIVe 
an aI embraciIlg disa.IIIion on the ilflicaciell of the princip 1.1 of 8CICCII.I1IinG and finance but 
to provide sufficient knowIldge for the rnarkeIer to be aware of the fialdal /mfli' .. ' •• of 
_ilion making, and aid in the foIowilg 1ICti ... of nak8Iing: 

• an 88. a lament of how wall marketing... laID' Is .oddng, 
• an fMIIUation of l"maIIve marMlilg adiviIieI. 
• the dlrw8lopmant of fuII.n marketing plane, and 
• willicalg marketing ac:tidies. 

The text is kept to a mininull in order to put over the JlI'*ldIlIII in • cane .. ..,. but I 
includes both numerous worked and I.Wt-WOfkad .... UIlI .. in order to acIlialM IIIIDdnun 
uncIei slalldillg and reinfon::ament 

The text is Pli,aily designed 88 a teact'lilg aid for ...... Ig or IIQIIIuIfneIa ...... or 
trainers and is aimed at undaIUiaduate or diI*Nna IIIUdenls studJIna 8QIbAnII..... • .... 
agrfCuIILnI economics, agribusiness, managemanl or buMtn. IUrIII and cellIii. 
Plofl I Ii III 181 quaIIfIc;aIions. It can aIIIO be UIad 8$ " ...... for shaft COI.n8II, 8$ ........ 

or basic text for posIgraduates. for in service traini Ig of managell and 8$ •• II laid I .Ig aid. 

The ".''''lg procll. 

The 'I.ming PlOCUS is ISIII •• d wilt*! the text 1I1raugh the JlIV~itllXl of ....... of 
Ila ,litg aids. These ... : 

• a ..... objectiuu; Each c:hapar to. specIIc objIIcI~ wf*:h ...... "'I ._ 
for lie chapter n ' rial and ouIIIne the II aming oubIrIwI. 

• F"1gLI8S and Iatll.a; Each c:hapar is iIuIIIatad wIIh rll ••• il ..... and ..... which 
1IusInda. 8fiC8j ........ or II.IMI8Iize the text. 

• Exempl .. ; Each c:hapar wllillin ..... 'IIlI •• whIc:tt S8IV8 to ..... the text and 
reinforce Ul'ldeisterdlg of lie PliiClflln. 

• Exerci •• S; Each chapfa wnlalns both worked and .... DdaId [I n 'i •• i!landed to 
ensure lie I •• ' .... l.Iidaisterd1Q of boI'I the concepti and the __ of PI .... 
I8cl'lIiques involved in financial ...... 

• Kay tarms; Key tarms ... included at the end of each c:hapar and .. i ....... to 
act 8$ an aida 11I8fIIOiI8. 

• Index; A Sltbjed index is included at the end of the faxt to assist wIIh qUck 
'eleiance. 
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Chapter 1 • Introduction to accounting 
for marketers 

Chapter objectives 

This chapter is intended to provide: 
• An understanding of financial analysis in 

marketing 
• An explanation of the various activities 

associatad with marketing financial 
analysis 

• A brief introductiOn to the various financial 
analysis methods. 

Whilst it is not necessary to be a qualified accountant or bookkeeper, a basic 
understanding of what is involved in financial analysis is essential for anyone in 
marketing. It is too enticing, and often too easy. to use "blue skies" thinking in 
planning marketing acIIviIies. It is even easier to spend money without fully realizing 
the retum one is getting for il It is proven, therefore, on marketars, to be more 
disciplined and analytical in the way they go about planning, executing and evaluating 
marketing plans and strategy. One way of introducing more discipline into the process 
is by having a basic understanding of the financial implications of decision making, 
and how financial measures can be used to monitor and control marketing operetions. 
The purpose of this text is to provide exactly that, and the first chapter deals basically 
with an introduCtion to the acIIviIies Involved in financial analysis. 

Structure of the chapter 

The chapter introduoes the way in which financial analysis can be used In marketing, 
and gives a brief overview of the arees in marketing whete a knowledge of finance 
can be very useful, particularly in helping marketars gauge how well strategy is 
working, in evaluating marketing research altematives, developing future plans and in 
marketing COItboi. 

The marketing financial analysis circle 

Financial analysis can be used to serve many purposes in an organizatiOn but in the 
area of marketing it has four main functions: 

a) to gauge how well marketing strategy is working (situation analysis) 
b) to evaluate marketing decision altematives 
c) to develop plans for the future 
d) to control activities on a short term or-day to-day basis. 

In effect these four functions comprise what can be caUed the "Marketing Financial 
Analysis Circle" (see figure 1.1) 
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Fifpn 1.1 TIw matkellng.ffnsnclal ansIpIs ella. 

I ......... 
,~ ....... ........ 

......... I .... I I • ..... . ru 

"-I ,.../ ......... ....... 
Activitfes associated with marketing financial......,. .. 
functions 

For each of the feu fi.n:IoIaaI __ where finsncitI....,. II UI8fcII in I ..... iji, 
there .. II number of l.sociaSa d acIiYiIies: 

.) FI'I8nCiaI SiIuaIion ....,. (how wall nlSllketilllll'" II rw II _lIdllg) 
This invOlves the IIudy 01: 

• the IIudy of tnInda 
• compa"'llI ... anaIyIis 
• aSSBSsmellt of PI ISBIll finsncitI .... 1gIhI Md •• litaIIIoIw tIort. 

whole business, bra1d or component of t. buill •• '0 e.g. 
tranIpOItaIion. 

b) FInanciIII evaluation of aI1tmaIives 

This invOlves the IIudy of a number of faCtIors .. the market place, 
competi1ors etc., and Is used for declsbw wheIher liD: 

• inIroduce new plOdllctlidaiall mature plOdll" 
• expalld the salas force or do mont ad ... e . l1li 
• daIe1a. martcet opIIaIion e.g. dole II Daily ao.d dIpat or incn III 

the ........ 
• move InIo II new market orn ..... 
• built II new gnIin depot or 110. 

c) FI'I8nCiaI pial_"*", (pIOJeclk'ilS conca .. i", aclivilll wI*it ....... l1li 
"'1IIgfImII1l" decided to under1aIaI) 

F.-Ida! pIaI.1ing Is used for a number of 1ICIh .... a.: 

• the ir*oducIlon of II new range of pmdlll:lll 
• the bee a"'", of ..... Md COllIs 
• 11.-. lbeIalaafiDn. 
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This activity is mainly centered around keeping plans on course. 

Methods Involved in marketing financial analysis 

There are a variety of methods used in each of the four functional areas. Some of 
these include the following: 

a) Financial situation analysis 

• RatiO analysis 
• profit and contribution analysis 
• Sales and cost analysiS. 

b) Financial evaluation of altematives 

• Sales and costs analysis 
• Break evan analysis 
• Profit contribution, cash flow analysis, profit projections 
• Retum on investment 
• Retum on capital employed 
• Sustainable growth rates. 

c} Financial planning 

• Sales and costs forecasts 
• Budgets 
• Proforma income statements. 

d) Financial control 

• Sales and costs forecasts 
• Actual results compared to budgets (analysis of variance) 
• profit performance. 

What is analyzed in marketing financial analysis 

Two factors influence the choice of unit of analysis: 

a) the purpose of the analysis 
b) the cost of the information needed to pefform the analysis. 

Several possible units can be used in marketing financial analysis and cost or sales 
data can be used. These units are listed in table 1.1. which Is by no means 
exhaustive. Units can be chosen which suit the particular situation or organisation. 
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Table 1.1 - Allllmatlve ...... In financiaI.....,..1s 

TOI8I ...... 
...... segme.1t (s) 
GeognIphicaI anias 
- demogiaphlcs 
-product 
- chaoattalstics 

IIDIItry 
Pnldudmlx 
PnIdud line 
SpecIfIc product 
- brand 
• model 
-size 
-shape 

Basic financial analysis methods 

Comr If 
Segn .. IIIDIvIJlCliIllUnl 
Uallllillg .... 1I ... 1t 
sal8sunl 
RegIons 
Dlllik:tlBt ...... 
0fIIceISIIaI1t 
saI8s,..-. 

These wiI be upended on in later chapfiInI, 10 IhII tedian ........ _ .. inIn:Ictdon 
only. 

Ratios can be used to judge hi OIplIZaIIon's ....... I.e. can • p8J Is bill. Is 
.......... ie. how is it ii_ICed and itt "ac:tivities-, I.e ..... procb:IIIIiy and lllIieilncy 
fA .... OfgoW!I.pllol .. Taking 1qIi_ analysis only. IhII has • bl i", on naw pmduct 
__ "" marketing budgaIs and .... marketing (Ie! iPai'ls. UquIcIly 81'1111y. is dnMn 
fn:Im .... balance sheet. e.g.: 

CasII 
Accounl:s I\tCIIIvIbIe 
Stock 
TOI8I QIIJaIt ..... 

PlCJtMItJ and equ!pn1liil1l 
0IIIer_ 
TOI8I_ 

$ 
250 
300 
zag 
750 

2,000 
400 

3.150 

CunnI 
SIIOIt term dIIIl 
lJIIIjf term dIIIl 
Total ... • .... 

TOI8I ....... and l'1li_ 

$ 
120 
100 

l.IIIl 
1.720 
1 .... u_ 

These .. used to judge II finn's short tarm ctrpllCitr to melt Is Ii ...... 
f8SPOI ..... 11I 

I =.=- (ShcUdbegnlll.r .... ,) 

75(W20003.41 

I) QuIck ratio 

I :::=- (minus stodt) 

8 
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5501220=2.50 

Debt ratios 

These are used to measure long tenn liquidity 

ToGI~ 

NtIlvt:rlh (Current Uabl' +Short Tenn Oebt+L Tenn debt) should be >1 

1.720/1.430=1.21 

I 
k.wg IriII dtIbI 

Total """"........,., (Long Tenn Debt + Net Worth) 

1.50012.930=0.51 

This ratio shows the extent of leverage (debt) in total capitalizatiOn. 

Profit analysis 

Breakeven analysis Is a method used to estimate the number of units (volume) or 
sales value required to make neither profit nor losses. In other words. it is the point 
where costs of production and sales volume are equal. 

Sales and cost infonnalion are used to calculate the breakeven point Without getting 
into the argument as to what conslitutas fIXed or variable costs. fixed costs are 
defined as those which do not vary with output a.g. rent. rates. whareas variable costs 
do vary with increased or decreased output. e.g. labour. materials. Breakeven 
assumes fixed costs are constant, variable costs vary at a constant rate and there is 
only one seHing priCe. However. with a higher or lower priCe. the breakeven point win 
be lower or higher respectively. Braakevan is calculated by the fonnula: 

I BREAKEVEN - PRDllNt~=cx:BI' flNt 

By realTSnging the fonnuIa breakeven costs or seIes can be caIcIl!ated. Note that 
profit JeveI intentiOns should be added to the fixed costs. as this ii a "charge" to the 
company. Also. If one wishes to recover all new investment (value) immediately it 
should be added to fixed cost. 

Breakeven can be calculated by the fonnula or by graphical methods. Figure 1.2 
shows an example of both. 

F"lgure 1.2 Formula and graphical sofutlon for braakavan analysla 

i) Fonnula 

PfIceIUnit= 
Variable costJUnH = 
Fixed costs = 

$1.848 
$ 0.767 
$70.000 

q 
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= 85, 000 l.I'IiIs (volume) or $120, 000 

figure 1.2 GnpIIiaI MIuIIan 

120 

70 

o o 

I 

SlIltJPdcI 
~ ......... praIl 

eo. ..... 1Iion _lysis: VIlhan peirOli1l8nC8 d p!OducIs. n_hIIt ............. oe.r 
~ units is being analyzed, an 8lC8I1'IR I8tion d the pRIll c:anIIbIIliOn gil_ 1 d 
by a IM'IiI is often vary useful to managamenl. 

I CONIRIBUTION = SALES (REVENUE). VARIABLE COS7S 

So, c:onIribuIion l'8pfasanll the anICU1l d tIIOII8J 8\.11 tie tocowertbaad COIls .... 
the axe I IT avala'ilt is net income. 

For 8X8InpIe. ........ pn:Iduct is ganenllillg' po .... CDIItIIUIon ""UIIi. If the 
product is dlopped, the ramaining prodIlCts would have to cover tbaad costs Ihat .. 
not cIiIecII1lrac a PIlle to it. 

In the 8X8IIlple below I X was llllmil8llld. _ 000 01 pn:Iduct nat ilCOllle wauId be 
loIt. If the product was is&.lIed the $50, 000 could be UIed to COl ..... to aIher 
tbaad costs andIor net income (seellgln 1.3.). 

Gross and nat prall ...... ; ConIrIbuIan margil .. UIIfU .... _ ..... the 
linallcial perfonnance d producIs, mar .. 181JM'* .... aIher .......... ,.,.11110 
and COlII/o! units. tlowever, markeCIng a.cllli.,.. should be ra •• r .., the 
c:aIc:uIation of gross and net profit margins, 1IIIf1ith is usafut to gauge CXIII'*'Y .... 
business IM'IiI financial performance and to budget for fub.n 0p8I'81io11S. The praM 

'0 
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and Joss statement Is useful for reporting performance to stockholders and to 
compute taxes. Figure 1.4 gives an example 

Figure 1.3 Illustrative contribution margin for product X (OOO's) 

SALES 
LESS: 

EQUALS: 
LESS: 
EQUALS: 

Variable manufactunng costs 
Other vanable costs traceable to product X 
Contribution margin 
Fixed cost traceable to product X 
Product's net Income 

$ 
500 
200 

.um 
200 

UD 
50 

Note; Chapter 5 provides further explanations of a) and b). 

Figure 1.4 Illustrative profit and loss statement 

SALES REVENUE 
LESS 
EQUALS: 
LESS: 
EQUALS: 
LESS: 
EQUALS: 

Cost of goods sold 
Gross profit margin 
Selling and admin. expenses 
Net profit before tax 
Tax 
Net profit 

$ 
1,200,000 
800,000 
400,000 

200·000 
200,000 
80.000 
12.!!.000 

Consider the folJowing sample data taken from Rowe, Mason, Dickel and Westcott 
{1987} 

Cost of goods sold 
OperatIng expenses 
sales 
Stoc:ks 
Accourds ftICIivabIe 
cash 
Prepaid expenses 
Fixed __ 

Financial analysis models 

$ 
12,000 
3,800 
18,500 
3,200 
3,750 
<400 
50 
1,200 

Many models, often computerized, have been developed to aid marlotters see the 
effects on the "bottom line" of a change in an organization. One such programme is 
!he Dupont Analysis The model allows executives to input data into blank boxes and 
by manipuleting any figure find !he resulting outcome. One of !he advantages of 
computer based models is !hat one can work "backward" or "forward" through the 
model, setting desired levels of cost or oufcomes and calculating the results. 

" 
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Flgure 1,5 Sample printout of the Dupont analysis 
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Other performance measures 

Budgeting and forecasting 

Marketing budgets 

O} Pro forma financial sta.tement 
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trud-·get/quarter 
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Chapter 2 • Financial, managerial 
accounting and reporting 

Chaplar objectlv88 

This chapIar is ~ Ilanded 110 plWide: 
• An inIrudJ ICIion 110 the belle pile, 1.1 ~ the &ICOI.IIIing 

equation 
• An introduc:Iion 110, and the canstrucIon ~. 

1IIIII1Ufac:ILA. tradirtO and pn:ft and loss 8CCIU1Is and 
IheirU18 

• An undeiltadng ~ the pi. "II • and canstrucIon ~ • 
balance sheet and lis illI8Ipetalion 

• A detailed 8lqIIanation ~ the ii_Pillion ~ CClI...". 
8CCOI.IntS using ratio ...."". •• and the .... ~ lhasa. 

a) T1Ie ptOIit lind toss account deli I6d .. • IUIIIIIIIIr ~ • buriI Ill's 
translctions for a given period. 

b) The baI:I!mc:e sheet defil6d as a .tat.m.ut ~ the f.alCi8l polilion ~ the 
business at a given date (usually the and ~ Ihet padod). 

Other .... inlpoltant .. 1 menta .. the ~ et:r:IOfft and .... .. 
account. It is ab8oIut8Iy _dial 110 any mIIks'lrlD UI._1Ii whIII ..... and loss 
stalarnanl and baI8nc::e sheet mean. BoIh documenIs .. viii, not only to Ihow .. 
corpoIata haaIIh ~ the CllganizaIion, but alto .. an illlclclllion to vadala .......... s ~ 
how WIll or badly the Cllganizalion is perfCIIllIllIIg. as proof to poIIII'" Irw IIIt1l1S CII" 
lei •• for .. raising of CllJIitaI and 81 a stabdDry RIICCIId for tIlraloll and o8IIt 
purpolal 

Structunt of the chaplar 

This chapIaI is IIrUc:b.nd in a logical way. building .. hm the belle ...... ~ llraiCilll 
.18IyIis -the dual eIJact and the acccuding *1111 Ion. Fram ... the dllplllloob .. 
the canstrucIon of II'I8I'1lIfac:U tradirtO and fII'OIt and loss IICCOUI11s and the GawiIQ 
.. of • baBa sheet Rallo aneI1- is a particQaItJ pow_ful tid, ... aimed .. 
heIpiIlQ mlll'kBI.11I1D COI'I1I8I8 S8IS of figures over 111M and Il., ..... OCIIIII* ill This is 
dealt wi1h in CClIIiderabIe deIaII. 

The basic principles 

i 

Ewry 1I.SI=~ haS.two eIracI:s, not one, e.g. f • CeriIIIIIII.III~lr8Iirr IQIQ" 8cIInI ) 
(C.M.B.) pu.dtUes gnurs it has: ,./ 

14 



Financial Analysis For Agrtbuai ..... Marketers 
Compul.llf'ized Systems & Agl1businen AppficatIons 

-more stock 
-less cash. 

If the Nne Company of Egypt sells frozen artichokes to a retailer, It has: 

-tess stock 
• an amount owed by the customer if he does not pay immediately. 

b) Second principle: The accounting equation 

The second principle stems from the first. Every transaction has two effects; 
these two are equal and balance each other. Thus, at any given moment the net 
assets of a business are equal to the funds which the owner or proprietor has 
Invested In the business. 

I Net Assets = Proprietor's funds 

is the ultimate accounting equation. An explanation of the terms is 88 follows; 

• Net assets are defined as a business's total assets tess total liabilities. 
• An asset is defii'Mld as something owned by a business, available for 

use In the business. 
- A liability is defined as the amount owed by the business, i.e. an 

obligation to pay money at a future date. 
- Proprietors funds represents the total amount which the business 

owes to its owner or proprietor. This consists of: 

CapItal: (amount proprietor invested in the business) 
plus 
Profits: (funds generated by the business) 
or minus 
Losses: (fundI lost by the business) minus 
Drawings: (amounts taken out of the business). 

Use of the accounting equation to ftnd profit 

We normally arrive at a business's profit or loss by means of. profit and loss account, 
but where illformation about irIcome and expenditure is Iacfdng, the accounting 
equation can ba a useful way of finding profit. If: 

I Net assets = Proprietor's funds 

then an increase in net assets = an increase in a proprietor's funds. 

Considering what causes an increase In the proprietor's funds, we can say that 
INCREASE IN NET ASSETS (from the beginning of a period to the end) is equal to: 

I New capital Introduced + profit • Drawings 

during the same period. If three of these four amounts are known, the fourth can be 
calculated. 

15 



Manufacturing account 

n.. .. IIBlY firms. wIIeIher panostalillll. lola trader. _111_ or •• sIlcd Wi .... .,. 
which manuI'acII.n the final produCt to be lOkI from .... 1m ala , I • e.g. • rw .. 
company uses phosphaIas. armonIa and so on to producIe fillillted r.. .. p allis. 

In 1his II ......... a manuIiacb.IIng ac:ccMn is raqukad In on:Iarto mMI ... final CDltol 
manufacture. The manufaduring organizaIion wiIId need a bldng and pn:ft and laM 
8CCOt.I'Il The orIy major dif*ance is that. In .. tnldilg IICCOUI'I. .. 8I*Y for 
pudlases is replaced by the COlt 01 manufactan. The COlt 01 rnarUac::Ua is 
calculated using a manufaduring account. Two ""pOI.llt fadIars need to be taken ineo 
account 

The costs needed to prepaI8 • manufacIurIng IlCCCMd can be llie 3 ~ down ineo 
two main categories known 85 dinId and iridilllCl costs. 

The main or dinId costs .. thole 01 raw maIa!Iall and 1IIbor. wtIietI ..... 
.. 101OWl1 as the prime cost. aIIhouItI tII'lfaxpenM wtIietI can be IIa:led dit_ 
to tII'lf c.nt of proclIc:Iion is also a dinId COIl The indItllCl costs .. thole associ.'. d wiIh proclIc:Iion but caI.1Ot be IIIICId dilCIIy to • pedIcdIr 
procIIlCIion I.W1it. These costs will indude .. general factoI) oved1l. lit ~ 85 
light, heat and power. n!InI, rates. inIUWa, depllCilli\llll 01 procIIlCIion 
machill8IY. file. Certain labour costs. audt as lUp8f\IiIioo by 101 ..... or fac:toI, 
III81IIg8rS, will also be illdlIect costs becallse .., .. not dltecIIJ bee ,,.. to. 
procIIlCIion c.nt but .. absoItIed 85. g ....... oved1 •• d 

b) The eIrect 01 sIIiMlkl 

One complication In construding .. manufacIurIng IICCOI.Int is to __ .lberlllll 
..... may be or:Mri'ID and doling IIIIr.Idrs 01 .... ml' 1 " and apelliIlg and 
c:IosiIlg values to atIach to partly c:ornpteI8d Ilems (work In pRIgIl 'I). 

~-----------------------------~ 
lb 
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Figure 2.1 Pro lonna manufacturing account 

YEAR ENDED 2001 
Opening stock of raw materials 

Purehases 

Less dosing stock of raw materials 
Cost of raw materials consumed 
Oirect manufacturing wages 
Prime cost 
Factory overheads: 
Rent and rates, 
light, heal and ~ 
Indirect wages 
Deprectatlon of 
PlOd. machinery 

Opening work in ~ 

Less closing work in progress 

Now attempt exercise 2.1 and 2.2. 

x 
x 
x 

x 

;PRKluction cost· 0 
completed goods carrie< 
down to trading account 

)C 

x 

III 
lC 

xx: 

xx: 

xx: 

These adjustments can be _ in !he pro fomIa manufacturing account. which follows. 
(See figure 2.1.) . 

Exercise 2.1 A simple manufacturing account 

The following are detaRs of production costs of Aroma Pvt Ltd for the year ended 31 
December 2001. 

1 January 2001, stock of raw materials 1,301 
31 December 19X5. stock of raw materials 1,801 
Purehase of raw materials 10,001 
ManufactUllng (direct) wages 11,001 
Royatties 601 
Indirect wages 9,001 
Rent of factory (excluding adminlsbation and selling and distribution departments) 2.081 
Factory rates 641 
General indirect upenses 681 
Depreciation of work machinery 1,051 

Prepare a manufacturing account for the year ended 31 December 19X5. 



For ........ 
ExercIse 2.2 A manufllcturfng .ccountwlb an ............. t1I~ 

January 2001 SIlICt of ftIIW materiIIs 
31 Decenlbel 2001 SIlICt of ftIIW m II 11111 
1 January 2002 wort In PfOIII eSI 
31 December 2002 wort In PRlQI" 
For the ,... ended 31 December 19X4 
wages: dIred 

indIAIct 
Raw mIla ills pure! au II 
Power fuel 
Direc:t uperI! II 
C8rdage In •• ds an ftIIW n 11.n. 
DepI"""" of 1ICIor, madill .. , 
Insuranc:iII of facIoIy buIcIngs 
General facIoIy uperllll 

Trading account 

• • 

e.G 
4 •• 

15.701 
1.021 .. 
1.051 

721 
341 
701 

The pwpose of the trading ac:cc:u1t is to shaw the gross prafit an .. sale of goads 
GlOss profit is the dilfelltrlC8 between .. sale proceeds of goads and wtIaI !hose 
goods cost the ..... to buy. or cost of sales. The cost of ..... farthll puIpOIII incIIldeI 
the 8I'RCU1t which has been debIlecI far them to the IUd I. B I ..,.......... ... the cost of 
gatllng them to the place of sale, which is usualythe ...... ,..,· ai, i.e. theca". 
inwan:Is of !hose goods. 

PnIpIIr' .. -", ..... 41110 account 

The trading account is calallallld byUling a sequenced ...... iI .... ,. p ....... 

steps .. callied out in the order ildk III d. 

a) The first slap iI to "811Sfer the b alanc:e an the ..... accounI to the Iradillg m::DInt 

Dr: Sales Ale Cr:T .... AIe. 

b) Next, debit the 1racIi III account with the cost of goads sold, _1iI1II will .. op811ino 
stock: 

The opellilg stock is obvic:IusIJ the same as the doling stock of the pnMous I*iod; in 
the tinIt,... of trading. of COUII8. Ihent wiI be no opeIlilg IIIOCk. 

c) The b I' ICe an !he IUd II II accounI.than ........ , .. to the .. dig accounI and 
acIcIed to the opeIliIIJ stock fIgIn: 

Dr:T .... AIe Cr: PUle! 1111 Ale. 

d) Transfer any balance an the carriage inwards account to the InIding 8CICOI.I'It 

18 
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Add the carriage to the total arrived at in c) above. This gives the total cost of goods 
avaBable for sale. 

e) Deduct the value of closing stock from the cost of goods available for sale. Any item 
deducted from the debit side of an account is, in effect. credited to the account. 
Deducting closing stock from the debit side of the trading account is therefore 
crediting it to that account. The corresponding double entry will therefore be to the 
debit of stock account: 

Dr: Stock AlQ Cr: Trading Ale 

(by deduction from the debit side). 

We have now arrived at the cost of sales. 

f) The balance on the trading account will be the difference betrl8en sales and cost of 
sales, i.e. gross profit, which is carried down to the profit and loss account 

Point to Note: 

The debit to stock account for clOsing stock is the value of the current asset of closing 
stock which wiD be included in the balance sheet, as we shaH see later. When the 
opening stock is credited to the stock account in the next period, it will balance off the 
stock account 

Net .. 1M (turnover) and net purchases: Goods which have been returned by 
customers ere represented by a debit balance on the sales retum account This must 
be transferred to the trading account. otherwise the sales and gross profit in that 
account will both be overstated. 

Following the same reasoning that allows us to deduct closing stock on tha debit side of 
the trading account, we may deduct the debit balance on the sales returns account from 
tha sales credited in the trading account. In this way. we show the net sales for the 
year. Net salas are known as tumover. Simllarty, we show the credit balance on the 
purchases returns account as a deduction from purchases in the trading account to 
show the net cost of purchases. Goods which have been returned to suppliers must not 
be included in the cost of sales. 

Point to Note: 

The order of items is most impor1ant. Sales returns must be deducted from sales; 
purchases retums must be deducted from purchases; carriage ir'NBds, II any, must be 
debited In the account before closing stock is deducted. FIgure 2.2 shows a pro forma 
trading account 
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OPll1lt1l1l stodt of finished goods :SIlls 
Produc.tion cost of completed goods b'd (fnIm ~.ccounI) 
Closing stodt of finished goods lC 

COSt of sales lC 

GlOSS proIII c:Id lC 

lC XIC 

GlaD pnIIIlW XIC 

N.B. A Ifading 8CICCIIri is PlapInd YIIIy much Ike II ......racuing IICCOIII'1it but 
substituting the production cost of compIaled goods for the UUII puld If ag 
figure (see exercise 2.3: PIepa'ation of trading account) 

Appelldix I sho'JS a sample tradillg IICCCII.ft forlhe NIle ....... ag ao.ct. liI,.OIIbwa. 
Now alllliiil!pl exercise 2.3. 

Exeicile 2.3 PNpandton oftracli'llllCCCUlt 

Prepare II trading account from the following bala nces incIIlCIed In the trial blllailCe of K. 
SniIh at 31 December 2001. 

Sales 
PurcIIISIB 
Sales ftIlIIImI 
Puld ISIS ftIlIIImI 
SIock.1.1.11X1 
CanIIgI irIIAds 
SIock.31112111X1 

1be profit and loss account 

III Cr 
: 

25.0lIl 
1l,OIII 
3,0lIl 

2.ID 
3,0lIl 
1,0lIl 
5,0lIl 

It .. wIIlCtion: The nNrIIIi*ag nominal IICCOIIII1II In the /edgII reps III It ............... 
income, gains and profiIs of the buIIrl ". In .. c:aI8 of CAICIt t I -. e.g. .... 
disccuJt and ill8nlst S'8CIivabIe. DebIt balrnces ,,11.1Il ap8Ill.1 and 11111.1 of .. 
buslnUI and .. known as ovedIlllis, e.g ....... and "'IIQIII, IWIl and .... 
payable, lighliag. heating. de_wig and SU'1dry ornce .... , ... TheBe must now be 
trasllfesled to the profit and loss account so that we can CIlIa '11 ... net profit of the 
buailall from aI its activities. 

The profit and loss fn:ome} staaam.llt prll a Ills II a:mn., of ........ and COlIs 
for an 01 11&1 iI aIIGIl over a spaciIIc period Clf tima. Such II I' , ___ It is IJIIIIIIIIJ 
devaloped on II I1'lOIlIhty, quII18rty and ,..ry basis, The PIuII and loss .' , .. _ 
enables a madIeIef to .... 1 •• 0WInIII and spaciIIc ..... and COlIs over lies 7 

time periods and analysIS the arganisaIIon's PI~. MOEl'''' and quMII1y 
stalemetds anabI8 .. tim to I1'lOIIiIDr PlDgI .... Dri.'ds gOIItS and nMae perronn.lCe 
standanfl if necessaIY, 
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When examining a profit and loss statement, it is important to recognise one difference 
between manufacturers and retailers. For manufacturers the cost of goods sold involves 
the cost of manufacturing products (raw matarials, labour and overheads). For retailers, 
the cost of goods sold involves the cost of merchandise purchased for resale (purchase 
price plus freight charges). 

The balance sheet shows that the profit for an accounting period increases proprietor's 
funds. The trading and profit and loss account shows, in detail, how that profit or loss 
has arisen. The profit and loss statement consists of these major componenis:-

• Gross sates • the total resources generated by the firm's products and 
services 

• Net ...... the revenues feceived by the firm attar subtracting retums and 
discounts (such as trade, quantity, cash) 

• Cost of goods sold - the cost of merchandise sold by the manufacturer or 
retailer. 

• Gross margin (profit) - the difference between sales and the cost of goods 
sold: consists of operating expenses plus net profits 

• OperatIng expense •• the costs of running a business, including marketing 

• Net profit before taxes • the profit eamed after all costs have been deducted. 
FtgUre 2.3 shows a pro forma treding and profit and loss account. 



$ $ $ ..... • 
Less: OOSI of goods sold stock, .e OOSI on 1 January ('afalillllIOcIl') • Add: pun:tIases of goods I 
l85s: stock, at 8 OOSI on 31 Dec ('~ IIOcIl') QO 

11 
a..... .... XX 
sundry income: 
Discounts I8C8MId • 
Comm·sll iIIl8C8MId X 

Rent.-Md I 
I 
XX 

Leu: ......... IiIhHI .... 1111 

Rent X 

RaIes X 

l..ighIing ... 111 11111 X 

TallpDxlB X 

PoIIage X 

Insurance X 

SIaIIoI .. y X 

0IIce II ts X 

DIIIpIeciIIIon x 
Aocomting and ... fees X 
Bank ChaIgaS and inltnSl X 
DouIIlfuI debIs 11 
DIsIrIbuIIon costs: X 

I)aIiv.y COlIs X 
YIn runnkIg 1IIIIpeJI111 X 

Ad_llsiLlO X 
DiP'Dn ale JIll X 

It is essential that the cllre'8nC8 balween a tradillg and prall and lou acxxuIl. dillt/ 
uncIeistood. The foIlMiIlg Plovicles en .,.llIcon. 

• The lradilg accaunI: IhGws the fJOU prall geneI 1 II..,'" buill III ThiI. 
done .., COIl ...... sales to the costa whIc:h geI_ J I. It ........ A i.' 7 • 
for ex8I11*t. wiI pwdae various itamtI fnIm various •• ,_I'S, and add a 
profit n_glll. ThIs wiI give hin the II-Ill price of ... goods and .... minus 
the cost of goods said, wiI be the fJOU proIit. 

Cost of goods sold Is c:aIai Istl II by: 

Opening Stock + Opening Pun:haes (for ,... or period) - CIoIiIIII l Stock (cost of goods unsold at the end 01 the same period). 

,---------------------------~ 
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This gives the cost of goods which were sold. Sales and cost of goods sold 
should relate to the same number of units . 

• The profit and loss account shows items 01 income or expenditure which 
although earned or expended by the business are incidental to it and not part 
01 the actual manufacturing, buying or seUing 01 goods . 

• In a complicatad manufacturing industry and in service industries, different 
definitions of "goods", "net profit" and "cost of sales" may exist 

Capital and revenue expenditure 

Only revenue expenditure (e.g. heating bins) is charged to the profit and loss account; 
capital expenditure (e.g. the purchase of a new plant) is not 

a) Revenue expenditure is expended on: 

• ac:quiring assets for conversion into cash (resale goods) 
• manufacturing, selling and distribution of goods and day..to-day 

administration of the business 
• maintenance of fixed assets (e.g. repairs); 

It is well to nota that "cash" need not be paid or received to be accountad for. 
The amount of revenue expenditure charged against the profits for the year or 
period is the amount incurred whether cash has or has not been paid. This 
applies with sales as well. Even if cash for sales has not been received in the 
year or period under review, sales will be included in the trading account. This is 
the "accruals" concept. 

b) Capital expenditure is expended on: 

• start up 01 the business 
• acquisition 01 fixed assets (not for resale) 
• alterations or improvements of assets to improve their revenue earning 
capacity. 

Capital expenditure is not charged to the profit and loss account .. the benefits are 
spread over a considerable period of time. 

Now attempt exercise 2.4. 

Exercise 2.4 Trading and profit and loss account 

Nigel Munysli and his friends opened a smaU scale horticultural "co-operative" in 
Concession, growing and retaDing. The business started on 1 August 19X6. 

The following is a summary of the transactions for the first year: 
• 
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capbllnIroduced on 1 AlIQUSl1tx8 
-cash 
-5toI:ks 

Cash paid to .-".!fIars 

& 

AmounIs c-' to SI ..... al3 July 1tx7 
ReoeIved from cusI.oInIFS In nIIPIICl of .... 
AmounIs 0IIIIId by cusI.oInIFS 11131 July 1tx7 
Stock of goods III the end of the ,... 
Rent 
RIles 
water and light 
SlIasllllll's salrrfes 
Salesmen'S CGlIWI! 5101" not JIll paid 
Bank chalges 
OIftcewages 
Talepholl8 and poItII c:IIaIges 
AdvallsfliU 
Drawings cMtnp the ,... 

20.001 
12.001 
21.001 
14,001 
!iO,OOI 
10.001 
11.001 

2.501 .. 
501 

4,001 .. 
121 
40J 
151 

1,001 
4.001 

You are required to prepare 8 trading a'Id profit a'Id'" 8CCXII.I1t for ... ,...1dIId 31 
July 2001. 

The balance sheet 

.IbCJduc:tion: The balance sheet Is a "l8ment 01118 financial pc 1.'IlI. 01. buill I .. 
81 a given daIa. h Is, thelafore. only 8 -snapettor In time. When c::ampailQ bo.iIiJ ... 
perfcwrnance. thelafOie. a runber 01 years a'Id time periods may be men·' ... The 
balance sheet Is the 8CCIIM.IIIing equation but let out in a WI1icII fonn in c:wdar to be 
more readIy. WIdeIstood I.e. the 8CCIIM.IIIing equation. 

expressed in 118 fonn 018 II .'ance sheet Is _ folD ,us:-

AIIIIiI 
Less: ........ 
NllIII8Is 
Rep II !ling: 
CapIaI 
PRIll fllrtlle,... 

Less: cta.iI..,. 
PI ...... funds 

• x 
X 
I 

I 
X 
X 
X 
I 

This Is 8 simplified fOrm; In AIIaIity" 81_ and lat ... ,. be further ...... :_11 
a'Id anaJyzed to give more delalall infomlation. FIgure 2."0'" • pro ram.1l . ... 
sheet 
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Figure 2.4 Pro fonna balance sheet 

Balance sheet at 31 December 19XO 

A) 

B) 

C) 

D) 
E) 

F) 

G) 

Fixed assets 
Freehold faclol'y 
Machinery 
Motor vehicles 

Currant assets 
Stocks and WO!k in progress 
DeblOIS and prepayments 
Cash etbank 
Cash in hand 

Currant IIabIIitias 
Trade credllOlS 
Accrued charges 

Net CUlT8nt assets 
15% loan 

Repress ding. 
C8pi1a1 at 1 JanuaIy 
ProfIt for tile yaar 

Less: drawings 
PI oprietoI's fund 

c 0 Net value 
Cost Depreciation (c-D) 

$ $ $ 

x x x 
x x x 
l£ IS l£ 
x x x 

x 
x 
x 
l£ 
x 

(x) 

CO 

II 
xx 
CO 

lQlX 

x 
l£ 
x 

(x) 
xxx 

Explanations 

As with tnIding and profit and loss accounts, the balance sheet has Its own 
nomenclature. These are fixed accounts, current accounts, current liabilities and funds: 

A) FboId ...... : assets acquired for use within the business with a view to 
eaming profits, but not for resale. They are normally valued at cost less 
accumulated depreciation. 

B) Current u .. a.: assets acquired for convensIon into cash in the ordinary 
course of business; they should not be valued at a figure greater than their 
net realisable value. 

C) Currem IIabillies: amounts owed by the business, payable within one year. 

D) Net cumtnt assel$: funds of the business available for day-to-day 
transactions. This can also be called WOI1dng capital. 

E) loans: funds provided for the business on a medtum to long term besis by 
an indMdual or organisation other than the Ploprietor. 
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F) This COIaI is the total of the businass's nat assets. 

G) This total is the total of p!oprieto(s funds, La. the exlllllt of tD Invl ball in 
the busill8SS. WiIhin IheIe main helltlings the '*tMng .... should be 
noted . 

Nola: 

• fixed III. btl 

Deptec;iaIIoII is ., amount charged in the IIClCOUnIa to lIIII'iIe off the COlI of 
an asset over its usefullI'e . 

• CmNnt a"ltl 

Pl8pa)i11Mis 818 iiams paid before the III I I leuhe. dale but I ' r Ii to 
a subsequent period • 

• CmNnt ....... 

TRidt aeditor's are those II.."IIIIS to whom the buill ••• _IDOl.,. 

AcctUfId chaIJIea are 8I'I1OI.I1ts owed by the buIin a II. but not Jet paid. 
for ott&" expenS8I at the datie of the balllnce sheet. 

WOItiJlO cspIIII Thill is a""" given to net Ct.IIt8M I' r .. ortobll C'&INfIt IIII II 
less total CUlJfHlllabiillN, •• g. 

CUmInl UIIIIS 7,_ 
lIIIs cumIIII........ 1.800 
Wo!!c!ng C!If!III 5,800 

WeIIldliO « ...... is illPCWlalit becII_ it is the ft.nf of NIIdy .................. III 
has in excess of the amount nIqUinJd to pay its cumII1l ...... _ they .... due. 
'MIIlcillO capital is illporlalt; lack of it IaadI to busine II ... . 

AppendiK i 1Ila_ a sample I) .Ir ICe .... and aU ... of acccM..nts for 1lIct Nile 
MaIk8Iing Board of Ziubal) JIll. 

Now allalllpi _cisa 2.5. 

ExIIIcl.1 2.5 EIaIance .... 

Prepar8 a baIanc:e sheet for ,.., ended 31 ....., 19X7 for N/fIfII....,.,. hadicIAnI 
c:o-operatIve. 
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..,-..,.....,..,...,.......,.---:---:-:---:-:-:0::'-.------
Capital introduced on 1 August 19X6 

-cash 
- stocks 

Cash paid to supplier 
Amounts owed to suppliers Il 31 July 19)(7 
Received from customers In respect of sales 
Amounts ~ by customers Il 31 July 19X7 
StOCk of goods Il the end of the year 
Rent 
RIles 
Wiler end IighIs 
Salesmen's salaries 
Salesmen's commissions, not yat paid 
Bank chruges 
Office wages 
TeIepIIone and postal ct\aqIeS 
AdvertisIng 
Drawings during the year 

stocks and work-in-progress 

20,001 
12,001 
28,001 
14,001 
50,001 
10,001 
11,001 
2,501 

801 
501 

4,001 
601 
121 
401 
151 

1,001 
4,001 

Accounting for stocks: Almost 8VeIy company carries stocks of some sort. In an 
agricultural business, these may be fertilisers, chemicals, produce, etc. Accounting for 
stocks presents a problem, because stocks in hand at the end of the financial year are 
regarded as cummt assats, whereas stocks used during the year form part of the 
company's costs. Hence, stocks (assets) appear In the balance sheet, and stocks 
(used) must be accounted for in the trading and profit end loss account. 

Valuation of stocks: Valuing c:IosIng stocks has always been a problem and a source 
of disagreement. T'tlere are many methods of establishing the value of stocks. Three 
common alternatives are average cost, first in first out (Fifo) and last in first out (Lifo). 

i) Average coat 

Cost is caIQ dated by taking the averaae price cemputed by dividing the total 
costs of production by the total number of uniIs produCed. This average price 
may be derived by means of a continuous update, a periodic calculation, or a 
moving period calculation. This method is often used to calculate the cost of low 
value items, e.g. in the manufacture of nails. 

Ii) First in first out (Fifo) 

The calculation of the cost of stocks and work-in-progress is on the basis that 
the stocks in hand at the year end represent the latast purchasas or production, 
as the items going into stock at the eartiest date are assumed to leave first, e.g. 
a greengrocer will obviously wish to sell the oldest stocks first. 

iii) Last in first out (Lifo) 



& 

The calculation of the cost of stDcks and work-in-pRIgI •• is on the .. lilt 
the stDcks in hand represent the ..... !Md.11I or production .... is 
assumed that the latest stDcks into sIDAt _!he finIit to be ....." out, e.g. 8 'lin' 
system, where p!.I'Chases _ added to !he top and sales wiI be AIII'DOII'8d fnIm 
!he top. 

Consider !he following example c:omparing !he effect of 'laking IIDc:k of 2<40 Ids: 

FFO InidiIIQ account 

Sales (MIn:h) 
PUlTtas .. 

(01 FebnIary) 
(10 FebnIary) 
(15 FebruIry) 
Closing IlOck 
S2OO012.00 
140012.25 

(01 FebnIary) 
(10 FebnIary) 
(15 FebnIary) 
Closing IlOck 
S2OO012.00 
$40012.25 

$3800$1.00 
S2OO0$2·00 
S2OO012.25 
S2OO0$2.50 

(boughI15 Feb) 
(boughI10 Feb) 

$3800$1.00 
S2OO012.00 
S2OO012.25 
S2OO0$2.50 

(boughI15 Feb) 
(boughI10 Feb) 

$ 

1,350 

5tIO 

$ 

1,350 

410 

$ 
1.010 

710 -
, 

1 •• 

-220 

NoIe: In both ca.a •• thent _ 2<40 items In IlOdc. Vaking IIIICb OIling the ..... 
prices, !he grou profit is $320. when.1 UIIng the .. lilt .... the __ is 
S22O. 

The IowIIr of CGIIt and net ... .,..... value: The most fundIi....... 8CCOU'IIInO 
concept will replds to the·. loti of IItIICb and ~ is 1IIt..,'-' 
to be stated at cold, or if lower. at net ,ull Ilia ..... NIt fa I allle value is the 
&mCUIt at whIdIlls exped8d that items of IIIiOc:k and WCJrk-irI.progr could be sold 
altar allowing for !he costs at compIeIIon and cl8pQ'.' If net fa r lillie value is higher 
then cost. then cost is taken, .. 'laking stoc!!. at 8 tighlr value would nat be prudent, 
i.e. profit would have been taka1 into IICCOtI'It befont. is actna.y • _ned. It is inpolgnt 
to c:hack against !he net re r sable value to &nan lilt !he curent ..... IIIiOc:k, is nat 
staIIId at a figunt aboIIe that forwhldll could be fa III. Ii at the 1:1 • ICe ... Ii*. 

SIock .. ",'iii",,: If I is decided to reduce the value 01 CIIt8In ilIImI at IIIiOc:k fnIm COlt 
to net 11.1 .... value, e.g. obsoIaIa. slow moving orUl'llIl ...... ~ til is done by 
maInS 018 provision. 

SIock is reduced In value, and II charge is made against profits. The U &mCUIt is 
dad! IcIed fnIm stock In the balance sheet. but only !he cIeatIll a betu "en the bagiI_1ing 
and end of II period is shown in that period's trading and profit and rosa acc:otn. 
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Now attempt exen:ise 2.6. 

Exercise 2.6 Valuation of stocks 

Kubi DwOI began business as a small scale peanut importer in July 19X6. Purchases of 
peanuts were made as follows: 

PI1ce per ton 
$ $ 

19)(6 Tons 
01 July 60 20.00 1,200 
15 August 40 24.00 960 
30 September 45 26.00 1,170 
12 October 30 35.00 1,050 
29 November 25 38.00 950 
11 December ~ 50.00 UQq 

~ !WQ 

On 10 October, 100 tons of peanuts were sold and on 31 December 70 tons were sold. 
The total proceeds of the sale were $8,500. 

You are required to calculate the value of dosing stock and to prep8ie the trading 
account on the following bases: 

a) first in first out 
b) last in first out 
c) average cost 

The interpretation of company accounts-ratlo analysis 

Why ratios: Ratios are the means of presenting information, in the form of a ratio or 
percentage, which enables a comparison to be made batl.wen one significant figure 
and another. Often the seme ratios of like firms are used to compare the performance 
of one firm with another. A "one off" ratio is often useless - trends need to be 
established by company ratios over a number of years. 

• The great volume of statistics made available in the annual accounts of companies 
must be simplified in some way. Present and potential Investors can therefore 
quickly assess whether the company is a good investment or not. 

• Fmancial ratio analysis is helpful in assesslng an organisation's intemal strengths 
and weaknesses. Potential suppliers will, for example, want to judge credit 
worthiness. 

• Ratios by themsetves provide no information; they simply indicate by exceptions 
where further study may improve company performallce. Management can 
compare current performance with previous periods and competing companies. 

Which areas are used for analysis? 

Four key areas are generaUy used for analysis: 



........ 
eprofitability 
eliquiclty 
e Iewerage (c:apiIaIl'IrucII.n) 
• ac;:tivily or management elreclMillneSa (eIIidency). 

a) Ptoflablltt 

In most organisa6ons profits 818 lilnilied by the COlI: 01 ptadueIon and by lie 
markeIabIIity ollie product. Th8Iefont, "prvfit maximisation" .,1 I lie most IIIidenI: 
allocation of I'8SOUR:8S by management. and "pIofitabBy I ..... when comparad to 
oIhera in lie industry willndlca .. howwal managemenl has perfonned Ittis tasIt 

• Does the c:ornpany make a prui1t? 
- Is lie profit ntaSOIl8bIe in I1IIaIiorIID lie C III ..... npa,. in llelluiR I •• 1 
- Are lie profits adequaIIe ID meet the AllUms raquired by lie prUVldals 01 

c:apiIaI, for lie mainI8nanCa ollie busill8IS and to provide for glCMIh? 

- How 818·sa/es and IradiIIg profit split .'1OI1g lie major activiIies? 
• To what extent 818 dIaIiQ8S due ID price dIaIlQ8? 
- To what extent does w/Lme ct.1ge? 
- Does inIer-c:ompany ... 1Ifer pridllg polICy diItort lie • ..,..., 
• Has lie appropriate pn:IpOI1ion 01 profit been ..... in tax dlalged? 
• What deferred taxation policy is being folia Jlad? 
• Has lie sf1are of profit (or loss) atIrIbutabIe 10 mi10lly It,........ in ttaIdIaries 
dalged? If so, is it claar why? 
-Are profiIaand 1os181 on salesolftxed 8 .. all: 

-tntaIed as actust".tIS of depnMliIfllon dial ... ? 
-disdosed S8p81aIeIy "above lie line"' in the profit and loss .:lCOIiIIl? 
-tntaIed as "below lie line- iiams in lie profit and loss account? 
-"'Is'elled diracIIy ID rBlarves? 

- What has been inc:Iuded in ExInIordinaty ItImI? 
• Should ." 0I1hes8 IIems be l8g8lded as part ollie ooClt..y busi III ollie 

company? 
- Do ." IIems tend ID ..,... year efIIIr.,.." 
-Is it dear which iiams have been ... 1Sferred Cltedlt to 'ilanes ...... OC*V 

through lie prall and loss account? 
-Is such 1ntoaIJ,.tt appfCpI'ipl. in 88C:h caae? 

"!..iquidiI.y meaII.I8S" 818 based on lie noIion that a IluiRI8III caltot ...... 11 i it is 
unable 10 pay its bill. A sufIicIeIll amcuIl of cash and oIIa'shoot term assets ..... be 
8IJaI ... when nUlled. On !he oIIa' hand, because most shoot term 8Ssatl do not 
produca any retum. a strong liquidity position will be damaging ID profits. Th8IlIfoIa. 
ltIInIQ8IMI1I ..... try ID keep lie firm'sliqukity as low as po.sible whist 8I'III.Iing that 
short term obligations wit be met This m.... that induIIriIts ... sIIIbIe and 
predidabIe c:onditiooll wit genenJIy raquir8 smal.r cwrent 1lIIIIos ... wit mont voI8tiIe 
induIIriIts. 

Key questions to be IdentiIied In fiquic6ty ~ include: 
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• Has the business sufficient liquid resources to meet immediate demands from 
creditors? 

• Has the business sufficient resources to meet the requirements Of creditors 
due for payment in the next 12 months i.e. crealtors payable within one year? 

• Has the business sufficient resources to meet the demands of its fixed asset 
replacement programme and its commitments to providers of long-tenn capital 
falling due for repayment in say, the next five years? 

c) Leverage 

"Leverage ratios· show how a company's operations are financed. Too much equity in a 
finn often means the management is not taking advantage of the leverage evailable 
with long-term debt. On the other hand, outside financing wiD become more expansive 
as the debt-to-equity ratio increases. Thus, the leverage of an organisation has to be 
considered with respect both to its profitability and the volatility of the industry. 

Key questions to be identified in leverage analysis include: 

• What sort of capital has the company issued? 
• Who owns the capital? 
• What is the cost of capital in terms of interest or dividend? 
• What proportions of the capital have a financed retum (gearing or leverage)? 
• Is the mix of capital optimum for the company? 
• Is further capital available if required? 
• Is total capital employed analysed among different classes of business? 
• If so, can retum on capital be calculated for each class? 
• Has issued Ordinary share capital increased during the period? 
.If so, why? e.g. Rights issue? Bonus (scrip) issue? Acquisition? 
• Are "per share" figures calculated using appropriately weighted number of 
shares? 
• Are prior years' figures comparable? 
• What individual items have caused significant movements on Reserves? 
• Do any of them really belong in the profit and loss account? 
• Is any long tenn debt convertible into ordinary shares? 
• On what terms? 
• Calculate appropriate measures on "fully diluted 
-basis 
• Is any long term debt repayable within a short period? 
• If so, should It be tntated as a current liability? 
• Are there Significant borrowings in foreign currencies? 
- Are they matched by foreign assets? 
• How are exchange losses and gains thereon treated? 
• Is there any preference capital? 
• Is short term borrowing Included in capital emptoyed? Should It be? 
• Is the treatment of pensions appropriate? Is information revealed? 
• Would capitalising leases signlflcantly affect long term debt and gearing 
ratios? 

d) ActivIty 

"Activity ratios" are used to measure the productivity and efficiency of a finn. When 
compared to the industry average, the flXed-asset turnover ratio, for example, will show 
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how we111he company is using lis producIiYe .81I11City. Sinlilally. 1he ma .. , uno_ 
raIio wiI indica .. whether 1he company used too muct1 iMInIoIy in gaI.elillO .... 
and whethel1he company may be callying obIIole&a manDy. 

Key questions to be IdentiIIed in actMIy anaIy;tis ""': 

• Does management COl diol1he CXIItlI d the business wei? 
• Whic:h CXIItlI. If any, have changed signIficanIIy. his reducing or in!plO¥ing 
appanJnt pofltabilily? 
• Does management COIdiollhe me II ....... in a.s ... wei? 
• Ant fixed assets sufficient for 1he cumII'It level d activity? /W they ...,.. ... on 
a I1IgUIar basis and adeqll8leIy maNdai led? 
• Ant 1he slOdt levels adequate for Ihe level d acIMty. or 8IGC lilt.? 
• Are debts cuIIeded promptly? 
• Are creditors paid within a reasonable period of time? 
• Ant surplus cash resoun:es irMtsIed 110 ina'ea •• 0V8I1II1't1tL1n11? 
• How variable are 1he p!ofiIs before IIiI8l'elt and tax? 
• How many times can 1he illIerest be paid from the .. lillie peAl? 
• How many times can the eJCisIiIlg cIvIdend be paid from Ihe .. alable profit? 

e)OIhar 

0Ita' '11.188110111 can be asked in ilileipelillO final acoounIs. lheIe may ..... 110 long­
term lIalds in the busil8SS or 110 fixed assets, e.g. 

I) l.on(J-Ietm _Ids in the buIritIfJu 
• Ant profits incHaIing or deer •• 'ing? 
• .. the size d the business glowing faller or IIoIJi1W than i ... an? 
• How has past gIQWIh bean I'iil8ncId? 
• Ant 1he IeveII of slOdtI. debIiDIs and cnIdIiDIs CICII • II It 1IIIIII1he long­

term 91DW1h d Ihe busil8lS? 
./W cIvIdends incr8aIing? 
• Have any radical changes occurred in Ihe past, aMna ... 10 IIIIjor 

changes in Ihe business? 
iI) Fixed ussta 

• \'Vhere fixed assets .. shawn "at tiatDrlCilll cmI": 
-How old .. Ihey? What is their esIin..a.t c:urwIt VIII1u8? 
-How would revalulllion aIrec:t Ihe dapAK"'" ct..ve? 

• \'Vhere fixed 88H1s .. shown -at ""'lIItllr. 
-When was 1he valuation made. and on whIIl bail? 
-How have vak.Ies changed si'Ica 1hat dIIIiII? 
-Might Ihe 88se1s be more ".. ....... UI8d for.,... pulPD III? 

• What method d deplecialion is UI8d for _Ialm? 
• What asset IWIS .. used? Are diIJweIlt IWIS UI8d for CwNnl Colt 
Aa:ot.ntIng? 
• Hea adeqlrlll provision bean macIe for llK:tliOIogiclll absolllCIIIC8'? 
• Are any 88H1s 1 •• I.d? What is their VIII1u8? 
• How muct1 .. 1he ........ Ali Ills? How lonG is Ihe COII ..... 1It? 
• .. goodwiI: 

-shown as ., asset? 
-Writla1 off against res8IY8S? 
-Being 8II'IOI'Iized by dl8IlJ8$ against peAl? 
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• How does the book value of goodwill compare with the estimated 
surplus of the current value of fixed assets over their net book value? 

• Has the status of any investments changed during the period? 
Subsidiaries? Associated companies? Trade investments? Non­
consolidated subsidiaries? 

• Are investments in associated companies shown by the ·cost" method 
or by the "equity" method? 

• What is the difference between cost and marUt vatue of quoted 
investments? Is market value used if it is lower than cost? 

• Are there any long-tenn debtors? How have they been treated in the 
balance sheet? 

Methods used to evaluate organizational performance 

To evaluate the performance of a company with respect to these 1'IltiOs, three methods 
are used, namely industry comparisons, time series analysis and absolute standards. 

a) Industry comparisons 

Data are used, such as that provided by commen::ial firms like Dun and 
Bradstreet and Profit Impact of Marketing Strategies (PIMS), are used for 
comparing the company with others of about the seme size, that serve the same 
market and have similar products. The danger is that when Industry averages 
include companies with different products or markets, averages can be 
misleading. 

b) Time series analysis 

Ratios for several periods are used to detl!lnnine whether significant changes 
have occurred. These time series can also be used to project the future financial 
performance of the company. 

c) Absolute standards 

Most organizations have some minimum I'8quiraments for corporate 
performance regulations of the particular Industry, e.g. the long-term debt-to­
equity ratio should not exceed one. A thorough financial analysis usually is a 
condition of these three approaches. 

Figure 2.5 shows an example of how a time series analysis can be used to back 
financial and business objectives. 

l ___________ ~j 
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........ 

PftIII ..... , 
\.. 

The main types of ratio 

1tPaoftl ..... 

a) Grass profit malgllI or profit n_glll 01'1 sales: 

b) Net profit Illllgi1; 

I~=-
c) ReIt.m on ,·,ats: 
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d) Return on equity 

Note that: 

I SALJfS x!../IQ'lI.' + Nl'ZRIIEl' _ PPQ11' + Nl'ZRIIEl' 
~r SALJfS ~r 

NAV = Net asset value i.e. Nat asset turnover X profit margin = return on assets 

2) Uquidlty 

a) Current ratio 

I==. 
b) Quick (liquidity or acid test ratio): 

I a.rwatasMf-~ 0n1IIIt fi.:rbiIj/llls 

c) Defensive interval ratio: 

d) Inventory to net woOOng capital: 

I 0-. __ -::"1rMihr 
3(0 Leverage (coverage ratios or gearing) • debt cover 

a) Conventionallevarage: 

b) Murphy Prussman Gearing: 
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c) U.S. measure of leverage: 

I ~ An+=:.::-rftJI 
d) IlIIentst c::owrage: 

I NIlf/lflltbtt/JNZ---..... -
e) CooUaIive i_est CO\18111g8: 

I NIl~a:.=-" 
.of, AcIivity ,amclanc, ratios, 

b) Cndlors ll.mcYIer. 

I '1:::: Pi
x36S 

I 

I::: 
.} Nat asset tumol/llr. 

1 -=--
t) Profits per empIIlyea: 

~-------------------------) 
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~eruseful~ 

1) Stock market ratios 

a) Earnings per share: 

I ProfttaJtr .. 

b) Price earnings ratio: 

I AbtiItprWil ptr *" 
. Eanlllrflrptr'" 

c) Dividend yield (net): 

Ilh#I:IIwJ.ptr.lll&n (1tIII) 
MI1IItt P*»",. slmw 

Financial measures of business unit performance 

If an organization is made up of multiple divisions or Strategic Business Units (SBU's), 
then the following measures can be computed, provided that balance sheet and income 
statement data are available at the divisional or SBU level. These analyses enable 
corporate management to assess the perfonnance of diviSions, SBU's and/or their 
management 

a) Return on sales (ROS) 

ROS is computed by dividing net income (NI), or profit (p) before or after Interest and 
taxes, by total revenue: 

I aDS. NrlJIC,,:!:.1toJ.t)S )(10D 

Some argue that interest expenses and tax should not be considered as they are 
outside the SBU manager's control. However, interest may be added to show managers 
that invested funds are not a free resource. This, however, undelstates the true cost of 
capital employed, because the interest is a charge for only the debt portion of capital. 
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b) Rellm on imestme .. t (ROI). reII.m on net assets (RONA) and nJIum on equI.y 
(ROE) 

Note: NET ASSETS. TOTAL ASSETS- TOTAL LlABlUTlES 

Note: Owner's equity = total assets - total hi: •• 1 

In using..., 01 ..... m.B.untS to 81.11 ... SSU •• _lIIgIfs __ to ua IITIta 
elliciell.,. IICaQ1t should be taken 01 wtIaItW cash is C81 ... .., «".all~ or 
hurt,mrtars de18mlill" boll aadIt and payn .. 1l poicies. If ......... thin cash 
receivables or payables or both should be omiltad ftonI the me stuant ..... 

c) Cash flow (CF) 

Cash flow is not the same as net income (HI) or profit (p). It ciIfars in two ways: 

i) Cash flow includes dBpr8cIation. as IhIIs is II booIchl."llflllw I I 101 .. WId ... 
because tax is a cash c::ost. Thus, 

CF· NI (or P) aftertax and dapIaciaIIaIl 

i) Cash flow is aIrecfIId by bl •• IlC8 shMt chw .... e.g. iI.c ...... in eccounIII 
receivable or additions to fixed assets (FA). e.g. plant and equipmelll and 
challges in WOIkiG (aplil (We). 

CF = Net Income (or PmI'It) after tax pIua Depr.laIilIl mhua chwlg8S in 
FA and nrinua c:hWIgas in we 
Note: If no tax is paid or If tax is d8t'emMI, ua Net Income (or PmI'It) 
befoI8 tax. 

The c:hangas in (A) WIt calculated by the COI"I'lp8I'lfs b I ICe Iheet ....... for two 
conaacutive peliods. 

Working Capital = 

IJ. Cash pIua 01 minus 
IJ. Sloc:k pIua 01 nrinua 
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A Accounts receivable plus or minus 
A Accounts payable <and other short-term liabilities) 

Example: 

Balance sheet 

Profit 
Plus 
Depreciation 
C8sh flow from operations 
Less 
Increase in Working capIIaI 
Increase in Fbced Assets 
Net cash generated or (Used) 

d) Sustainable growth rate (SGR) 

2001 
$(OOO'S) 

400 

m 
S20 

(380) 
(i(!) 

50 

2002 
$(000'5) 

380 

125 
505 

(420) 
(1QID 
@) 

This Is a measunI of the ability of the business to glOW within the consbaints of its 
current financial poIicIea. What Is raqt.nd is a balance sheet for the SBU which 
indudes a justified assignment of the proportion of the total corporate short-run 
liabilities and long-run debt. 

Once accompIiIIhed, the maximum sustainable gIOWth rate (a measunI of the ability of 
the bUSiness to fund the new assets needed to support increased sales) is estimated 
by: 

I SGR. P[(h:OO+LlJ 
t - P[(HI)(l + L)] 

where: 

p = profit margin after taxes 
d = dividend payout ratio (for a business unit this Is computed from the 

corporate overheed charge plus any dividend paid to corpotate?) 
L = debt to equity ratio 
t = ratio of assets (physical plant and equipment plus wof1(jng capital) to sales. 

The growth rate is ~ in nominal terms. Real SGR is reduced by 2.2% for every 
5% of inflation for two reesons: 

i) Depreclalion charges based on historical costs OYeIstate taxable Income 
because they fail to fully recover the economic value of depreciating assets. 

Ii) Working capital Increase solely due to inflation requires financing. 

If the actual growth rate exceeds SGR, then the organisation can consider a number of 
strategic actions which affect the ·productivity" side of the quest for increased profits 
("productivity" as opposed to "volume" strategies to increase profits). These are: 



i) reduce investment intensity (cut stocks and/or AlClivables) 
iI) reduce dividends 
iii) obtain injedions of "equity" from the COipoiata body 
iY) inaease debt. 

Now allBlnpt exan:Ise 2.7. 

Exercise 2.7 RAdio....,. 
NIgel Munyath hortic:UbnI busillIItSS conIinuad to fkuIIh. SIx ,... ..... his 
condensed financial accounIs for the last Itne ,... .. SW'I'1III11 a It bekIw (N.8. he 
introduced fresh capiI8I inlo the business): 

PrufiI and Loss account for tho ,_ 2000 2001 
,... to 31 Man:h I(OIIO's) 
SIIes Cal on c:nIdI) 415 IM5 1115 
less: Cost of goods sold: 
Opelllllg stoc:k 35 40 e5 
PUlc:ltas II HI - 105 

375 105 170 
L.ess; CIoIIiIIg stoc:k ~ Hi e5 540 115 755 
Grussproll eo 105 130 
less: ElcpeI:n s 40 50 eo 
Loani ..... ~ = :ill .m 11 
NatProll 

FbcIId_ 81 101 
CUmInt_ 
Stoc:b 40 e5 115 
TI8CIe detICors 52 101 250 
C8shalBank j2 :II! 8 178 -m 272 -rllllflClld by: 
CIpItaI 100 120 ,. 
Add. Nat proII for lie ,... 40 55 eo 
less: Dud .. It l§ 3S 20 31 Zl 
(aI on 31 Man:h) 11. ,. 188 
Loan 110 
CUmInt .... 1It 
ChdllliS 77 132 178 
BankCNadiall = 11. = lIZ .m 111 

17' m • 
Compule the following ratios for 1999, 2000 and 2001. 

a) grou profit on ..... 
b) grou profit on CDSt fA goods sold 
c) sIIDc:k tumo .... 
d) I8tI.m on· '11:181 employed 
e) a.mmt ratio 
f) liquidity (or quick) ratio 
g) dabloI col. ction period 
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h) working capital 
i) ratio ofCUl'l1lnt assets to total assets 
j) ratio of cash to current liabHities 

Comment briefly on the results of the business over the last three years. 

Activity 

ratio 
Average cost 
BaIanca sheet 
Capital expenditure 
Cost of goods sold 
Credit balances 
Current liabHities 
Debit balances 
Direct and indirect costs 
Dual effect 
First-In-first-out 
Fixed and current assets 
Gross margin 
Gross sales 
Last-in-first-out 
Leverage 
liquidity ratios 
ess 

Key terms 

loll 

Loans 
Manufacturing account 
Net profit 
Net sales 
Net sales and net purchases 
Opening and closing stock 
Overheads 
Profit 
Profitability ratios 
Profit and loss account 
Retio analysis 
Revenue expenditure 
Trading account 
The accounting equation 
Working capital 
Worlt-in-progr 



CcImpuIIItzIId I) I IllS & ....... III 

Chapter 3 • Cash flow accounting 

Chapter objecU ... 
ThIs chapter is ill8ildld to provide., .... 1101'1 of: 
• The aim, use and COI"ISfruction of cash fkIw.1 1 matII 
• The meaning and cala.1Iation of the ICUC8 and ~ .. kil, of 

funds state.nent and their In!pOrtMce to buill" ... 
• A diSCIlSsion on a'1!Idit and types of leNnI tIN , '1e to 

busil8SSes 
• An expIarl8tion of the COlt of funds and ....... 
• The intpOi'lallCe and calcllIation of 0WII8I'IhIp COllI. including 

depreeiation, illI8rest, repair, taxes and irIIt.nnce. 

It can be argued that 'profit does not always give • UI8fd or ma B.IQI\.II pidLR of • 
cornpany's opeIations. Readers of • cornpany's financial sta"'118111s might even be 
mislad by. rapoIled profit figI.n. 

ShaIahotdenI might bali.,. that If a COInpanJ makas • pmIit ..... _ of SIIJ 
$100,000, then this is the amount which It could afbd to pay ... ctftrJand. lJrIIass 
the company has sufficient cash available to stay in busilLUI and also to pay • 
dividend, the ahanIhcIders' 8)CJI8CtatloilS would be wrong. &nivaI of • buA • I. 
depeildl not only on profits but peItIaps more on Its abiIly to pay Its debIs when Ihay 
tal ella. Such payments might Inc:Iude 'profit and loss' iiams sudt as m , iaI 
purchasas. 'JAIg8I. interest and taxation etc. but also ( ..... paymenIS for new fiIaad 
assets and the repayma .. t of loan capital when this faIs ella (e.g. on .. redanplioil 
of debenIlns), 

"Cash fkIw" is one of the most vIIaI alements in ........ of a busilllll I can be 
positive, or negative. which is obviously a most ulid.liable till E bL The c:t\oIi*If 
dew slaps .. ClOI'ICI8Pt of cash fkIw and then sttOlJilS how .. funds can be UMd in .. 
business. FI.I'Ids are not only genaraled internally; Ihay may be ...... 1IIIy ..... It, 
and so the chapter finishes with a discussion of exl8n1llly gee_ I tI funds.. 

Aim of a cash flow sta18ment 

The aim of a cash fkIw sl I TInt should be to astist u.s: 

• to as nss the c:ompanys ..., to gee_ ala po •• " cash IIows in the fWn 
• to ass a IS Its ability to meet Its obIigaIioIlS to senrica loans, pay dividalldllllc 
• to aSS899 the rSIIC)o" for cliff_ICeS between i'apoI1I8d and r81.1111 cash 
IIows 
• to aSSIII ... effect on Its tiIwtces of IIIIjor 1I.llactio1. in .. ,.... 

The at him.nl theiefoAt shows changes in cash and cash liqlftlll iIa ..... than 
WOIidtlg capiIaI. 

lndIIect ,.'bod cash ftow stafIIrItent 
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Figure 3.1 shoWs a pro tonna cash flow statement. 

Figure 3.1 Pro forma cash flow stammen1 

cash Flow Statement For The Year Ended 31 Decamber 2001 

Net cash Inflow from operating activItles 
Returns on investments and servicing of finance 
Interest recalved 
Interest paid 
Dividends paid 
Net cash innowl (outflow) from returns on Investments and servicing of finance 
Taxation 
Corporation tax paid 
Tax paid 
Investing activItles 
Payments to aoqUire Intangible fixed assets 
Payments to aoquire tangible fixed assets 
Recaipls from sales of tangible fixed assets 
Net cash inflow! (outflow) from Investing activities 
Net cash inflow before financing 
Financing 
Issue of ordinary capital 
Repurchase of debenture loan 
Expenses paid in connection wiIh share issues 
Net cash inflow! (outflow) from financing 
Increasel (Decrease) in cash and cash equivalents 

NOTES ON THE CASH FLOW STATEMENT 

$ $ 
X 

X 
(X) 
Q9 

(X) 
(X) 

2l; 

X 

(X) 

Xor Q9 
X 

X 
(X) 
Q9 
Xor Q9 

~ 

1. ReconcfIiation of operating profit to net cash inflow from operating activities 

OperatIng profit 
DeprecIation cIIaIJ8S 
Loss on s8Ia of tangible fixed assets 
IncreaseI(decrease) In stocks 
Increasel(decrease) In debtors 
Increasel(decrease} In creditors 
Net cash inflow from operating activItles 

(X) 
(X) 

2. Analysis of changes in cash and cash equivalents during the .... ' 

Balance at1 January 2001 
Net cash Inflow 
Balance at 31 December 2001 

$ 
X 
X 
X 

X 

3. Analysis of the balances of cash and cash equivalents as shown in the balance 
sheet 
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19)(4 19)(3 
$ $ 

C8sh at bank and in hand X X 
Short term inIIastmenlS X X 
Bank OveiCliafts IX) IX) 

X X 

4. Analysis of chal'lflN in finance eluting tile )1881" 

B I hl6 at1 ...-..ary 2001 
C8sh inIIcMt(outftow) from financing 
Profit on repun:hase of debenlunI IoIIn for less .... Its book 
value 
Balance at 31 December 2001 

$ 
X 
X 

$ 
(X) 
X 
IX) 

X 

$ 
X 

(X) 
IX) 

X 

NoIe: Any trallsadialJla which do nat .... i'I a cash flow should nat be 
reported i'I the slatamant. MoYemenIs wiINn cash or cash equiv II I nts should 
nat be reported. 

ExplanatIons 

It is oftan difficult to COI'iCIpb I81ise just what is -cash" and what ana -cash 
equiYaIants-. Cash need nat be physical /JIOI1eY: it can .... ae. farms: 

a) Cash i'I hand and dapcleits rapayabIe on demand wiI'I any ... or 1I.1C:i11 
instiIution. 

b) Cash equivaIanIs: Short tann, highly Iquid 11M li .... that ana ...., 
convertible to known amounts of cash and which ana allljed to .. 
insigriificanl risk of c:hallges i'I value. 

c) Operating ac:tivities: PrL"lCipaI revenue-pRIduc: ac:Iiv_ 01 tha ....... ., 
and other activities that are not imI a diug or lIu.w:iug ac:tiriti II The 
I8ConCiIiation batw ..... the opeIatiI", praIit AIpOited i'I tha piaII and loa 
ac:count and the net cash flow from opeIatiI", acIivIIias must show tha 
movements i'I stoc:ks, debtois and aeditors rei B II d to opeIatiI", acli.iIi II 

d) Relums on imlwb,lII'IIs and servic:ing of finance. Cash i ..... .an from ... 
soun:es inc:Iudw: 

i) i,ler8st received, also any nIIaIad IiIx AICCIv.IICI, and 
i) dividends rac:eived. 

Cash outIIows from lhasa IOURlIS inc:IIlCIes· 

i) illIiantst paid 
ii) dividends paid 

\ iii) interest alament of finance lease paymenIS. J 

~---------------------------_/ 
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e) Taxation: These cash flows will be those to and from the tax authorities in 
relation to the company's revenue and capital profits. i.e. corporation tax. 

f) Investing activities: the acquisition and disposal of long term assets and 
other investments not included in cash equivalents. 

Cash receipts include: 

i) recaipts from sales or disposals of fixed assets (or current asset 
investmentS) 

h) recaipts from sales of investments in subsidiary undertakings net of 
any cash or cash equivalents transferred as part of the sale 

iii) recaipts from sales of investments in other entities 
iv) receipts from repayment or sales of loans made to other entities. 

Cash payments include; 

i) payments to acquire fIXed assets 
Ii) payments to acquire investments in subskfl8ry net of belanees of 

cash and cash equivalents acquired 
iii) payments to acquire Investments In other entities 
Iv) loans made and payments to acquire debt of other entities. 

g) Financing: activities that result in changes in the .. and composition of 
the equity capital and borrowings of the enterprise. 

Fmancing cash inflows include: 

i) receipts from issuing shares or other equity instruments 
Ii) receipts from issuing debentures. loans. notes and bonds and so on. 

Fmancing cash outflows include: 

i) repayments of amounts botro/ .. d 
ii) the capital element of finanee lease rental payments 
iii) payments to re-acqulre or redeem the entity's shares. 

Now attempt exan:ise 3.1. 

l __________ ) 
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Exercila 3.1 Cash low statement 

Set out below 1ft the accounIs far TPK PIll Lid _ at 31 Decao .... 2000 and 2001. 

PROFIT AN) LOSS ACCOUNTS FOR nE YEARS TO 31 DEC'SIII It 
2IXIO 2U01 

ZI'OOO ZI'OOO 
OpeIaling profI ',400 20,_ 
IntenIst paid (.280) 
IntenIst receMiId lilt • ProIIl befonIlaQlion 9.500 20.400 
TIIlC1IIIon m.m (I.2IIID 
ProIIl after tal ICioo 1,300 1S,200 
DiYldlllllds 
P ..... ence {paid) (100) (100) 
Ctdllllll"t= lrHdm {paid) 1,0lI0) (2.0II0) 
final (piOpOIIIIII) CJJIIIII) ... 

Relaillad profI rorlhll year 2.2!.lI 1.BR 
BALANCE SHEETS AS AT 31 DECEMBER 
Filced Assets 
Plant, 1IIIICbIneJ, IIId equ!pi'.'. cost 17._ D.too 
Less: ICa.IYIUIaIad dep'IIII:tllion 8.500 10,750 

IJJfl !1.1B 
CumInl AsIIrIts 
SIocIc8 5,D11O 15,D11O 
TIlIIIII cIebIoIs a.eoo 28,700 
PrepaymenIs 300 400 
C8sh • bank IIId in ..... 100 

14.5OQ aUIII 
CurrenlliabIIIties 
BankCNa.an 11,200 
TIlIIIII CHdiIois I,DIIO 10,D110 
AccIuaIs .., 1,0lI0 
Tualion S.2OO 5,200 
DMdIIIIIds UIIII IJIIIII 

JJIIII ~ 
l.IIIII la-

SlllnlCIpIaI 
Ctdll.., shanIs of $1 8I11I:II 5.0lI0 5,DIIO 
1ft Plafer811C8 shanIs of $1 eadI 1,0lI0 1,0lI0 
ProIIl and loss account JJIIII IUIIII 

',0lI0 18,100 
I..oanI 
1K cIaIIenlIoR IfOdt - DI 

PnIpaIe a cash flow llalllnLelIt far the ,..-ID 31 Decambar 2001. 

statements of source and application of funds 

Although cash flow slalements have now supail8ded ltalameula of IOUI'CI8 and 
app/icaIion of funds, funds flow stalamenls may not dIarlJI .... "iIIy. Some 

4b 
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businesses or industries will continue to lind tund flow statements useful and 
informative. For this reason, it is necessary to examine funds flow statements. 

Funds statement on a cash basis 

Funds statements on a cash basis can be prepared by ctasslfying and/or 
consolidating: 

a) net balance sheet changes that occur between two points in time into 
changes that increase cash and changes that decrease cash 

b) from the Income statament and the surplus (profit and loss) statement, the 
factors that increase cash and the factors that decrease cash and 

c) this information in a sources and uses of tunds statement form. 

Step <a> Involves comparing two relevant Balance sheats side by side and then 
computing the changes in the various accounts. 

Sources of funds that increase cash 

Sources of funds which increase cash are as foHows: 

• a net decrease in any asset other than cash or fixed assets 
• a gross decrease in fixed assets 
• a net increase in any liability 
• proceeds from the sale of preferred or common stock 
• funds provided by operations (which usually are not expressed dinIctIy in the 
income statement). 

To detennine funds provided by operations, we have to add back depreciation to net 
income after taxes. In other words, suppose we have: 

Net Income after taxes of a company. being 
and depreciation (non-cash expense), being 

-$750.000 
= 1100.500 

850.500 

Then, the funds provided by operations of such a company will be obtained by adding 
the values of the two above items, i.e. $850,500. Thus, the net income of a company 
usually understates the value of funds provided by operations by the value of the 
depreciation - in this case by $100,500. 

But then, depreciation is not a source of funds, since funds are generated only from 
operations. Thus. if a company sustains an operating loss before depreciation, funds 
are not provided regardless of the magnitude of the depreciation charges. 

Application of tunds of a company usually indude: 

• a net increase in any asset other than cash or fixed assets 
• a gross inctease in fixed assets 
• a net decrease in any liabilitY 



• a R!lirament or purchase of stock and 
• the payment of cash dMdends. 

To avoid double c::ounting. we usually compuIII gross chlllg_ in ftICBd 111111 by 
adding deplacialOll for the period 10 net ftICBd III els at the ending 1inll1CiIII.1 I .all 
date and subIract from the resulting 8InCIU"It the net ftxad ...... at Ihe begilling 
financial Slaflhnent date. The residual represants the gross c:hangI in ftICBd a I' als for 
the period. If the residual is positive. it represents a use of f\rIds; it it is negaIivII, it 
.. pnsants a IOI.RI8 of funds. 

Once allOI.RI8S and applieafio;" of funds IN c:ompuead. they may be ... _ in 
statement form so that we can analyse them beIIer. 

Exerl:11. 3.2 Scuve and apple"'on oIfunds I 

Given below aN some diII'tR'ent SOI.IC8S and apple_lola of funds iii_a .... 
purpoSlilIy scallefed for .. Agr\buIIness Company K for Ihe year ended 31 December 
19X8. 

1) Ideiltif" them as IOI.RI8S and applications of funds, and IIJII",,1'Iem in a Popel 
manner wIIh Ihe Sources of funds on the left and Ihe ApflA atIoia on Ihe right of a 
labulaled slaanent for the said period. 

2) Coi,I._1t briefly on some of Ihe uses of Ihe tabI •• 111I 111 .all 

Incre III In cash posIIion .. 

Deere 1 S I In dIIbkIrI-
Incl'l 15! In long tenn deIIt • 
Ina I I In IItOc:b • 
Ina E I 5 I In .. prepaymenI:t .. 
Nelprufl-
Incre II I In OIlIer 8CCIUItI­
Adr.IIIons I!o fbaId ...... -
C&!II dhldeiids .. 
It. I I1II In bInk loins-
fl. I I II In pnIpIid...., II! .. 
Incre It In lnvesb,liiIIIII-
Incre .SI In Cledlocs • 
Dec:naalln 8CC1'U1d ..... 
DapnldalIoo-

s 
12.0lI0 
1.0lI0 
2.500 

218,5GO 
2.0lI0 

35,0lI0 
3.0lI0 
4.5GO 

15._ 
2ID.aao 
2.500 ..-5._ 
1.­
I.GOD 

No1ar. The above I'igIns ... based on Ihe ball a ..... and incDme 
slalsmaill of Company K. wIIich ... not shown in ..... i I 

Exerl:11I 3.3 Scuvea and applioatio.-. 01 funds I 

Using Ihe data and illfoomalion in Ihe amuaI repo(Ia (elf*lllIy lhelllt a ..... 
and i ICDnIe state.nellts) of Cerial Mart«tting Board provided for 1993 and 1992: 

48 
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a) compute and identify the sources and applications of funds of the parastatal 
for the years 1992 and 1993 and 

b) arrange them into a sources and applications of funds statement for 1993. 

Funds use and credit planning 

Funds (or capital) is a collective term applied to the assortment of productive inputs 
that have been produced, Funds may be broadly categorised into operating (or 
working) capital (difference between current assets and current liabilities), and 
ownership (or investment) capital. 

Operating capital in a company or firm usually refers to production inputs that are 
normally used up within a production year. On the other hand, investment capital (or 
funds) refers to durable resources like machines and buildings in which money 
invested is tied up for several yean>. Funds are generally quantified in monetary value 
terms, 

Funds use, especially borrowed capital, is usually influenced by many factors, 
namely: the alternative demands for it; the availabirrty of credit as and when needed; 
the time and interest rata payable on it; the types of loans that might be needed to 
generate it; and the cost of funds and business ownership cost. Thus, careful credit 
planning is essential in the successful operations of any company, 

In general, this requires the application of what, in strategiC company management, 
has come to be known as the strategic four-factor model called "SORS", The lattars 
that make up SORS stand for:-

• Sbaleglc planning (S) 
• Organisational planning (0) 
• Resource requirements (R) 
• Strategic control (8). 

Figure 3.2 summarises the simplified matrix of interacting factOIs and component 
parts that make up 'SORS'. In general terms, SORS is inlluenced or determined by 
four major factors: the external environment, the intarnal environment, organisational 
culture and resource (especially funds) availability. These four factors interact to 
create four inter-related components which normally determine the success or faHure 
of any given company. These are: 

a) competitive anvironment 
b) strategic thrust 
c) product/rnaf1<et dynamics 
d) competitive cost position and restructuring. 

A proper and pragmatic manipulation of these four component parts requires: 

• assessing the extarnal environment 
• understanding the internal environmant 
• adopting a leadership strategy 
• stratagically planning the finances of the company. 



financial AnaIysfa For ..... in ......... .. 
CompuIIrIad ............ 

The PI.rpos8 of this text is not to cover al1he componants sun_ .. llld in ..... 3.1. 
1nst8ad, 1he major COliC em is to have a proper I.mder_ndi Ig of financial • ...,. for 
sbalegic pIaMing. This. in staa. managemant. fIICII*- a ICUId IiwIciaI a'IlIIysls 
backed by sIrategic funds programming, bIIseIina PlqectioIlS (01' budgalilg), whIII f 
(decision !fee) analysis, and risk analysis. This boOk ...... 1pIs to c:over ....... 
areas. 

Dealing willi aII8maIives is what managamant is aI abOut Some of .. tIoaIs for 
evaluating aIamaIives (a.g. pattiaI budgets, cash ftowo budgaIIs and financial 
slallhnants), ant c:overad in this text. 

II is assumed that most people ant ahady I'aInm. wiIh 1he • ..., .... III! .1Iy .... 
to major capital use decisions in various c:ornpa1ill However, hIP,,-i1IIIICI ant some 
of .... points throughout 1he book, Iinca cOlllpany baliclluunds cIIrer and whIII is 
considanId "major capital use decislolls" varies willi 1he Iiz8 of built ... a I For 
ins1anc&, a $50,000 expandiILnI may be major to one collipany and of .. 
sigr.ifica1Clt to another. 

FIgunt 3.2 The stnd8gIc tour.fador model 

.......... 

.~ .... -.. 
...... , 71.ICOIt ..... 

.... 
-..... ;. 
·r Us 
·011 1-
.p 7 f ... ,; .. ., • .. 

::::- 'lS· 
-IICIIIIIII., : .= ....... ·~la7~._ ... 
• jIaIIrIII. 11$ ,'. 

8. stMTEGlCOtOIlIE ................. 
- em' lAin ' .... 
• , .... .., CIIIIIIia ... .. 
-001,1.17 ..... . 

... _-----I.~ 1-7'" , 3 ..... :-----........ 

. in.""" .... .......... .... ....... 
Almost everyone is ramlliar with .. sut.s1a.HaI C8j:ital 01' fw1dI deIr..-sd in .. fomIs of 
busineSS. OtMousIy, Ihis does not aI have to be owned • ...... E;,"'''''' of 
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successful businesses has found that many of them operate with 50 percent or more 
rented or borrowed capital. The pressure on businesses to grow is likely to continue, 
and these businesses are likely to grow faster than will be permitted by each 
reinvesting its own annual savings from net income alone. Thus, because demand for 
credit will continue to expand, careful credit planning and credit use decisions are of 
paramount importance to marketing companies in any country. 

Credit and types of loans 

Credit is the capacity to borrow. It is the right to incur debt for goods andfor services 
and repay the debt over some specified future time period. Credit provision to a 
company means that the business is allowed the use of a productive good while it is 
being paid for. 

Other than the fact that funds generated within a business are usually inadequate to 
meet expanding production and other activities, credit is often used in order to: 

• increase the returns on equity capital 
• allow more efficient labor utilization 
• increase income. 

The process of using borrowed, leased or "joint venture" resources from someone 
else is called leverage. Using the leverage provided by someone ElIse's capital helps 
the user business go farther than it otherwise WOUld. For instance, a company that 
puts up $1,000 and borrows an additional $4.000 is using 80% leverage. The 
objective is to increase total net income and the return on a company's own equity 
capital. 

Borrowed funds are generally referred to as loans. There are various ways of 
classifying loans. namely: 

• in payment terms. e.g. instalment versus single payment 
• in period-of-payment terms, e.g. short-term versus intermediate-term or 
long-term 
• in the manner of ItS security terms, e.g. secuntd versus unsecured 
• in interest payment terms, e.g. Simple interest versus add-on, versus 
discount. versus balloon. 

On the basis of the above dasslflcation. there are twelve common types of loans, 
namely: short-term loans. intermediate-term loans, long-term loans, unsecurec:Iloans, 
secured loans, instalment loans, single payment loans, simple-fnterest loans, add·on 
interest loans, discount or front-end loans, balloon loans and amortised loans. 

Short-term loans are credit that is usually paid back in one year or less. Short term 
loans are usualty used in financing the purchase of operating inputs, wages for hired 
labour, machinery and equipment, and/or family living expenses. Usually lenders 
expect short·term loans to be repaid after their purposes have been served, e.g. after 
the expected production output has been SOld. 

Loans for operating production inputs e.g. cotton for the Cotton Company of 
Zimbabwe (COrCO) and beef for the Coid Storage Company of Zirnbab\w (esc). 
are assumed to be self-liquidating. In other words, although the inputs are used up in 
the production, the added returns from their use will repay the money borrowed to 



pun:hase the inputs, plus i d8AIst. Astute managers ant also ...... Iad to have Iigur8d 
In a risk premium and a reIlm to Jabou' management. On 118 oe.. t.Id, loans ror 
imtwb.18t'It capilal iIems like machi I8IY ant not IIceIy to be .11f IiqI id"'.., in 118 sf'IOIt 
term. Loans ror family living expanses ant not at aI seIf.Iicp ..... ilg and IIIUIt come out 
of net cash Income after aI cash obligations ant paid. 

1I11em1edi'! 18m (IT) loaM ant aadit extended ror __ ,.... UIUIIIy one to 
five years.. This type of aadit is normally used ror puu::f 8581 of bulding .. equipment 
and other production inputs 1hat require longer than one ,ear to gen8i at sullicienl 
retLms to nJpay 118 loan. 

t.ong.4ann .... ant those loans ror which ...,...11 uc a 1111 five to S8VeI1 ,.... 
and may extend to 40 years.. This type of aadit is usually exIIIndIId an •• all (such 
as land) which haW a long productive lire in 118 bulina ••. Some .... i'lJNOw8I1I8II1l progIlII1II'. like .... le\ellillg, laforestalioh. .... de_1g and cInIinagIt-waJ 
conswction ant usually fina1ced wIIh long letln aadit. 

lInMcunId loaM ant cradil given out by IerIcIIn an no oe.. besis .... PlOilds. by 
the boIIO:'- to nJpay. The borrower does not have to put up con n.' .... and 118 .. 1IdeI 
relies on cradil reputaIion. lJnsecI.nd loans usually arrry a higta II ...... raIIe than 
secured loans and may be difficult or impossible to .,.1(18 ror buill IIUI wIIh a 
poor aadit record. 

SecI.nd loaM ant 1hoIe loans 1hat invoMt a pledge of some or .. of • bullllIIIS's 
assels. The !alder ntqWes I8Q.dy as Plof8dion rorill dep1l n .. against" RIb 
Involved in the use planned ror .. boImdd funds. The bOhcMIIr may be able to 
bargain ror beIIar IIenns by putIing up ((11111 III, which is • way of badcitlg one's 
promise to nJpay. 

Instalment .... ant1hole loans in which .. boIlOwer or ad CUIIDmIr lewl .}S • 
set 8IIIOIA'1t each period (week, month, ,.., .... 118 boftodd amaLIIl is da nld.. 
INitalllle"t aadit is sin I to charge account ad, but.. If 1nvcIwIa. ronnaIlegII 
conbad ror a pntdeteImined period wIIh spec:iIic paymenll.. Will 1his plain. .. 
boIlCwer usually knows precisely how much wII be paid and when. 

SIngle PIJIIlIIfIt loaM ant 1hoIe loans In which .. boilCd" pays no PlIlIc:ipiII .... 
.. amaLIIl is due. eeca .... company IIIUIt 8WInIu8IIr pay .. dIIIt in U. I is 
In ....... to have the salfllstipline and PI'IlfmicllaI II_I) to set 8Iide lII0I., to 
be able to do so .. This type of loan is some.,. called .. 'blip IUIft" loan. and is 
genelaly repaid In less Ihan • ,.... 

Sill .... II .... lit .... ant those loans In which intlnlt is PIId an .. ~ loan 
Il I rat. Thus, .. boIlawer is I8qUinId to pay II ...... only an .. adUaI amaLIIl of 
money outstanding and only ror .. actual time 118 money is used (e.g. 30 days, 90 
days, 4 monlha and 2 days, 12 years and one month). 

Add-on hiIMIl' loaM ant aadit in which 118 boIIC .... pays i ........ on .. fuI 
amount of .. loan ror .. enIIre loan period. "iIIII.st is c:haiged an .... amount 
of 118 loan at the time it is made and Ihan "added an". The AIISUIIIng am of the 
principal and iltaAlit is Ihan divided equaIy by the number of payn .. llIto be made. 
The company is thus paying InIeIest on .. face value of .. noea aIhough it has use 
of only a part of the Initial balance once principal paym8I Its begin. This type of loan ii 
sometimes called the "IIat rata" loan and usually resuIIIln an ...... late higheI .... 
the one specified. 



Finar.cial AnaIyIds For Agribuei ..... Marketers 
ComptItItrized SystamB & Agribusiness ApplIcatIons 

Discount or front-end loans are loans in which the interest is calculated and then 
subtracted from the principal first. For example, a $5,000 discount loan at 10% for 
one year would result in the borrower only receiving $4,500 to start with, and the 
$5,000 debt would be paid back, as specified, by the end of a year. 

On a discount loan, the lender discounts or deducts the interest in advance. Thus, the 
effective interest retes on discounlloans are usuaHy much higher than (in fact, more 
than double) the specified interest rates. 

Balloon loans are loans that normally require only interest payments each period, 
until the final payment, when aU principal is due at once. They are 10metimes referred 
to as the 'ast payment due", and have a concept that is the same as the single 
payment loan, but the due date for repaying principal mey be five years or more in the 
future rather than the customary 90 days or 6 months for the single payment loan. 

In some cases a principal payment is made each time interest is paid, but because 
the principal payments do not amortise (pay off) the loan, a large sum is due at the 
loan maturity date. 

Amortised loans are a pat1iaI payment plan where part of the loan principal end 
interest on the unpaid principal are repaid each year. The standard plan of 
amortisation, used.in many intermediate and long-term loans, calls for equal 
payments each period, with a larger proportion of each succeeding payment 
representing principal and a sma. amount representing interest 

The repayment schedule for a 10 year standard amortised loan of $10,000 at 7% is 
presented in table 3.1. 

The constant annual payment feature of the al1'lOl1lled loan is SImilar to the "edd on" 
loan described above, but involves less interest because it is paid only on the 
outstanding loan balance, as with simple interest Amortisation tables are used to 
determine the reguler paymant for an amortised loan. The $1,424.00 annual payment 
for the 10 year Joan was determined by using the amortisation factor (AF) of 0.1424 
and multiplying that by $10,000, the face value of Ihe loan. The proper procedure for 
deriving a schedule as in table 3.1 is to: 

a) first read off the amortisation factor from an amortisation table for a given 
interest rate against the given year Ihe loan il expeded to last 

b) calculate Ihe total payment at Ihe end of each year 
c) then, on a year-by-year baSis, calculate the annual interest payable on the 

balance of the principal 
d) obtain Ihe annual principal payment by subtracting the calculated annual 

interest from Ihe total end-of-year payment. 

Repeat the procedure for each of the years involved. Now attempt exercise 3.4. 
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Table 3.2 AmortizaIIon of • $10,000 loan In 10 ,.an ." .... annual 
instllllnwills. 7% lillarast 

Year Unpaid plillcipal at beginning of year ($) PaymerC at tile end of tile year 

1 
2 
3 
4 
5 
8 
7 
8 
9 
10 
Total 

10,000.00 
9.278.00 
8,501.30 
7,872.40 
8,785.50 
5,838.50 
4,821.10 
3,734.80 
2,572.00 
1,328.00 

Inleresl ($) PilncipMI ($) 
700.00 724.00 
849.30 774.70 
585.10 821.90 
537.10 _.90 
475.00 949.00 
4011.80 1,015.40 
337.50 1,0IIII.50 
281.40 1,1112.80 
180.00 1,244.00 
93.00 1,331.00 

4.240.00 10,000.00 

TcUI($) 
1.424.00 
1.424.00 
1.424.00 
1.424.00 
1.424.00 
1.424.00 
1.424.00 
1.424.00 
1.424.00 
1.424.00 

14.240.00 

Suppose a new machile is being financed by the DaiiboaRl of Zi .... _ Lad will .. 
18 year $25.000 loan at. 9'110 illeiest rate. Obtain an amortisaIian schedule to show 
how the Dairiboard of Zimbabwe Ltd will pay off the resUIing artlOI1ised loin. (Hint 
the AF is 0.1142). 

Cost of fUnds 

The cost 01 funds (capital) is aucialto me 1i •• II8Ni1y111. u.u.IIy. the pili a 1..-".. 
measures 01 an mesli.i8i1l's aconomic worth dapend on the UM 01 ....... opd 7 

discount rate (or rate of retwn). The most appropriaIe rate is the mn's COlt 01.: ........ 
This rate, when determined, provides a yauistick for tastillg the ao::c~ of .., 
invesIi .... nt; those that have a high probability 01 achieving a rate 01 return in .He 111 
01 the fiIm'S cost 01 capital .. acceptable. 

A firm's cost 01 all "tal may be estimated through: 

a) the UM 01 the illeiest rate attail8ble by "inv1Z1i1lf in .. dig i 7 ... 
(deposils or securities) befont taxes as an asIi. l1li1 01 oppoiU1ily cost 01 
capital and 

b) the d .. _millalion 01 the we ig.'II8d average aIIIIir-tax cost 01 ... III. which 
.e.1eds the cost 01 aI forms 01. 'II III the film ..... The two billie SOI.ItI8S 
01.""". .. bornl:wd funds from .. dig InsIituIionI and ownership or 
inIeinaI capital repr&S8ll1i Ig profits rain.est8d in the business, 

To estimate the \wai:J1Iad average cost of ClII'iI*. one needs to dll iiine: 

a) the present cost 01 bonowad or leased funds from each source 
b) an average cost 01 idemal capital as .eIIeded by the paRl8iilaga 01 aquIly 

in business and risks being taken and 
c) an aqustrnent for income tax errect. 

Cost 01 bOilou:Md capital 
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Lenders' interest rates vary by type of lender. And since many of these lenders' rates 
are keyed to money market conditions, predicting costs of borrowed capital through 
time is imprecise. Less difficulty exists when borrowers have considerable long-term 
borrowings at fixed rates. Normally, a rough idea of the average cost of borrowed 
capital for a firm is obtained by dividing the total interest paid by the company by the 
capital borrowed by the same company. 

Cost of ownership (Equity) capital 

Cost of ownership capital is more difficult to determine than that of borrowed capital. 
Theoretically, one knows that the cost of ownership capital is the opportunity cost of 
placing the owner's funds elsewhere in comparable risk situations. Generally, the 
guide for selecting an appropriate ownership cost of capital is to use the condition that 
the cost of equity or ownership capital should be equal to or greater than the cost of 
borrowed capital. 

Average cost of capital 

Using a balance sheet or other information, one can estimate the percentage of the 
sources of capital in a business. Assuming that a company has a 50% equity (or will 
average about half borrowed and half owned capital over the investment period) the 
average cost of capital is estimated as follows: 

Table 3.2 Average cost of capital 

Soun::as of capital 
Equity capital bomlwed 
Bank 
Insurance company 
TOTAL 

Business ownership coats 

(1) '" of ~:;;;;I_-,,(2)::L.:.:"':...;of~Ql;.;.ISt,--....;W!Ipht.;:..:.;:l=ed~CO:,:;lSto~(c.!1 ),,;;,;x,",,(2):t....... 
50 0.10 5.00 
40 0.09 3.60 
10 0.08 0.80 

9.40 

There are five ownership costs that evary company incurs, namely: depreciation 
costs, interest costs, repair costs taxes, and insurance costs. They are commonly 
refeITed to as the "DIRT! 5". 

a) Depreciation 

This is a procedure for aIIocatiflg the used up value of durable abets over the period 
they are owned by !tie business or until they are salvaged. By depreciating an asset, 
an allowance is made for·the deterioration in the asset's value asa result of use (wear 
and tear). age and obsolescence. Generally, property is depreciable if it is used in 
business or to eam income;. wears out, decays, gets used up or becomes obsolete, 
and has a determinable useful life of more than one year. The proportion of the 
original cost to be depreciated in any one year is largely a matter of judgment and 
financial management. Normally, the depreciation allowance taken in any given year 
should reflect the actual decline in value of the asset - whether it is designed to 
influence income taxes or the undepreciatad value of an asset reflecting the resale 
value of the asset. 

There are four main and acceptable methods of calculating depreciation, namely: 
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-Ihe ace ala raf8d cost feCOveIY system (ACRS) method 
- Ihe stnllight line method 
-Ihe deditlillg baIa1ce method 
- Ihe sum of Ihe years-digits method. 

The ace.leuad cost naco......, .,..... method Is a relltI...., new method of 
calculating depredation for tangible Plopei1y. It came inIIO ... ~ in 1981. As 
a method ACRS generally gives much faster write off than other rneIhods bec:8I_ it 
has tax savings as its primary objective. It usuaIy gives little consideiatiuli to 8CIuaI 
year-to-year change In value. Thus, for ac:counIing lUPUses, other rneIhods .. more 
appropriate. 

For tax purposes, property is cIassifiad as foIIows:-

i) 3 year ptOpeII.y - automebl .. and IighkkIly trucb l.ad for butin III 
purpa ses and C8I1ain speciallDois, and depnJc:iabIe PloperiJ willi • 
midpoint life of4 y8In or lass. 

ii) 5 year ptOpeII.y - most farm equipment, grain bins, lingle Pllll*81itrU1CU111 
and fences, breeding beef and dairy caItIe. office equiplnall and office 
t'umiIunt. 

ii) 10 year pmpeIty- inWdes daPlaclabla Ploperty willi ., axpecliad lie 
belvJaen 10 and 12.4 y81n. 

iv) 15 year ptOpeII.y. buildings. 

The stnigbt Ina matllOd COI'I'IpIJ18S daprac:iatiun, 0.. as ~.s: 

I 0.- OC'~BY 
where: 

OC = OrIgInal cost or basis 
SV .. Salvage value 
l = axpected uselUllife of Ihe asset In Ihe busi ..... 

Declilliul ...... 1C8 meIhod caIa 111.1 dapraciatiDn as:-

I 0..= RVxR 

whInt: 
RV :: undapreciala d value oflhe asset .. .,. sat 0/1.,. 8CCXU1Iing period 
such thai. in year 1, RV :: OC, and in sue( I • ding ,.... 
RV, .. (RV101 - D.J.1l x R (will salvage value not baing dadur::Ied tiom origillll 
value babe cumpuIing depnJc:ialion), 
R .. Ihe deplacialion rate. wNch mar be up to twice .,. ... of dacIi .. 11l. 
alto .ted under stJaicI1t line method. 

Sum 0/1 the ,....401" malllOd astimates the ""'IMIIiIOI. 0/1., asset as "'* UI:-

I 

I 

1..-1 ~ ___ ·~~=--BV) __________ --II ;i 

~---~-~-'--------------------------)' 
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RY = estimated years of useful life remaining 
S = sum of the numbers representing years of useful life (i.e. for an asset with 
5 years useful life, S would be 1+2+3+4+5 = 15). 

b) Interest costs (rates) are incurred by a company when owned or borrowed funds 
are invested in durable assets, because such money Is tied up and cannot be 
used for other purposes. On borrowed money, thare wiD be a regular interest 
payment, a standing obligation which must be met regardless of the level of use of 
the asset purchased with the borrowed money. Also, an interest charge should be 
calculated on equity capital, In this case, the charge would be an opportunity 
interest cost. An annual charge should be made because the money invested has 
alternative productive uses, which may range from earning interest on a savings 
account to increasing production, 

c) Repairs costs are principally variable costs incurred on assets because of the 
level of use of the assets through wear and leer, Some dUfBbIe assets, however, 
deteriorate with time even though they are not used. Fences, buildings and some 
moving parts on machinery and equipment are prime examples, although they 
deteriorate even more rapidly with use. 

d) Taxes are fixed costs that aAi usually incurred on machinery, bufldings and some 
other durable assets. Taxes aAi usually not related to the level of use or 
productive services provided. Thus, any investment analysis that ignores the 
annual tax obligation associated with the proposed investment will be incomplete, 

e) Insurance c:oets are also fixed costs that are incurred when a financed asset is 
purchased and has to be protected against fiAl, weather, theft, etc. Usually, 
lenders requiAi that a financed asset be insUAld as a meant of security for the 
loan. SOme operators, particularly those with low equity, also insuAi some of their 
more valuable assets because of the strain the loss of those assets would place 
on the financial condition of the business. In this country, the major insurance 
companias aAi Old Mutual Insurance and General Accident Insurance, Minet 
Insurance, Prudential Insurance. etc. Now attempt exercise 3.5. 

Average cost 

of capital 
Business ownership costs 
Cash 
Cash equivalentS 
Cash flow statement 
Cash payments 
Cost of borrowed capital 
Cost of equity capital 
Depreciation 
DlRTIS 
Financing 
Funds use 
Insurance costs 

Key terms 

I,,_est rates 
Investing _vitIes 
Opending'8ctivities 
Pro fOrma'Qlsh flow statement 
Repalr~ 
Returns on investment and 
servicing of finence 
SORS 
Source and application of funds 
Strategic four·factor model 
Taxation 
Taxes 
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Chapter 4 - Budgetary control 

Chapter objectives 
This chapter is illleIlded to pnwIde: 

• An indk:ation Md elCI)IanaIion 01 the iI'!pOI_a 01 
budgetary COllin:)! in matkeIing as a kay ...-lceling 
control tec:hl1iqIM 

- An overview 01 the advaI .... Md dIIacIvwI&ages 01 
budgatirlQ 

- An inIrodudIon to the methods far prepaiillQ budg_ 
- An appreciaIion 01 the uses 01 budgIIIS 

TheIe .. two types 01 COIllloI, namely bI..IdgeIeIt Md lIIallCllf. This dIIpIIII 
COI ...... ,ba .. on budgetalt COl III 01 only. This is becali18 liralCial COIllloI_ CIMInId 
in detail in d1aptets one and two. Budgetary COI,bol is def.1ed by the InsIiIuIIII 01 Cost 
and Management Accountants (ClMA) as: 

"The establist.ment 01 budgets ralsliIlQ the respond .11 0I81111C1 .... to the 
I8qUirements 01 a policy, Md the continuous COII.palilOu 01 acIuaI wiIh 
budgl.d R!ISUIIs, eiIhar II) sean by IndIvIdusI acIIon the CIIlfedI've 01 that 
policy, or II) pnwIde a balls far lIB revi ...... ,·. 

Structure of the chapter 

Of II business activiIies, budgeting is one of the most ill!pOI_. _ ... eIont, 
AIqUires detail.1i all8ntion. The d'IapIIIr looks at the COl apt 01 .... ...,., ... 111 .. 
Md the advantages and disadvantagas of budgetalt COIllloi. It .... goes on to look 
at the detail of budget consIruction Md the use flo wtich budgIIIS can be put. U. .. 
mauagement tools, the d'IapIIIr highlights the need far detdali iilomtdin ... if the 
I8dlnique is II) be used II) lIB fullest edv8ldage. 

Budgetary control methods 

a)BudgIt: 

_ A run..... • ..... nant of the Iii'l8lICia1 I1ItIICMt:eS ... aIide far C8ilyfrQ GUt 
spacific activiIies in a given peliud 01 time. 

-It helps flo c:o-on:IinaIe the activiIies 01 the 1JIa- 111m 

An 8IC8ItIpIe would be .. advertIsiIlQ budget or sales foRle budget 

b) BuclQelsry colltlol: 

_ A COIllldleCtaique Wheiillby acIuaI ....... CUll ..... wiIh blldglll 
• Ant c:IiII'MIncaS (variaIas) .. made the .... ...,., 01 kay illc.dIII 

who can eiIhar ... 1 I COIllloi ac:Ian or nMae the lJIigillllllldgets. 

Budgetary coubol and rasponsibiIly cenbes: 

These enable managers II) monIIor IJlgalliz:aIIorIII fl.IlcIIonI. 
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A responsibility center can be defined as any fumonal unit headed by a manager 
who is responsible for the activities of that unit. 

There are four types of responsibility centers: 

a) Revenue centelS 

Organizational units in which outputs are measured in monetary terms but are 
not directly compared to input costs. 

b) Expense centelS 

UnitS where inputs are measured in monetary terms but outputs are not 

c) Profit centelS 

Where performance is measured by the difference between revenues 
(outputs) and expenalture (inputs). Inter-departmentel sales are often made 
using "transfer prices". 

d) IfIlIIitstment CfHltres 

Where outputs are compared with the assets employed in producing them, i.e. 
ROI. 

Advantages of budgetillG and budgetary control 

There are a number of advantages to budgeting and budgetary control: 

.• Compels management to think about the future, which is probably the most 
important feature of a budgetary planning and control system. Forces 
management to look ahead, to set out detailed plans for achieving the 
targets for each department, operation and (ideally) each manager, to 
anticipate and give the organisation purpose and direction. 

• Promotes coordination and communication. 
• Clearty defines areas of responsibility. Requires managers of budget centres 

to be made responsible for the achievement of budget targets for the 
operations under their personal control. 

• Provides a basis for performance appraisal (wIrIance analysis). A budget is 
baSically a yardstick against which actual performance is measured and 
assessed. Control is provided by comparisons of actual resuitS ageinst 
budget plan. Departures from budget can then be investigated and the 
reasons for the differences can be divided into controllable and non­
controllable factors. 

• Enables remedial action to be taken 11$ variances emerge. 
• Motivates employees by participating in the setting of budgets. 
• Improvas the allocation of scarce resources. 
• Economisas management time by using the management by exception 

principle. 

. Problems in budgeting l ______ --'--__ ) 
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Whilst budgets may be an essential part of any marketing acIivily they do have a 
number of disadvantages, particuIarty in percepIIon terms. 

• Budgets can be seen as pressure delricas i'~'ld by maliageme"I, his 
resulting in: 

a) bad labour relations 
b) inaccura18 racord-kaeping. 

• Departmental conflict arises due to: 
a) disputes over resource allocation 
b) departments blaming each oIhar If tltallftgalS ...... not allail8Cl. 

• It Is difficult to reconcile personaI/indivi and CXIiJlOi It. goeII. 
• Waste may arise as managers adopt the view, "we had beII8r spend it or .. 

.. lose it". This Is often c:oupIad with "ellipie buldillg" in order to ..... 1Ce 

the prestige of a depalbnenl 
ResponsIbiIiIy versus COi.boling, I.e. IOIIi8 COllI .. under .. inIIuanca of 

more than one person, e.g. power COllI. 
• Mallage ... may overastir ..... COllI so that they wiI not be blamed in .. 

future should they overspend. 

Charac:IIIiIstlcs of a budget 

A good budget Is chaiaclelized by the foIIowiig: 

• Pattic:ipaIion: involve as many J)8OJIte as POSlibIe in cbwing ~ a budget 
.~: embrace the whole CWg8iizalioiL 

• Stalldards: base it on estabIshed standalds of pecbn.lC8. 
• FIadlIity: &low for changing circumStances. 
• Feedback: constailly mora pec fa",. ICe. 
• Analysis of costs and revenues: this can be done on .. basis of pruducI 
Illes, depariments or cost centers. 

Budget organization and admIn .... ation: 

In OIganizlllg and adllliliistarlilg a budget systam .. rvJtllAling dI8i ..... 1 Ii • may 
apply: 

a) Budget cenfJ8s: Units rasponsibIe for the pe .... 8Iion of budgeII A budget 
cariIr8 may ellcompass sevecaI cost Cliib6i. 

b) Budget com"iItw. This may COI'ISIst of senior IIi8InbanI of .. Olga! II Ii ... 
e.g. depalb .... 1taI heads and executiveS (willi .. IIIa.Gino cilecJor as 
chairman). Every part of the orgaliisation shoUd be AIpT8 II iIIId on .. 
commitI8e, so there shoUd be a raprllB ltatiwe from ...... pmdidon, 
marketing and so on. FunctiOIlS of the budget COi ...... a indude: 

• CoordInation of the peeparation of budgeII, including .. laue of a 
manual 
• Issuing of timetaIllas for Jll6P8laIioiI of til .... 
• Provision of infonnation to assist budget JllWP8laIiOIli 
• Comparison of actual results with budget and iN. I~' of 
V81iances. 

c) Budget Officer: Controls the budget admillilbalioil The job ~ 

~------------------------------~ 
bO 
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• liaising between the budget committee and managsrs responsible for 
budget preparation 
• dealing with budgetary control problems 
• ensuring that deadlines are met 
• educating people about budgetary control. 

d) Budget manual: 

This document: 

• charts the orgillnisation 
• details the budget procedures 
• contains account codes for items of expenditure and revenue 
• timetables the process 
• clearty defines the responsibility of persons involved in the budgeting 
system. 

Budget preparation 

Firstly, determine the principal budget factor. This is also known as the key budget 
factor or limiting budget factor and is the factor, which will fimit the activities of an 
undertaking. This limits output, e.g. sales, material or labour. 

a) Sales budget: this involves a realistic sales forecast. This is prepared in units of 
each product and also in sales value. Methods of sales forecasting include: 

• sales force opinions 
• market research 
• statistical methods (correlation analysis and examination of trends) 
• mathemetlcal models. 

In using these techniques consider: 

• company's pricing policy 
• general economic and pOlitical conditions 
• changes in the population 
• competition 
• consumers' Income and tastes 
• advertising and other sales promotion techniques 
• after sales service 
• credit terms offered. 

b) Production budget: 8XpIelllad in quantitative tenns only and is geared to the sales 
budget The production manager's duties include: 

• analysis of plant utilisation 
• WO/K-in-progress budgets. 

If requirements exceed capacity he may: 

• subcontract 
• plan for overtime 

bl 
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• inIroduce shift work 
• hint or buy 1IddiIio.-w rnac:Nnery 
• The mateIiaIs pwthllas budget'l boIh quantilaliwelWld 1I.1Ci8l. 

c) Raw mateIiaIs IWId pwd'Iasing budget 

• The maIeri&Is usage budget is in quadill&s. 
• The materials pcRh&ses budget is boIh qua'llillllalllalilwe,. IWId 1I.-1daI. 

Fac:tons inftuencing a) IWId b) indude: 

• PfOdIICtion requirerrIenI:s 
• pIaIwlilg stock ...... 
• mage space 
• trends of maI8ri&I prices. 

d) I &b<l! .. budget is boIh quanII1a1Ive IWId financ:i&I. This is inftuenced by. 

• procllCtion requirerrIenI:s 
• man-hours avel,bIe 
• grades of Iabcu I"8qI.ftd 
- wage rates (1I1ion agnMll'llllllIs) 
• the need for inc:anII¥eI • 

• ) Cash budget a cash plan for a def."18d period of lime. It umat. II n ... ., 
receipts IWId payments. Henc:e, it h/ghllgl1Is IlIOIIIhIy swpiIllallWld dafic:its ofac::tual 
cash. Its main uses ant: 

• to mailtain ..... tbcA over a film's cash requiIwnanIs. e.g. stock IWId dlllbs 
• to enable a firm to take pracalllol., ma. __ 1WId ....... in ....... for 
imtasb,i8I'IIlWId loan facililias whenewIr cash ........ or defic:Is ..... 
• to show the fe.sllllly of managemenl's plans in cash .... 
• to iIIustraIB lie financ:i&I in!p&Ct of dI&nges in 1I ...... nl poky, e.g. 
change of cnIdit terms oIfenKI to cusloriIar$. 

ReeeipIs of cash may axne from one of the folia :MIg: 

.cash ..... 
• paymellIs by dabtoIs 
- the sale of fixed assels 
-lie issue of naw st.es 
-lie I8C8ipI: of i.leiaIt IWId dividends from 1rMiiIdI ....... 

PaymarIIs of cash may be for one or more of lie foIkMilg: 

- pwiChlll of stocb 
• payments of ¥ ages or 01.- exper I B S 
• p&.IdI&I8 of (",!IaI iI8ms 
_ payment of ill8n,at. dividends or ta.iIIioi" .. 
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i) Step 1: set out a pro fonna cash budget month by month. Below is iii suggested 
layout 

Cash receipts 
Receipts from debtors 
Sales of capital items 
Loans received 
Proceeds from share issUes 
Any other cash receipts 
Cash payments 
Payments to creditors 
Wages and salaries 
Loan repayments 
Capital expenditure 
Taxation 
Dividends 
Any oilier cash expenditure 
Receipts less payments 

Month 1 Month 2 
$ $ 

Opening cash balance bit '!N. 2!: 
Closing cash balance elf ~ Y 
Ii) Step 2: sort out cash receipts from debtors 
iii) Step 3: other income 
iv) Step 4: sort out cash payments to suppliers 
v) Step 5: establish other cash payments in the month 

Figure 4.1 shows the composition of a master budget analysis. 

Figure 4.1 Compoalion of a ma.ter budget 

OPERATING BUDGET 
consists of:-
Budget PIL aoo: get: 
ProducIion budget 
Materials budget 
Labour budget 
Admin. budget 
stocks budget 

f) Other budgets: 

These include budgets for: 

• amnillisballon 
• research and development 
• selling and distribution expenses 
• capital expenditures 

FINANCIAL BUDGET 
consists of 
Cash budget 
Balance sheet 
Funds statement 

• wor1dng capital (debtors and creditors). 

Month 3 
$ 

l The master budget (figure 4.1) illustrates this. Now attempt exereise 4.1. 

~----------------) 
b3 
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Exeldle 4..1 IJudoetlllg I 

Draw up a cash budget for D. SithoIe showing the II s's 1C8" the end ~ IMICh monIh, 
from the following i Iformation provided by .. for the six 11lOI1II ... aided 31 DeclI'lIb. 
19X2. 

a) Opening C8sh $1,200. 

2001 2D02 
Sales III $20 per una MAR APR MAY JUN JUL AUG SEP OCT NOV DEC JAN FEB 

280200320280400300350400310400280250 

c) Production in units: 240 210 300 320 350 S70 3110 340 S10 210 250 
d) Raw malelials cost $5Iunit. Of this 80% is paid in the monIh of production and 2.0'11 

aner prodIldion. 
e) Direct Iat!cM" costs of S8Iunit are pa,abIe in the monIh of prodIdan. 
f) Variable expelLses are $2Iunil Of this 50'lIl is paid In ... _11lOI1II1_ prodIdian 

.-.d 50'lIl in the monIh following producIian. 
g) FDC8d expenses are S4OOImonlh payable eachl'l'lOl'lllt 
h) Ma chinefy costilll $2.000 to be paid for In ()Q)ber 19X2.. 
i) WiI racaiwe a legacy of $ 2.500 in DecIImbar 19X2.. 
j) DrawIngs to be $3OWmanIh. 

An.ampIe 

• CuIIivaIion elrrigatiol. 

• FI8Id mainIIInanc:e 
e IIaI.esIiIllI 
• Tr ... p .... llliorL 

WillI each operation ....... wiI be costs for labOur, R'IIIIIf' I and ntadlil." I lilt 
ThaI"OIe. for e.g. har.estiilll, IIese may inckIde four resoun:es. .... ~-: 

• I aI!c!t,.t: 

• TI1ldi!:InI 
.c-balll 
elmplemenls end UIdrIeI. 

HavIng ideidilied cost eel ...... the next step wiI be lID make. qlMdilalbe c:alcllilalian 
of the AtICIlA'ee& to be uaad • .-.d to further break this down lID shorIIar periods. say. 
ene monIh or thAIe months. The IengIh of period d'ia lin is il".o.,.". in that the 
shorter it is. the greater the cOllbol that can be _dsed by the budget but the 
greater the expense In prepMItion of the budget and repciI1illl 01." valia1lC11. 

b4 
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The quantitative budget for harvesting may be calculated as shown in figure 4.2. 

Figure 4.2 Quantitative harvesting budget 

Harvesting 1st quarter 2nd quarter 3id quarter 4th quarter 
Labour 
Cutting nil 9,000 tonnes 16,000 tonnes 10,000 tonnes 
Sundry nil 300 man days 450 man days 450 man days 
Tractors nil 630 hours 1,100 hours 700 hours 
Cane trailers nR 9,000 tonnes 16,000 tonnes 10,000 tonnes 
Imp, & sundries nil 9,000 tonnes 16,000 tonnes 10,000 tonnes 

Each item is measured in different quantitative units - tonnes of cane, man days etc.­
and depends on individual judgement of which is the best unit to use. 

Once the budget in quantitative terms has been prepared, unit costs can then be 
allocated to the indMduaI items to arrive at a budget for harvesting in financial terms 
as shown in table 4.2. 

Charge out costs 

In table 4.2 tractors have a unit cost of $7.50 per hour· machines like tractors have a 
whole range of costs like fuel and oil, repairs and maintenance, driver. 6cence, road 
tax and insurance and depreciation. Some of the costs are fIXed, e.g. depreciation 
and insurance. whereas some vary directly wi1h use of the tractor. e.g. fuel and oil. 
Other costs such as repairs are unpredictable and may be very high or low • an 
estimated figure based on past experience. 

F"lgure 4.3 Harvesting cost budget 

Hem harvesting Unit cost 1st quarter 2nd 31d quarter 4th quarter Total 
quarter 

Labor 
CuttIng $0.75 per tonne 6,750 12,000 7,500 26,250 
Sundry $2.50 per day 750 1,125 1,125 3.000 
Tractors $7.50 per hour 4,725 8,250 5,250 18,225 
cane Trailers $0.15 per tonne 1,350 2,400 1,500 5,250 
Imp. & sundries $0.25 per tonne 2,250 4,000 2,500 8,750 

$15.825 $27,n5 $17.875 $61.475 

So, overall operating cost of the tractor for the year may be budgeted as shown in 
figure 4.4. 

If the tractor 1$ used for more than 1.000 hours then there will be an over-recovery on 
its operational costs and if used for less than 1,000 hours there will be under­
recovery. i.e. in the firs! instance making an intemal'proflt' and in the second a 'loss'. 



COlI per _ (1.DOD IIoun;) 

Fixed cosI5 Depreclllllaft 
LIcence and IrIsI.IWIce 
IJIi'N 
RepaIrs 

Variable cosI5 Fuel and 01 
MaInIenInce 

....... budgIt 

($) 
2,000.00 
200.00 

100.00 per monIh 
600.00 per_ 

2.00 per"'" 
3.00 per 200 hoIn 

($) 
2,000.00 
200.00 

1,200.00 
600.00 

2,DOD.OO 
1"900 
1.5OIIJIQ 
1,DOD.00 

7.50 

The masIIIr budget for lie sugar cana farm may be as IhcMn In figln 4.5. The 
budget f8PA1unts M 0Y8C8II objective for lie farm for the whole year ahud, 
expressed In fiulllciallllnnS. 

'Slqnllmlf 2nd qu.. 3rd ..... 411.' ... TataII$ 
130.DOD 25O.DOD 120,000 5OO,DOD 

CUIINalIon 37,281 48,288 4.2,388 55,418 183,313 
Itrigation 7Z18 15,297 18,473 11,328 52.377 
field IIIIIinlen8nc:e 4,826 12,923 15.111 7_ 41,_ 
Hlrvulillll 15.825 27.775 17,875 11,475 
Transportaliotl 14,100 24,750 15,750 54,100 

.0.315 108.413 1211.357 107.132 312.787 
Add: ()peMIQ valnilion 85.800 135.185 112,240 .... 85.100 

135.185 241,578 241.517 201,. 471.517 
Less: CIoIIIng _"""'" 135,185 112,240 .... 10.2110 10.2110 
NIt crop COIl 1211 •• 147.317 111.102 a.'P7 
GIUII SUIpIus Il.2OO 1D:2,183 ... 111.723 
Less: Overb F» 5,878 7,381 7.488 5,321 2Il.OM 
NIt l!!uIIIlSS) (5.878) !.8IU, 15.177 3,077 IU78 

Once lie opeIating budget has been prapanIId. two lIdher btlKfgett c. be done. 
nwneIy. 

L Ballncelhaet lit lie end ollie year. 
i. cash now budget which stliOrJS .. amount 01 CIIh nee I ••• JIO .!ppOIt1le 

opeIatillg btlldgallt It 01 gr88t impoltance thai lie buill .. I has .ulicilnl 
finis to support lie pIaI __ op8IIatioI'III btlldget. 

DI.rIng .. year lie manag81nenl accounIant wII PI..,.. .'.1111181 .... as qLiddy as 
possible after each opeIalillg period. in our example. each quMar. sallino out lie 

i\ actual opeIaung costs against lie budgeted costs. This .... 1 .... wi! cab.I:'... .. ) 
'--.... __ c:I_fti_ ... __ IC8_bet!_W_88I_~ _the __ 'budgeted'_....;4:..... _4_._ld_Ile_·_acII __ 1II1 __ 0 __ tlI..;l._wI'I __ Iid ____ h __ It_C __ B __ 11 __ 1i __ 1le __ v, _____ rian ____ IC8_'_. _/ 

bb 
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There are many ways in which management accounts can be prepared. To continue 
with our example of harvesting on the sugar cane farm, management accounts at the 
end of the third quarter can be presented as shown in figure 4.6. 

Figure 4.6 Management accounts • actual costs against budget costs 
Management accounts for sugar cane farm 3rd quarter 19X4 

3rd quarter V.rto date 
Actual Budget Variance Actual Budget Variance 

Item Harvesting 
Labour 
-Culling 12,200 12,000 (200) 19,060 18,750 (310) 
- Sundry 742 1,125 383 1,584 1,875 291 
Tractors 9,375 8,250 (1,125) 13,500 12,975 (525) 
cane traHers 1,678 2,400 722 2.505 3,750 1,245 
Imp & sundries 4,270 4,000 (270) 6,513 6,250 (263) 

28,285 27,775 (490) 43,162 43,600 438 

Here, actual harvesting costs for the 3rd quarter are $28,265 against a budget of 
$27,n5 indicating an increase of $490 whHst the cumulative figure for the year to 
date shows an overaU saving of $438. It appears that actual costs are less than 
budgeted costs, so the harvesting operations are proceeding within the budget set 
and satisfactory. However, a furthar look may reveal that this may not be the case. 
The budget was based on a cane tonnage cut of 16,000 tonnes in the 3rd quarter and 
a cumulative tonnage of 25,000. If these tonnages have been achieved then the 
statement win be satisfactory. If the actual production was much higher than budgeted 
then these costs represent a very considerable saving, even though only a marginal 
saving is shown by the variance. Similarly, If the actual tonnage was significantly less 
than budgeted, then what is indicated as a marginal saving in the variance may, in 
fact, be a considerable overspending. 

Price and quantity variances 

Just to state that there is a variance on a perticular item of expenditure does not really 
mean a lot. Most costs are composed of two elements - the quantity used and the 
price per unit. A variance between the actual cost of an item and its budgeted cost 
may be due to one or both of these factors. Apparent similarity between budgeted 
and actual costs may hide significant compensating variances between price and 
usage. 

For example, say it is budgeted to take 300 man days at $3.00 per man day - giving a 
total budgeted cost of $900.00. The actual cost on completion was $875.00, showing 
a saving of $25.00. Furthar investigations may reveal that the job took 250 man days 
at a daily rate of $3.50 - a favourable usage variance but a very unfavourable price 
variance. Management may therefore need to investigate some significant variances 
revealed by furthar analysis, which a comparison of the total costs would not have 
revealed. Price and usage variances for major items of expense are discussed below. 

Labour 

The difference b_i88n actual labour costs and budgeted or standarc:llabour costs is 
known as direct wages variance. This variance may arise due to a difference in the 
amount of labour used or the price per unit of labour, i.e. the wage rate. The direct 
wages variance can be split into: 
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i) wage rate variance: the wage rate was higher or ~ than budge. It, •. g. 
using lIIOI8 unsIdIIed labor, or WOItdng 0\'IIII1Ime • a hWI8I ...... 

i) Labor efficiency variance: arises when the adUIII tine spent on a parIicuIIr 
job is higheI or ~ than the slaldard labor hours speciIiad, e.g. III ... idown 
of a mac:hIne . 

........... 
The variance for materials cost could also be spit Into prica and usage Ilamanls: 

i) Malarial price val1anca: arises when the adUIII uniI price is '" I: I r or ~ 
than budgeted. Could be due to inIIaIIon, diIrccMIIs, n I maIive ." .1 • *-

i) Malarial qI.8'"Itity Y81iance: arises when the adU1118IIIOId 01 m ? ill used 
is "eater or ~ than the .-nooot spetifted in the IIII1dgat. e.g. a blr".1 d 
feIIiIiser aI 350 kg per hecIare may be incnIaIed or deal ated when the 
actual feIIiIiser is apple d, giving rise to a usage valanca: 

I) Overhead volume variance: whant O'tam! 1:11 .. taMn irW:I .. COlt 
,,*111 ... a pradllction higher or Iow8r than budgaIad wiI CILa an over« 
1.I1der-absorpIIon of O\wheads. 

i) Overhead expendiI!.n Y81iallca: whant the adUIII ovemud ......... is 
higher or lower than !hal budge'ad for the level of oulput ad! 'IJ 
produced. 

C.bllllion ofprfcalldd ............. 

Now allanpl 8lI8Icise 4.2. 

Exelcille 4.2 Compnlil6on of Iabo..-YIIrfaIlC .. 

It was budg al. d IhIII it ...... IaIca 200 man days • $10.00 per _ to COItllll.' ... 
IaIk costing 12,000.00 when the adUIII cost was $1,875.00, baing 150 man days • 
$12.50 per day. CaIclllllla: 

i) Price variara 
i) Usage variara 

Cornmant brIaIy on the ....... of your calcul.IIJIL 

Management action and cost control 

b8 
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Producing information in management accounting form is expensive In terms of the 
time and effort involved. It will be very wasteful if the information once produced is not 
put into effective use. 

There are five parts to an effective cost control system. These are: 

a) preparation of budgets 
b) communicating and agreeing budgets with all concemed 
c) having an accounting system that Will record aU actual coats 
d) preparing statements that will compare actual costs with budgets, showing 
any variances and disclosing the reasons for them, and 
e) taking any appropriate action based on the analysis of the variances in d) 
above. 

Action(s) that can be taken when a significant variance has been revealed will depend 
on the nature of the variance itself. Some variances can be identified to a specific 
department and it is within that department's control to take corrective action. Other 
variances might prove to be much more difficuH, and sometimes impossible, to 
control. 

Variances revealed are historic. They show what happened last month or last quarter 
and no amount of anatysis and discussion can aHer that. However, they can be used 
to influence managerial action in future periods. 

Zero base budgeting (ZBB) 

After a budgeting system has been in operation for some time, thare is a tendency for 
next year's budget to be justified by reference to the actuallevets being achieved at 
present. In fact this is part of the financial analysis discussed so far, but the proper 
analysis process takes Into account all the changes which should affect the future 
activitias of the company. Evan using such an analytical base, some businesses find 
that historical comparisons, and particularly the current level of constraints on 
resources, can inhibit really innovative changes in budgets. this can cause a severe 
handicap for the business because the budget should be the first year of the long 
range plan. Thus, if changes are not started in the budget period, it will be difficuH for 
the business to make the progress necessary to achieve longer term objectives. 

One way of breaking out of this cyclical budgeting problem is to go back to basics and 
develop the . budget from an assumption of no existing resources (that is, a zero 
base). This means all resources will have to be justified and the chosen way of 
achieving any specified objectives will have to be compared with the aHemallvas. For 
example, in the sales area, the current existing field sales force will be ignored, and 
the optimum way of achieving the sales objectivas in that perticuler market for the 
particular goods or services should be developed. This might not include any field 
sales force, or a different-sized team, and the company then has to plan how to 
implement this new strategy. 

The obvious problem of this zero.base budgeting process is the massive amount of 
managerial time needed to carry out the exercise. Hence, some companies carry out 
the full process every fiva years, but in that year the business can almost grind to a 
halt Thus, an aHemative way is to look in depth at one area of the business each 
year on a rolling baSiS, so that each sector does a zero base budget every five years 
or so. 
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Chapter 5 • Information for decision 
making 

Chapter objectives 

This chapter Is Intended to provide: 
• An overview of the elements required for manager to make informed 

decisions among altemative courses of action 
• An explanation of the relevant costs for decision making purposes 
• The construction of Cost-Volume-Profit analyses and Breakeven 

eharts and their usefulness in decision making . 
• The factors affecting the economic choice of whether to make 

components in-house or buy from outside 
• How to make decisions on shutdown, additions or deletions to 

product lines or ranges, important to marketing managers. 

The need for a decision arises in business because a manager is faced with a problem 
and alternative courses of action are available. In deciding which option to choose he 
will need all the information which is relevant to his decision; and he must have some 
criterion on the basis of which he can choose the best alternative. Some of the factors 
affecting the decision may not be expressed in monetary value. Hence, the manager 
will have to make 'qualitative' judgements, e.g. in deciding which of two personnel 
should be promoted to a managerial position. A 'quantitative' decision, on the other 
hand, is possible when the various factors, and relationships between them, are 
measurable. This chapter will concentrate on quantitative decisions based on data 
expressed in monetary value and relating to costs and revenues as measured by the 
management accountant. 

Structure of the chapter 

Often "information" is interpreted by marketers as being "extemar market based 
information. However, "inlemal" sources are just as Important, none more so than 
financial information. The chapter looks at the relevant elements of cost for decision 
making, then looks at the various techniques including breakeven analysiS. Other 
important business decisions are whether to source components internally' or have 
them brought in from outside, and whether to continue with operations if they appear 
uneconomic. The ehapter examines the techniques usefUl In helping to make decisions 
in these areas. 

Elements of a decision 

A quantitative decision problem involves six parts: 

a) An objective that can be quantified Sometimes referred to as 'ehoice 
criterion' or 'objective function', e. g. maximisation of profit or minimisation of total 
costs. 
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b) ConstraInts Ma1y decision problems have one or mont COI._" e.g. 
lill1ited raw materials. labour, etc. It is thetlilfore COIIIlIOn to find an objIIcl ..... 
will maximise profits subjacl to dar .. _ COI.allI" 

c) A ..... of aIIernatMI courses of tIctIaI, undarCOlIlidlli .... L For ......... 
in order to minimise cosIs of a rr&'IUfacIuring opa ..... 1, the a\l',tk 
altematives may be: 

i) to COl'" IU8 manufacII.ring .. at pAl. ant 
iI) to change the manufacII.ring meIhod 
iii) to sub-canIract the WOI1t to a thin:I party. 

d) For8castfng 01 the incnJmeI .... costs and bel .. of each nil ...... CDU'SIt 
ofadion. 

e) ApplIcation 01 the deci_. u .... or oIljec:ti'M bldloll, •. g. the caIQ 7 ram 
of expected profit or contribution, end the lalldng oIa1:amatMts. 

f) Choice 01 prefamId allaioatNes. 

Relevant costs for decision making 

The COlIS which should be used for decision maldllg .. aftIn , ........ to .. "nIIs •• 1i 
cosIs". C1MA delliles ...... Il cosIs .. 'cosIs appRIpi , to aidInO the iI_ino of 
spacific management decisioowl. 

To arrec::t a decision a cost must be: 

a) FuIur8: Past COlIS .. in ..... '" .. we C81.1C1t aIIIIId .... by CLIIWIl " .... 
and they ant common to at aIlamaIIves 1hal we may c::hc:IOIie. 

b} 1I1CI"8m8I ..... ' MeBlmlg. expendiII.nI wtIich will be inI:ured or IMIided _. result 
of maIdng a dec isinIl. Any costs wtIich WOUld be inI:ured ...... or nat the 
decision is made .. nat said to be incnJmeI .... to the decilioi'i.. 

c) Cash flow: Expenses such as depnM::iation .. nat C8Ih flows and .. ,.-•• 
nat ..... anl Sillilally. the book value of existing equipmllli is ill ..... '" but the 
disposal value is I85evant. 

d) CoI •• non costs: Costs wtIich will be Identical for at n ........ i .......... e.g. 
rant or rates on a factory WOUld be inI:ured wh II ... prodim .. pRld!.aId 

e) Sunk COlIS: AnoIter nama for past COllI. whic:h .. always imIIa.a", e.g. 
ded!! I d fixed assets, de\'a'apmenl COlIS at sady irII::&...s. 

f) CoI ••• 1itted COlIS: A fu7In C8Ih ouIfIow 1hal will be inI:ured 8I1)MI}'. wi 11, .. 
decision is taken now. e.g. COIlbadl allaacI1 adialad ink) whic:h C8111C1t be 
aItenId. 

Opportunity cost 

Relevant cosIs may also be expressed as oppoI1unIty CIIItI. An oppoI1unIty cost is the 
benefit foregone by choosiIlg one oppoItunity instead 01 the next best an B maIM. 

~---~---------------------------~. 
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A company is considering publishing a limited edition book bound in a spedalleather. It 
has in stock the leather bought some years ago for $1,000. To buy an equivalent 
quantity now would cost $2,000. The company has no plans to use the leather for other 
purposes, although it has considered the possibilities: 

a) of using it to cover desk: fumishings, in replacement for other material which 
could cost $900 

b) b) of selling it if a buyer could be found (the proceeds are unllkaly to exceed 
$800). 

In calculating the likely profit from the proposed book before deciding to go aheed with 
the project, the leather would not be costed at $1,000. The cost was incurred in the past 
for some reason which is no longer relevant. The leather exists and could be used on 
the book without incurring any specific cost in doing so. In using the leather on the 
book, however, the company will lose the opportunities of either disposing of it for $800 
or of using it to save an outlay of $900 on desk fumlshings. 

The better of these aItemativeS, from the point of view of benefiting from the leather, is 
the latter. "Lost opportunity" cost of $900 will therefore be included in the cost of the 
book for decision making purposes. 

The relevant costs for decision purposes will be the sum of: 

o 'avoidable outley costs', I.e. those costs which will be incurred only if the 
book projed is approved, and will be avoided If it is not 

ii) ii) the opportunity cost of the leather (not represented by any outlay cost 
in connection to the project). 

This total is a true representation of 'economic cost'. 

Now attempt exercise 5.1. 

Exercise 5.1 Relevant costs and opportunity costs 

Zimglass Industries Ltd. has been approached by a customer who would like especial 
job to be done for him, and is willing to pay $60,000 for it. The job would require the 
foRowing materials. 

MaterIal Total unIIs UniIs aInJady I, IiIOok value of unIIs Realisable value Replacement cost 
required stock In stock $/unll $/unit $/unit 

A 1000 0 16.00 
B 1000 600 12.00 12.50 15.00 
C 1000 700 13.00 12.50 14.00 
D 200 200 14.00 16.00 19.00 

a) MaterIal B is used regularly by Zimglass Industries Ltd, and if units of B are 
required for this job, they would need to be replaced to meet other 
production demands. 

b) Materials C and 0 are in stock due to previous over-buying, and they have 
restrided use. No other use could be found for material C, but the units of 
material 0 could be used in another job as a substitute for 300 units of 
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material E, which currently costs $15 per I.I'lil (of which the COIIIP8RY hal no 
units in stock at the moment). 

Cab"ata the __ It costs of malelial for deciding whaIw or not to 8CClIIIJIthe 
COImact You IllUltcarefuly and c:IearIyexplain the ..... 11 foryow"'. I .NWIlofeach 
material. 

The assumptions In ntlevant costing 

Some of the assumptions made in IlIIevant cosIilg are as foIa .n: 

a) Colt behavicu pattams are known, e.g. If a depaill •• 1t do ... down. the 
allrbllable fixed COlt savings would be known. 

b) The amount of fixed costs. I.I'lil variable costa. I8Ias price and I8Ias den_ .. are 
known willi C81taiI'lty. 

c) The objective of decillion making in the Ihoft IUFI is to III_mi. I .... s' •• *1', 
which is often known as 'sflot1.t8rm proII'. 

d) The illroml8llon on which a dec:isIon is basad Is COII1I2'''' and u' I. 

CVP analysis IrwoI¥es the analysis of haw total costs. total ...... and total JIRIIb 
ant reIatad ID I8Ias volume, and is thelalore COIICII'I18d willi pi.dldlliG the ..... of 
changes in costs and I8Ias volume on profit. It is also knGwnas 'bI.1I II wen • ..., .... . 

The tect.-,jque used carefully may be helpful in the following lib .1 ens: 

a) Budget pIariI"ling. The volume of ..... I'6qUhd to InIIc8 a prall (III .......... 
point) and the 'safety margin' for profits in the budget can be IIIns nd. 

b) PricilIg and I8Ias volume decillions. 
c) Sales mix dec:isiOils. ID datarmine in what pitIpOItions each procb:t sIIouId be 

sold. 
d) DecisIoIII that wII aIfect the COlt aIIUdI.n and prGdlldlGn ..... It of the 

COftIP8RY • 

. CVP analysis is based on the 8SSI.I'fIPIIon of a linear total COlt fWdoI. (COI .... 1t unit 
variable COlt and COIISIant fixed costs) and 10 is en ..,... ...... of n_gillil C!ClIIIIO 
prilki;ln 

a) Pedod fixed costs are a constant IIIIICIIft. lheIefonI If one ..... unit of procb:t is 
made and sold, total costs wII only rise by the ... iabIe COIl (the li&f/liflll.., 
of prodUction and sales for that I.WIit. 

b) Also, total costs wII tal by the variable COlt per WIlt for each redldion by one .... 
In the level of adMty. 

c) The addIIionaI profit earned by makilg and .. Ina one ......... is the ... 
revenue from its sales minus its variable COltS, te. the contrIIUIion per unit. 

d) As the volume of adMty increalal, IheI6 wII be .. incrl au In total JIRIIb (or a 
ftIduction in losses) equallD the total revenue minus the total ...... iIIAe 
COltS. ThIs is the extra contribution from the extra ouIpi.t and sales.. 

~------------------------------~ 
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e) The total profit in a period is the total revenue minus the total variable cost of 
goods sold, minus the fixed costs of the period. 

Revenue 
Variable cos! of sales 
CONTRIBUTION 
Fixed Costs 
PROFIT 

Example: breakeven charts and PN charts 

x 

Sabre product$ LId. makes and sells a single ptoduct. The variable cost is $3/unit and 
the variable cost of selOng is $1/unit Fixed costs total $6,000 and the unit sales price is 
$6. 

SabRI Products Ltd. budgets to make and sell 3,600 units in the next year. 

Draw a bnlakeven chart, and a PN graph, each showing the expected amount of output 
and sales requined to braakeven, and the satety margin in the budget 

Solution: 

A braakeven chart records the amount of fixed costs, variable costs, total costs and 
total revenue at all volumes of sales, and at a given sales price as follows: 

FigUN 5.1 Bntakeven chart 

S 
Revenue 

21,600 ........ _ ........... _ ..• _ ..... _ •... _ .................................... . 

18,000 

6.000 

i 
I 
; 

l j3udg4H 
T etal COS1S .".", ! Ma rgin ~ 

".",/ ~ of' -I! 
............ i Safely i 

~~--~~--~----~I------ : -----· . • • · . · . • • · . , , · . 
1.000 2,000 3.000 3,600 

output ISate. unb 

The 'braakeven point' is where revenues and total costs are exacIIy the same, so there 
is no profit or toss. It may be expressed in terms of units of sale or in terms of sales 
revenue. Reading from the graph, the breakeven point is 3,000 units of sale and 
$18,000 in sales revenue. 

The 'margin of safety' is the amount which actual output/sales may fall short of the 
budget without a loss being made, otten expressed as a percentage of the budgeted 
sales volume. It is a rough measure of the risk that Sabre Products might make a loss if 
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it fails to achieve its budget. In our example, the fll8igill of saraty is CIIIcII tId 81 
foIICIws: 

BndgE td salas 
BlealleYIIII point 
MargIn of safely (MOS) 

As a petteillage of budgallld sales; the 

'uos-:'o 
= 16.67'Jf.. 

A high rragili of safety Ihow$ a good upec 1liiian of proIiIa. even I the budget is noI 
achievec1 

The Piu'1WoIume cPA') gqph 

The PN graph is sinila! to the bnIakIMn chait, and records the pull or ... et II8I:h 
level of sales, at a given sales priCe. It is a sllaight line gr8IIh, drawn by recaldillO the 
following: 

i) the loss at zero sales, which is the full 8IJIOIri of fixed COlts 
i} the prufit/(Ioss) at the budgeIIId sales level. 

The two poinIs are then joined up. In our .,... aI:Iove, the PA/glaph wauId look .. 
this: 

.' .-
• . -.' . 

•• 

I 

.... i .' , 

8~ i 

The breake¥en point may be read fmm the graph 81 $18,000 In salas nMIIlUe, and the I 
"- margin of safety is $3,600 in sales revenue or 16.67'Jf. budDalad sales revenue. ) 



FinanCial Analysis for Agltbusln ... MarUters 
Computerized Systems & Agribusiness Applications 

The arithmetic of CVP analysis 

a) To calculate the breakeven point the following fonnula applies: 

I S = V+ F at the breakeven point, 

where: 

S = sales revenue 
V = variable costs 
F = fixed costs (so that V + F = total costs). 

Therefore: 

I<s- V)=F 

At the breakeven point, total contribution (S - V) equals the amount of fixed costs (F). 

b) To calculate the amount of sales needed to achieve a target profit the following 
formula applies: 

I S= V+F+P 

Therefore, 

I (S-V)-(F+p) 

To eam a target profit, the total contribution (S - V) must be sufficient to cover fixed 
costs plus the amount of profit required (F + P). 

Now attempt exercise 5.2. 

Exercise 5.2 Arithmetic of CVP analysis 

Ndiovu Ltd. manufactures a single product, which has a variable cost of sale of $8Iunit 
and a sales price of $121unit Budgeted fixed costs are $24,000. 

Required: 

Calculate the volume of sales that would be required to achieve the following: 

a) Break8ven 
b) Eam a profit of at least $6,000. 

The contribution/sales ratio (CIS ratio) 

The CIS ratio shows how much contribution is eamed per $1 of sales revenue eamed. 
Since costs and sales revenuas are linear functions, the CIS ratio is constant at all 
levels of output and sales. It is used sometimes as a measure of performance or 
profitability, and in CVP analysis to calculate the sales required to breakeven or eam a 
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IaIg8t profit or the expeded tolaI conIribuIiOn at a given YOIume d sales and wIh • 
given CIS ratio. 

As an aIlamative method d calculation. 1he br e all8V8n point in sales ....... is 
calculated as fallows: 

11iIgJ.ftI t:GIIt1lIuII'aI JIladCDIU ~ I S,.., - C I S1'fIIIIrI 

Similarly, the sales volume needed to ac:hIeve. target profit is c:aIQ I.'all as 1bIIaws: 

1
.9sr1'lld~ _ RalCDIU+l'r.rIt 

• CIS1'fIIIIrI CIS,.., 

In exar:ise 5.2, 1he CIS ratio is 

14 1 
marllj" 

a) The tnakeven point is thalefore 

I R.,im'md!ihgljll) _ Sl4JI» 
CI SlIIIia n.ll" 

= m.000 ordividad by $12 = 6,000 ..... 

b) To achielftl a target profit d 16,000 1he AIqI.ftd ....... CIfcI 7 1 II III; 

IR~=WOD_= 
=$90,000 
or dMded by 12 
=7.500 ..... 

A company is oft8n faced wIh 1he decision .. to wI'IIIIhIr it IhcUd naIUfacII.n a 
COfnponent or buy it 0I1Isidlt. 

Suppose for exalllple, Il8lI1a$8nzu UtI. ..... four COfIlpOl_"" W. X. Yand Z. will 
~ cosIa for 1he comillg year as foI1hs: 

I 

I 

I 

I 

l _________ J 
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w X Y ._----_ ....... _-_ .......... _ .. 
Production (units) 1.000 2.000 4.000 
Unit marginal costs $ $ $ 
Direct materials 4 5 2 
Direct labour 8 9 4 
Variable production overheads 2 ~ 1 

14 lZ Z 

Direct fixed costs/annum and committed fixed costs 8f8 as follOWS: 

Incurred as a direct consequence of making W 
Incurred as a direct consequence of making X 
Incurred as a direct consequence of making Y 
Incurred as a direct consequence of making Z 
Other committed fixed costs 

Z 
3.000 
$ 
4 
6 
2 
.12 

1.000 
5.000 
6.000 
8.000 

30·000 
50.000 

A subcontractor has offered to supply units W. X. Y and Z for $12. $21, $10 and $14 
respectively. 

Decide whether Masanzu Ltd. should make or buy the components. 

Solution and dlscusston 

a) The relevant costs are the differential costs between making and buying. They 
consist of differences in unit variable costs plus diffel'ences in direcIIy attributable fixed 
costs. Subcontracting win result in some savings on fixed cost. 

W X Y Z 
$ $ $ $ 

Unit variable cost of making 14 17 7 12 
Unit variable cost of buying .12 21 .1D 14 

(2) .::i 2 2 
Annual requiremenls In units 1.000 2,000 4,000 3,000 
ExIra variable cost of buying per annum (2,000) 8,000 12.000 8.000 
FIXed cost seved by buying .1.llI!Il §.OOQ §.OOQ I!.OOO 
ExIra total cost of buying (tOOQ) .tOOO §.OOQ (2.OOQ) 

b) The comPany would save $3,OOOIannum by sub-contracting component W, and 
$2,OOOIannum by sub-contracting component Z. 

c) In this example, releyant costs are the yarlable costs of in-house manufacture, the 
Yariable costs of sub-contracted units, and the saYing in fixed costs. 

d) Other Important conskIerations 8f8 as foHows: 

i) If components W and Z are sub-contracted. the company will have spare 
capacity. How should that spare capacity be profitably used? Are there 
hidden benefits to be obtained from sub-contracting? Will there be 
resentment from the workforce? 
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i) Would the sub-contractor be reliable with delivery times • .-.d is the <II B IM)''' 
same as those rnanufac:tlnd intamaIIy? 

iI) Does the company wish to be flexible .-.d maiI ... l" beIIiIr COIllioI over 
openJIions by making 8Y8I')ti'Ig iIMIr? 

iv) Are .. estirnateI of fixed costs savings nllllle? In .. C8I8 of pnICl.tct W, 
buying is c:IearIy che ape!' than rrtillci '" in-hoI.M. He...".. for pnICl.tct Z. .. 
decision to buy rather than make would only be fin.nclally .clve ... 
fixed cost savings of $8,000 could be delMlnKl by managemellt. In pc-Ice. 
this may not I~ 11 111 1 lill . 

Now aII8mpt _die 5.3. 

Exercise 5.3 ..... or buy 

The ~, a component used by Goya Menufac:tuItng 1Jd., is W:orpOI I ct_. number 
of Its completed products The ~ is pt.Id as. d I'ram a IUK II rat$Z.5O per~ .. 11 
and some 20.000 ant used annually in producIIon. 

The price of $2.50 is COI'ISideAId to be camp ..... .-.d the suppllr hal maillIIiIlIId 
good quality service over .. last lYe years. The producIIon a!gil • ar'.", depaItIl .... at 
Goya Manufacb.mg lid. has submiIIad • propa la' to manufacILn .. ~ in-house. 
The variable cost per unit produced is estimat8d aI $1.20.-.d adltilIlIII ...... fixad 
costs that would be incuTed if the Pip W8I'8 rnanufac:bnd ant esIi. II. ct81 $20,800. 

a) DeIarrni Ie whether Goya Manufacturing UtI. should COl ...... to pt.Id al ... ~ 
or manufadure It in-house. 

b) Irodicata .. level of producIIon I1IIqI.Iired that would make Goya IIIanuIec:Uing 
lid. decide in favour of manufadurIng .. ~ 1IaeIf. 

Shuldown problems 

Shuldo",n problems involve the fallowing types of d«islon.: 

a) V.JheIher or not to dole doWn • factory, depMlI ..... pcocb:t ... or __ 
adivIy. aiIher becausa It is making Ios .. s or ... _. islDo expeI.we to 
n.n. 

b) If the decision is to stwt down, wh8Iher .. closure should be peI'._ or 
tan!pOl8lY. Shutdown decisions often irMIIve long tInn COIIlidalIIIiDI •• .-.d 
capital expIIlCiIunIs .-.d I1IY8fIU8S.. 

c) A shutdown should result in savings in ...... 0peI1IIII", costs for a number of 
years in .. fulura. 

d) CIosI:n results in re'ease of some fixad ...... for ..... Some I I ats mighI 
have a smaI saap vakae, but oIhers, e.g. pcopelty, mighlhave a subs_ 'al 
sale value. 

.) ErnpIolJees affedad by .. cIosIn must be made NdLndant or reIo+ 7 d, 
peihaps even oIf8I'ed earty leIi.nena. There wII be ..., sums .,.,..,...,.. 
involved which must be taken in50 Conllidell17loh. For 8Ii8InpIa. SI.WJS8 
closure of • regiollal oIfice ..... in ...... savings of '100,000, fixad 
assats sold off for $2 ...-on, but ntdI.nI8nc:y ".'D8I1" would be sa ""L 
The shllidown decision would involve ., 8111111'D811l of .. nat ........ cost 
of closure ($1 million) against the annual benefits ($100,000 per avun). 
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It is possible for shutdown problems to be simplified into short run decisions, by making 
one of the following assumptions 

a) Fixed asset sales and redundancy costs would be negligible. 
b) Income from fIXed asset sales would match redundancy costs and so these 
items would be self-cancelling. 

In these circumstances the financial aspects of shutdown decisions would be based on 
short run relevant costs. 

Now attempt exercise 5.4. 

Exercise 5.4 Adding or deleting products 

Brass Ltd. manufactures three products, Swans, Ducks and Chicks. The present net 
annual income from each item is as follows: 

Swans Ducks ChIcks Total 
$ $ $ $ 

SsIes 50,000 40,000 60,000 150,000 
Variable costs 30.000 25.000 35·000 l&OOO 
COntribution 20,000 15,000 25,000 60,000 
FIxed costs 1Z.m!!l 18·000 20,000 55,000 
Profit/(loss) MOO <MQID M!lJl 5.000 

Brass Ltd. is concerned about its poor profit performance, and is considering whether or 
not to cease selling Ducks. It is felt that selling prices cannot be increased or lowered 
without edversely affecting net income. $5,000 of the fixed costs of Ducks are direct 
fixed costs which would be saved if production ceased. All other fixed costs will remain 
the same. 

a) Advise Brass Ltd. whether or not to cease production of Ducks. 
b) Suppose, however, it were possible to use the resources reeMsed by stopping 
production of Ducks, and switch to produce 8 new item, Eagles, which would 
sell for $50,000 and incur variable costs of $30,000 and extra fixed costs of 
$6,000. What win the new decision be? 

Breakeven analysis 
Contribution/sales ratio 
Cost-volume-proflt analysis 
Decision making 
Make or buy decisions 

Key terms 

8' 

Opportunity costs 
Profit-volume charts 
Relevant costs 
Shutdown 
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Chapter 6 - Investment decisions -
Capital budgeting 

Chapter objectives 

This chapler is i d8i Idad to provide: 
• An IA"IdeIstandlnO of Ihe Impoflance of· ..... bwlgBlillg In 

marketing cIec::isicln maII:inG 
• An explanation of Ihe difI'eIent types of inv a b.all Ploject 
• An inIroduction to Ihe 8COI1OInic evaIIlllillll of!moB b.alt 

proposals 
• The importaIlCe of Ihe COIIC8Pl and ,...,' ?ian of nat PI'. lint 

value and Internal rata of Allum In _ision making 
• The advaIlIages and c:IIsadvantages of Ihe paybetk rtI8Ihod 

as a techilique for IniIiaI SCI8IIing of two or men 
competiIlQ projedS. 

CapiIaI budg Illig is vila! illn8ItetiIlQ deci_ .. Oed_IS on Inv I t.tf. which .... 
time to malin, have to be based on Ihe I'8IumI which 1tIat in ...... ltwil i11IRt. 
Unless Ihe project is for social nt •• tillS only, if Ihe imra I .allis UllPlofiIIIbIa illhe 
long 1\11, it is unwise to Invast ilit now. 

Often. it would be good to know what Ihe prla ant value of Ihe futln Inu II b,alt Is, or 
how long it wiI take to malin (give 1'8IumI). It could be nu:h men PlofiIIIbIa puDIg 
Ihe planned invesb"e.1t money in Ihe bank and eamilg illilfest, or invlslilQ iI an 
aIIarnatlYe project 

Typicallnvesbll8l'lt dIdsioilS include Ihe decision to buId anoIwgntln lID. caIon 
Oil or cold stDnt or Invast in a new disIIibuIion dIpot. At a lower IIMI, mM • tara may 
wish to .,.'. whether to spend men on adw8l1lsil1Q or i1cnt11 a Ihe ..... fan:e, 
aIIhough it is difficult to I1'I8IIStft Ihe sales to acMItisiIlQ raIio. 

Structure of the chapter 

CapiIaI budg BIiIQ Is WIlY CIbvicIusIy • viIaI acIi¥IIJ iI buill II. V8at _ of 1i1OI.., 
can be easily ..,aslld if Ihe mast.WIt Una cd to be wrong or UI'IICOIIOIIIic.. The 
SlIbject maIlar Is difficult to 0I8IP by naIUnt of Ihe topic cownd and aIIo becM_ of 
Ihe maIhamaIicaI COIII8I.t iMlIved. However, it aeeIcs to buId on Ihe concept of Ihe 
futln value of money which may be spent now. It doestNs by "" •• 10 .. 
tecmiques of net present value, inI8maI rata of Allum and annuiIieI. The timing of 
cash flows ant impoI .. d in new inYesb.18I1l decisiona and 10 Ihe c:haptai looks at tNs 
"payback" COIICapl One Ploblem which plagnes denlDPiIQ CCUiIries .. "' ............ 
.... which can, iI some casas, exceed 100c. per ........ The c::hap1i818I'Ids by 
showing how marital. I can .... tNs iI to ~ 

Capital budgeting vers .. current expendIturM 

A capital invesblWlt project can be distinguished from c:mant uplndilunts by two 

,,-__ fea_4ur_ntS_: ______________ .. / 
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a) such projects are relatively large 
b) a significant period of time (more than one year) elapses between the 
investment outlay and the receipt of the benefits .. 

As a result, most medium-sized and large organisatiOnS have developed special 
procedures and methods for dealing with these decisions. A systematic approach to 
capital budgeting implies: 

a) the formulation of long-term goals 
b) the creative search for and identification of new investment opportunities 
c) classification of projects and recognition of economicaHy and/or statistically 

dependent proposals 
d) the estimation and forecasting of current and future cash flows 
e) a suitable adrninistrelive framewot1< capable of transferring the required 

information to the decision level 
f) the controlling of expenditures and careful monitoring of crucial aspects of 

project execution 
g) a set of decision rules which can differentiate acceptable from unaccepJlebie 

altematives is required. 

The last point (0) is crucial and this is the subject of later sections of the chapter. 

The classification of investment projects 

a) By project size 

SmaH projects may be approved by departmental managers. More careful analysis 
and Board of Directors' approval is needed for large projects of. say. half a million 
dollars or more. 

b) By type of benefit to the firm 

• an Increase in cash flow 
• a decrease in risk 
e an indirect benefit (shotMIrs for wof1(ers, etI;:). 

c) By degree of dependence 

• mutually exclusive projects (can execute proJecfA or B. but not both) 
ecomplementary projects: taking project A increases the cash flow of project 
B. 
• substitute projects: taking project A decreases the cash flow of project B. 

d) By degree of statistical dependenca 

• Positive dependence 
• Negative depelldence 
• Statistical independence. 

e) By type of cash flow 

• Conventional cash flow: only one change in the cash flow sign 
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r. 

e.g • ..{. I I I or +1-. etc 

• NorH:onventiona cash laws: more 1han one change in the cash tow Sign, 

e.g. +/-1+++ or -1+/-/++++, etc. 

The economic evaluation of investment proposaIe 

The analysis stipulates a decisioll rule for: 

I)ac:ceplilgor 
II) rejecliJlg 

The time vaII.e of mol.., 
Recal that the intenIction of lelldars with barRIL)'" sets an eqI.iIIbrium ... of 
inlerest Boilowing is only worthwhiIa if the return on lie loan •• , I dille COlt of lie 
!lammed funds. Landi Ig is only worthwhiIa if the return is at ......... to IIat wI*:h 
can be obtailed from aItIiImaIive opportunities in lie .... risk ~ 

The intaIest,... rac:eiYed by the IandII is made up of: 

i) The time value of money: the AIIC8IpI of money is pial'a.ed 1I00I .......... 
later. Money can be used to earn more money. The .... lie money is 
RlC8tIlld, lie greatar the potanIiaI for inaaasilg waalltt. lluJ, to bego lie 
use of money. you must get some compensnfo."i. 

i) The risk of the c8l'" am not being repeld. 1lIIs unceIlI6., ..... . 
premk.m as a hedge against the risk, henca the Mum must be CO" ... "" 
with the risk being I.mdertaken. 

Ii} InIIaIIon: money may lose Is pi.RhasinQ power OVW' time.. The lei. must be 
compenl Ell d for the dedi.1g spencIirIg/puIct ling power of mona,. If ... 
lander raceives no compensation, hIIIIhe wiI be WOI'I8 off when lie loan II 
iapaid 1han at the time of IencIing the money. 

Future "... (FV) is the WIIue in doIars at some point in the fuUe of one or ...... 
inYIIStments. 

FV COfllills of: 

I) the original am 01 money inIIaRed, and 
i) the Mum in the form 01 inIInst 

The gerIIII1II bmuIa for compuIing Future Value ... faIoIns. 

I FV. = V. (1 + ". 

8'-1 

I 
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V. is the initial sum invested 
r is the interest rete 
n is the number of periods for which the investment is to receive interest. 

Thus we can compute the future value of what V. will accumulate to In n years when it 
is compounded annually at the same rate of r by using the above formula. 

Now attempt exercise 6.1. 

exercise 6.1 Future values/compound InteI"eIIt 

i) What Is the future value of $10 invested at 10% at the and of 1 year? 
ii) What is the future value of $10 invested at 10% at the end of 5 years? 

. We can derive the Present Value (PV) by using the formula: 

I FV.:: V. (I + rt 

By denoting V. by PV we obtain: 

I FVn " PV (I + rt 

by dividing both sides of the formula by (I + rt we derive: 

Rationale for the formuIe: 

As you wiD see from the follOwing exercise, given the aItemative of eaming 10% on 
his money, an individual (or firm) should never offer (invest) more than $10.00 to 
obtain $11.00 with certainty at the end of the year. 

Now attempt exercise 6.2 

Exercise 6.2 PI ..... value 

I) What Is the present value of $11.00 at the end of one year? 
Ii) What Is the PV of $16.10 at the end of 5 years? 

b) Net present value (NPV) 

The NPV method is used for evaluating the desirability of Investments or projects. 



whara: 

Co = lie net cash receipt at lie end of,... t 
I" = the initial iMIstIloent outlay 
r = lie discount rateIIhe required minImI.In nita or Allum on inva Imenl 
n = the projectIinvestms duration in years. 

The discooot facIor r can be c:abda18d using: 

I "'-0-(1: if 

I 
q(l. un" - - - DJ091 U 

I 
IOJIM)----;;r -1l1llM 

(I . ..., 

1 1O.11M)--;r-1l1S1l 
(I-II 

N.B. At this point the tutor should inIn:Iduc:e lie net PI.I. nt vall.- tables fRIm 
eny nJCOgI'Iised pubIsIl8d 1OlI't:e_ Do !hal now. 

Decision rule: 

Now iIiIIIBmpt exerti •• 6.3. 

EMI~I .. I.S NIt PIli I It value 

A firm illlnds to Invest $1.000 in 8 Plojac:t!hal geI.lllld nit ....... of saoo. $800 
and $800 in lie first, secolld and thin:J years respectively. ShoI*IIIe firm go aha Id 
wIIh the project? 

AIl8IIIJ111; the caIcuIaIion without 1 •• 108 to nat pra I a nt vall.- tableslirll 

c) AnrIuiIIM 

N.B. Ir*oclIca SIudIIrda to amuily tabIeI fRIm .." itlCDQiized ",dlllled 
ICILR8. 

A set of cash flows !hal are equal in each and cwery period is c:aIIed an annuilJ. 

8b 

I 

I 

I 
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Example: 

___ VeaL c~ Flow ($) 
o ~-=~-

1 400 
2 400 
3 400 

PV = $400(0.9091) + $400(0.8264) + $400{0.7513) 
= $363.64 + $330.56 + $300.52 
=$994.72 
NPV = $994.72 - $800.00 
=$194.72 

Alternatively, 

PV of an annuity = $400 (PVFAt.i) (3,0,10) 
:: $400 (0.9091 + 0.8264 + 0.7513) 
= $400 x 2.4868 
== $994.72 
NPV = $994.72 - $800.00 
== $194.72 

d) Perpetuitiee 

A perpetuity is an annuity with an infinite life. It is an equal sum of money to be paid in 
each period forever. 

I pv of aJlflllletui1y= ~ 
where: 

C is the sum to be received per period 
r is the discount rate or interest rate 

Example: 

You are promised a perpetuity of $700 per year at a rate of interest of 15% per 
annum. What price (PV) should you be willing to pay for this income? 

PV-~ 
ntS 

=$4.666·67 

A perpetuity with growth: 

Suppose thet the $700 annual incOme most recently received is expected to grow by 
a rate G of 5% per year (compounded) forever. How much would this income be 
worth when discounted at 15%? 

l_~_'_: _____ ) 
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SubIract the \JIOtYth rate from the discount rate and traat the first period's cash !low as 
8 perpetuity. 

PV.C(1+G) 
R-G 

~+D..OS) - DlS-8.0S 
• S1DO(LDS) 

OlD 
= $735/0.10 
=$7.350 

e) The inIemIII ..... of rabm (IRR) 

Refarstudanls to the tables In my ~ ,... .. I8d~ 
• The IRR is the discount ..... at whic:h fie NPVfGra pRIjIId .. III ZIWO. ThiI 

rate me_ that the pre Ie nt value of the cash InIIowIfGr the PlojId .... 
equal fie pnI nnt value of Its ouII'Iowa. 

• The IRR is the break-even discount ...... 
• The IRR is foI.nI by trial and ertOI'. 

IRR of an 8I1Id.y: 

I QII."-~ 
where: 

Q (n,r) is the discount fa::IDr 
Ie is fie inIIIaI 0I..dIay 
C is the lIliIOmI annual raceipI (c, • Ca ...... c,.). 

example: 

What is the IRR of an equal annual illCOI1I8 of $20 per arwun whic:h acc:rwa fGr 7 
yeIn and c:osIs $1201 

CX1.~- s~za 
=8 
From the tablas. 4" 

Econonlic lalloi ale fGr IRR: 

If IRR exceeds cost of capital, project is worthwhile, I.e. it is profitable to 1.l'ldeltaM. 
Now all8mpl exercise 6.4 
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Exercise 6.4 Internal rate of return 

Find the IRR of this project for a firm with a 20% cost of capital: 

o 
1 
2 

a) Try 20% 
b) Try 27% 
c) Try 29% 

YEAR 

-10,000 
8,000 
6,000 

CASHFLQW 
$ 

Net present value vs internal rate of return 

Independent va dependent projects 

NPV and IRR methods are closely related because: 

i) both are time-adjusted measures of profitability, and 
Ii) their mathematical formulas are almost identical. 

So. which method leads to an optimal decision: IRR or NPV? 

a) NPV va IRR: Independent projects 

Independent project: Selecting one project does not preclude the choosing of the 
other. 

With conventional cash flows (-1+1+) no conflict in decision arises; in this case both 
NPV and IRR lead to the same accept/reject decisions. 

Figure 8.1 NPV vs IRR Independent projects 

NPV 

NPV(k) 

k, ~.' CitlCOU'lt r... ~ . 
NPV(k2) •••••••••••••••• - _._ ••• _. -_. --. -. - .... ~ 

If cash flows are discounted at kl. NPV is positive and IRR > k1: accept project. 
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If cash flows 81'8 disc:owIted at kz. NPV is negative 8'1d IRR < kz: nIjeC:t .. pnlj8ct 

MathemaIicaI plOOf: for a pmjacI to be acapbiIbIIt ... NPV must be ~ silMt,le. 

Similarly for .. same pmjacI to be ac:captaIlfe: 

wheAt R is .. IRR. 

.1mpIidIIy1lnluillvely R must be 01 ! rt r than k (R > k); 

.If NPV = 0 then R = Ie: .. company is incIiIraanl aD IUd1 a pnIjad; 
• Hence. IRR 8'1d NPV lead to .. same decillion in !his GIS8. 

b) NPV vs JAR: Dependent prajectI 

NPV dashes with IRR where mutually exclusive pojects .... 

Example: 

AgriIex is consIder'oilQ building eiIher a one-stOIay (Project A) or tMI ,bay (Piojac:t B) 
block d oftIceS on • prime .... The role wing .lbllaallon Is av,I.* 

"'.500 
-15,000 

Assume k = 1cw., which pmjacI should Agritax 1.R1IdertiIke? 

NW.,.- .IUOII_ .... 
U 

-1954,55 
~_I1I·_-S111D1 

U 
=11.383.84 

Both projects 81'8 done-yew dInIion: 

SII,SllO .... 
IRRa= I+R.,. 
111,500 = •. 500 (1 +RN 
'lUOO 
S9,.500 .1 + R" 

qO 

11.500 
18,000 

I 

I 
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R .lnSOD_l 
'" 19,500 

= 1.21-1 
therefore ~ = 21% 

S18,ODO • Sl5,OOO 
IRAe: I+R. 
$18,000 = $15,OOO{1 + Ra) 

Ru. '111.0110 -1 
SI5,OOO 

= 1.2-1 
therefore IRA. = M 

Decision: 
Assuming that k = 10%, both projects are acceptable because: 

NPVA and NPV8 are both positive 
IR~ > kANO IRRa > k 

Which project is a "better option" for Agr1tex? 
If we use the NPV method: 

NPVB ($1,363.64) > NPVA ($954.55): Agritex shoukt choose Project B. 
If we use the IRR method: 

IR~ (21%) > IRRa (20%): Agr1tex should choose Project A. See figure 6.2. 

Figure 6.2 NPV vs IRR: Dependent projects 

$1363.64 

5954.55 

20"4 21% 
Olaoount ,a1. 

Up to a discount rete of k,,: project B is superior to project A, therefore project B is 
preferred to project A. 

Beyond the point ko: project A is superior to project B, therefore project A is preferred 
to project B 

The two methods do not rank the projects the same. 

Differences In the scale of Investment 

NPV and IRR may give confIicIIng decisions where projects differ in their scale of 
investment. Example: 

en 
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Projec:t A 
Projec:t B 

Assume It: 10'lL. 

o 
-2,500 

-14,000 

1 
1,500 
7,000 

NPV. :: $1,500 X PVFA at 10'lL for 3 years 

2 
1,500 
7,000 

:: $1,500 X 2.487:: $3,730.50 - $2,500.00:::: $1.230.50. 

NPV. = $7,000 X PVFA at 10'lL for 3 years 
:: $7,000 X 2.487:: $17,409 - $14,000 = 13.109.00. 

I., S:l,500 -.-
IRRA. C~ SI,500 = 1.87. 

Thelefote IRRA = 36% (from the tables) 

I. 814.000 
IRRa. c; • nlJllll :: 2.0 

Theielo.-e IRRa = ~ 
Dac:ision: 

Confliding, as: 

• NPV PI"'" B to A 
• IRR Plarers A to B 

Projec:tA 
Projec:t B 

See figure 8.3. 

NPV 
$3,730.50 
$17,400.00 

figure 1.3 Salle fIIlnu. bJiWD 

NPV 

• . 
0 ! 

20'11. ,,% 30% 
OiscClunl ,. 

q~ 

IRR 

s 
1,500 
7,000 

.J 
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To show why: 

i) the NPV prefers B. the larger project. for a discount rate below 20% 

it) the NPV is superior to the IRR 

a) Use the increInEIntal cash flow approach. "8 minus A" approach 
b) Choosing project 8 is tantamount to choosing a hypothetical project "8 
minus A". 

Project B 
Project A 
"8 minus A" 

o 
-14.000 
-2.500 
-11.500 

7,000 
1.500 
5.500 

1 
7.000 
1.500 
5.500 

_ .:::'1:::=1.::::::
5 °:::-° 

IRR"B~A' IS.soD =2.09 =20% 

c) Choosing 8 is equivalent to: A + (8 - A) = 8 

2 
7.000 
1.500 
5.500 

3 

d) Choosing the bigger project 8 means choosing the smaller project A plus 
an additional outfay of $11.500 of which $5.500 will be reaHsed each year for 
the next 3 years. 

e) The IRR"8 _A" on the Incremental cash flow is 20%. 

f) Given k of 10%. this is a profitable opportunity. thelafont must be accepted. 

g) But, If k were greater than the IRR (20%) on the incremental CF. then reject 
project 

h) At the point of intersection. 

NPVA = NPV8 or NPVA - NPVa = O. Le. Indifferent to projeds A and 8. 

i) If k = 20% (IRR of "8 - A") the company should accept project A . 

• This justlfiQa the use of NPV criterion. 

Advantage of NPV: 

• It ensures that the firm reaches an optimal scale of in .... nent. 

Disadvantage of IRR: 

• It expresses the return in a percentage form rather than in terms of absolute 
dollar returns. e.g. the IRR will prefer 500% of $1 to 20% return on $100. 
However. most companies set their goals in absolute terms and not in % 
terms, e.g. target sales figure of $2.5 million. 

The timing of the cash flow 
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The IRR may give confIicti '" decisions where the timing of C8Ih tIows vaies belI:118 .. 
the 2 projeds. 

Note that IniIiaf outlay .. Is the same. 

PIojec:;t A 
PlojecIB 
"A minus B" 

Assume k "10% 

o 
-100 
·100 
o 

1 
20 

100 
-10 

2 
125.00 
31.25 
111.15 

NPV 1M 
17.3 
18.7 
o.e 

IRR Plef8fS B to A even though both projeds have IclentiCalIniliaf ouaa,s. So. the 
decision Is to acx:ept A. that Is B + (A - B) = A. See figI.n 8.4. 

NPV 
117.30 

$1tI.70 

0.6 

Figure 6A TimIng of the cash flow 

o .. ______ ~~ ____ ~ ..... --~~ 
1(lft 2O'Mo 
DiIcount ..... 

The hod_II problem 

NPV and IRR rankings .. contlarficloiy. Project A ...... $120 Ill .. and of the tnt 
yearwhile project B earns $174 III the end of the fourth year. 

0 1 2 ' 3 4 
ProjecIA " ·100 120 
ProjecI B -100 174 

Assume k. 10% 

q"'l 
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Payback is often used as a "first screening method". By this, we mean that when a 
capital investment project is being considered, the first question to ask is: 'How long 
will it take to pay back its cost?' The company might have a target payback, and so it 
would reject a capital project unless its payback period were less than a certain 
number of years. 

Example 1: 

Years 0 1 2 3 4 5 
Project A 1,000,000 250,000 250,000 250,000 250,000 250,000 

For a project with equal annual receipts: 

pp. 1. _ 11,110l,1li)0 
C, $251U100 = 4 years 

Example 2: 

Years o 1 2 3 4 
Project B -10,000 5,000 2,500 4.000 1,000 

Payback period lies beMan year 2 and year 3. Sum of money recovered by the end 
of the second year 

= $7,500, i.e. ($5,000 + $2,500) 

Sum of money to be recovered by end of 3rt! year 

= $10,000 - $7,500 = 52.500 

= 2.625 years 

Disadvantages of the payback method: 

• It ignores the timing of cash flows within the payback period, the cash flows after 
the end of payback period and therefore the total project return. 

• It ignores the time value of money. This means that it does not take into account 
the fact that $1 today is worth more than $1 in one yeal's time. An investor 
who has $1 today can either consume it immediately or alternalivaly can 
invest it at the prevailing interest rate, say 30%, to get a retum of $1.30 in a 
yeal's lime. 

• It is unable to distinguish between projects with the same payback period. 
• It may lead to excessive investment in short-tenn projects. 

Advantages of the payback method: 

l ________ ) 



.. 
• Payback can be important: long payback means • ar .... lad up .nd • 

imtWbi.lt risk. The method also has the __ daga IIat It irwohres a quidI, 
simple calculation .-Id an easily I.I'IdeI stood COIICIpl 

The accounIIng nde of ....... • (ARR) 

The ARR method (also called the Altum on capiIaI.,;pIo)ed (ROCE) or the Altum on 
im; a abueAt (ROI) meIhod) of appraising a capital project is to estill ' the 8CCCM1Iing 
rata of Altum that the project should yield. If It Itl«:BBds a target .... of nIILm, .. 
project will be undertaken. 

I ARRIIl .... iaIIlliItmid. .. ~AIIIDIPmlt aI'[R:I.+ (C-D)l 
Jar .. "". CIuIIr '- J 

NoI8I1at net annual profit _dudes depl8CiaIion. 

Exaiiple: 

A project has an initial outlay of $1 dillon and geMial I net ..... ofS2S0.000for 
10 years. 

AsIunkIg stnIight-Ine depraciaIion of $100,000 per year: 

.I2JI.DIII • '11lO,a = 11S11.D11O 
S1.000.000.2 SSIIO.OOIJ ._ 

DiIadvanIages: 

• It does lICIt takallCCOl.ft of lie In*IO of .. pnIIIa hili an inI: 1 ,MIl 
• ItImf*:illJ' 3IIUII'I8S stable cash nail. OWI!' ..... 
• It is based on 8CCCM1Iing profits .-Id not cash IIowI. AccounIinG profits .. 
Slibject 110. number of dilfanlnt 8CCCM1Iing In 7 i.a. 
-It is a raJaIhe measure ratherthan an absolute ma I ... .-Id hence ..... no 
accotI1t of lie size of the imiesblilWlt. 
• It takes no ac:cooot of the JengIh of lie pojec:t. 
• It ignoras the time value of money. 

The p8Jback and AM I1IIIIhods In IIn.ellce 

Despite .. liIIltations or the payback method. It is lie maltod most wIlIlly used In 
pnICtic:e. There ant a I'U'IIber of Ie&IOIII for this: 

• It is a particuIarty useful appIoach for I8llkiIog pn:IjacIs wheAl a firm facIIS 
IiquidII.y colinaillll .-Id IIIqUies fast repayn&'Il of 1m I Lt.a. 

I 
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• It is appropriate in situations where risky investments are made in uncertain 
mai1<ets that are subject to fast design and product changes or where future 
cash flows are particularly difficult to predict 

• The method Is often used in conjunction with NPVorlRR method and acts 
as a first screening device to identify projects which are worthy of further 
investigation. 

• it is easily understood by all levels of management. 
• It provides an important summary method: how quickly wig the initial 

investment be recouped? 

Now attempt exercise 6.5. 

Exercise 6.5 Payback and ARR 

Delta Corporation is considering two capital expenditl.n proposals. Both proposals 
are for similar products and both are expected to operate for four years. Only one 
proposal can be accepted. 

The following information is available: 

Initial imeslmenl 
Year 1 
Year 2 
Year 3 
Year 4 
estimated scrap value at tile end of Year 4 

ProflI/(Ioss) 
Proposal A Proposal B 

$ $ 
46,000 46,000 
6,500 4,500 
3,500 2,500 
13,500 4,500 

Loss 1,500 Profit 14.500 
4.000 4,000 

Depreciation is charged on the straight line basis. Problem: 

a) Calculate the following for both proposals: 

i) the payback period to one decimal place 
Ii) the average rate of retum on initial investment, to one decimal place. 

Allowing for inflation 

So far, the effect of ~ has not been considered on the appraisal of capital 
investment proposals. Inflation is particularly important in developing countries as the 
rate of inflation tends to be rather high. As inflation rate increases, so will the 
minimum rerum required by an investor. For example, one might be happy with a 
return of 10% with zero inflation, but if inflation was 20%, one would expect a much 
greater retum. 

l ________ J 
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Example: 

ACTUAL CASH FlOWS 

TIlE 
o 
1 
2 
3 

(100,000) 
I0,00O 
ao.ooo 
70,000 

zs 

Keymer F .... requires a minimum I8tLm of -iO'XI t.niar the prJ.llnt COl"''' 
lullation is cooentIy running at 3011' a year, and this is IIlq)8*d to con ..... 
indefinitely. Should KeYmar Farm go ahead with the project? 

Let us take a look at Keymer Farm's raquinId ..... d reUn. If 1m a 1'1 It $10.000 for 
one year on 1 January, then on 31 December it would ....... I ...... un reUn d 
$4,000. WIll the Initial inYasb,iWIt of $10,000, the tDIaI VIIIue of the m I '1_11 by 31 
December must Ina'll8la to $14,000. During the year, the pwd lIiFIIJ ... d .... 
doIIwwould tal due to illation. We can IBSt I the amount nK lived on 31 DecemIa 
in IaIms d the purd18Sing power d the doIIw at 1 January .. '* WE 

Amcx.I'It I1IC8ived on 31 December in ...... of the value d the doIIw at 1 January: 

_ $14,,000 

- (1.it "" S10.762 

In tarms of the value d the doIIw at 1 January, K8yn_ Fann would 1JIIIIII8. pmII d 
S789 which replllIl* a rate of reUn d 7.eecJf. in "IDday"a lllIOi..,. tIIImL 111iI ill 
known .. the raaI ..... of I8tLm. The raquinId rate d -iO'XI ill a nllOi.., rate d ..un 
(I0Il'.1 ... known .. a nontital nII8 of 18tLm). The inDi.., rate m .1 .... the NIum 
in IaIms of the doIIw, which is falling in value. The raaI rate me8II.I'8I .. ..un in 
COl iSIai d price IIMiII terms. 

The two ratas d I8tLm and the illftaIicIIl nII8 .. linked by" ecp IllalI: 

(1 + money nII8) = (1 + raaI nII8) x (1 + inlalloll raIII) 

In the ...... 

(I +0.40)""(1 +0.0169)][(1 +0.3)-~ 

So. which nII8 is used in cIIootmIing? As • rule d thumb: 

a) If the cash tows .. expIlll8d In fIarmI d 8dUIII 'ttl .... 1181 wII be 
i recaiOled or paid In the fuILn, the money ..... for dIscru1Iing II'IcUrI be 

l 
used. 

_______ .J 
qq 
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b) If the cash flows are expressed in terms of the value of the dollar at time 0 
O.e. in conslant price level terms}, the real rete of discounting should be 
used. 

In Keymar Farm's case, the cash flows are expressed in terms of the actual dollars 
that will be received or paid at the relevant dates. Therefore, we should discount them 
using the money rete of return. 

TIME CASH FLOW DISCOUNT FACTOR PV 
$ 4O'lii $ 

0 (150,000) 1.000 (100,000) 
1 90,000 0.714 64,260 
2 80,000 0.510 40,800 
3 70,000 0.364 25,480 

30,540 

The project has a positive net present value of $30,540, $0 Keymer Farm should go 
ahead with the project. 

The future cash flows can be re-expressed in terms of the value of the dollar at time 0 
as follows. given inflatiOn at 30% a year: 

TIME ACTUAL CASH FLOW CASH FLOW AT TIME 0 PRICE LEVEL 
$ $ 

0 (100,000) (100,000) 
1 90,000 1 89,231 

!I!J,OOllx ---r -
(1.30) 

2 80,000 1 47,337 
80.000 x 1-

(1.30) 
3 70,000 1 31,862 

70,000 x (I.ii)i' -
(1.3 

The cash flows expressed in terms of the value of the dollar at time 0 can now be 
discounted using the real value of 7.69%. 

TIME 

0 (100,000) 
1 89,231 

2 47.337 

3 31.862 

CASH FLOW 
$ 

DISCOUNT FACTOR 

1.000 

I 

7.69% 
PV 
$ 

(100,000) 
64,248 

40,804 

25,490 

30,540 

~ _____ The ___ N_PV __ iS_the ___ U_me __ a_S_be __ fo_re_. __________________________________ ~ 
100 
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ExpecIaHons or Inftation .nd the atrects or 1I.1ation 

When a manager evak .... a pcojad. or wtBl a IIhaNhaIder ...... 1111 hiIIh« 
imIe$tJ,MII'IIls, hefshe can only guess what the rata or inftationwll be. These GI,.I.W • 
• probably be wrong, at least to some 8Id8nt, as it is ._'1IIIy dIIic:dI to bee I 
the rata of inftation acantaIy. The only way in which tmeltailll:y about i ... 1ion can 
be aIIoIJIed for in project evaluallon Is by risk and OOCIItaiily anaI)sIs.. 

Inftation may be genetaI, that is, affediIlg prices of allcindI, or ... __ to ~ 
prices. Generalised i .-.1Ion has the following eft'eCIs. 

.) lillIaIion wII mean higher costs and higher III III pricaI.. It III dIIic:dI to 
predict the etrect of higher .. Ing prices on demand.. A company ... 
raiseS itS prices by 30%, because the gerl8laI rata 01 i .... 1111 III 3011., 
might surrar a serious tal in demand.. 

b) h"lallon, as it affects finallcing naads, III also going to IIfrecI g •• ''''' and 10 
the COlt 01 C8Jlilal. 

c) Since fixad assets and stocks • iller .... in money .... the ..... 
qual ,lilies 01 assels must be fii'IaIlC8d by ilCl'B 7 ! III amaunIS 01......... if 
the full.n rata of iillation can be predicted wilt some _ .. oI8CQdCJ, 
managemalt can work out how much exira " .. ICe the COIIIP8I"I wi! need 
and take steps to obIain it, e.g. by lncnI.sing l.lantiOl'l 01 .... ilgl, Of" 
oonowWlg. 

However. if the full.n rata of ill'lalion C8CWIOl be pclldic:lied wIh a ... tail amount 01 
aca.ncy. then management should estimaIe what it wi! be and ....... to obtain 
the exira tIiIanc:a acCOIdingly. PrcNisiOIlS should also be made to have acC1I1 to 
'conllllgency funds' should the rata of inflalloh ucnd ..... IaIico ... e.g. a higher 
bank cwerdlaft faciIily might be a.algld should the need .... . 

Marry dift'erent Pc opel all have been made for accounIing fur ... ,11 ail. Two., I NIS 
known as "CumInt purchasing power" (CPP) and "CumInt oost 8CCICU'IIing" (CCA) 
have been ,uggesmd. 

CPP ilia .,stIIIm of accounIing which makes adju"'llIII* to incOme and u, n.1 
values to aIIaw fur the gerl8laI rata of price illlillon. 

CCA III a sys&am which IIIkas &IClCCUIt of IpecIic price ..... on (I.e. c:m.1gIS in .. 
prices 01 specific: ISSets Of" groups of as .... ). but not 01 "l1li111 price i.. • ML It 
in¥oIvas adjusting &IClCCUIts to Atftac::t the CLmIIfIl values 0111 .... owned and UIId. 

At pni I ant, Ihent is very lillie fII8IIIAft of 8(Ii1MIIIMIIIt as to the ... appIOIICh to .. 
pcoblem oI'accounIing for ih1alion'. 90Ih these appcoachas .... baing dab .. d by 
thellCCOlJillaliCy bOIIll. 

Now illllllilapt .... cill 8.8. 

Exercin .. 811111at1on 

TA tlolclilgS III COI'IIIiderfng wfIeIta to iMIst in II new pracb:t ... a pracb:t .. 01 
ku',...rs. The oost 01 the fixad asset imlwment wcUd be 13.000.000 in ..... will 
$1.500.000 payable at once and the I1!St after one year. A fu1her imle "ilWt 01 
seoo.OOO in working capital wcUd be requited. 
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The management of TA Holdings expect alllheir investments to justify themselves 
financially within four years, after which the fixed asset is expected to be sold for 
$600,000. 

The new venture will incur fixed costs of $1,040,000 in the first year, induding 
depreciation of $400,000. These costs, excluding depreciation, are expected to rise 
by 10% each year because of innation. The unit selling price and unit variable cost 
are $24 and $12 respectively in the first year and expected yearly increases because 
of innation are 8% and 14% respectively. Annual sales are estimated to be 175,000 
units. 

TA Holdings money oost of capital is 28%. 

Is the product worth investing in? 

Accounting rate of return 
Annuities 
Capital budgeting 
Cashftow 
Classification of investment 
projeCts 
Compound interest 
Current cost accounting (CCA) 
Current p!.I1:hasing power (CPP) 
Dependent projects 
Independent projects 

Key terms 

, 0 4!!!! 

Innation 
Interest rate 
Internal rate of return 
Investment decision 
Net present value 
Payback period 
Perpetuity 
Present value 
Rates of return 
The time value of money 
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Chapter 7 • Sources of finance 

Chapter objec;tivea 

This chapIar is idandad flo pnMde: 
• An inIrodudion flo the cIIftIIwent IOUR:8I 01 ~1C8 &It 7 .... flo 

management. boII'I idiamal and extamaI 
• An overview 01 the acHaIdageS and «iIactw ...... 01 ...... It 

IOUR:8I 01 funds 
• An .. odeia1:aldng 01 the facfIOIs goueminO .. dIoice bebllan 

"'.1l1OUR:8l of funds. 

Soun:ing money may be dona for II variety of ... , ana. TndIIaI __ of need may 
be for • >4htai asset ~ 7 new mac:hII_y or .. canstrucIIan 01 II new 
building or depot The delo alapment of new products cal be .1Of1llCl!Jlly COIlIy and 
here again CBlHtaI may be required. NOllllllly. such deIIall)plnenta .. llaad 
illtemlily. wherllS capital for .. acquisiIIon of mac:hInery may CXIIII8 110m extamaI 
&CUC8I. In 1his day and age of Ight liquidity. mII1't OIg8lIiZl'h. hIMt flo Iac* for 
shoIt-term capital in the WfII't of ov.dlall or loans in Older flo pnMde II cash low 
cushion. InI8niIst rates can YeI'/ from organiZation flo OIganIzaIOIi and aIIO 8OCOIclilg 
flo purpose. 

Structu ... of the chapter 

This &tal c:hapIiar ...... by lac*ilg at .. variouI fomIa of ............ rna .... flo 
raiae new I:8Illa' and .......... Iings ......... 1OUI'C8. H17trl8vw. wI1iIII .... 
may be "uadlliuo1al'" ways of nlililg funds, they .. by no rna .... only ana Thant 
.. mII1't more IOUR:8I &Yall" to compania. who do nat wiIh to becoma "pdIIic:" 
by mBa.-.. of shira 111lIes. These aItamaIiwts include ... bOIl'OuilQ. gov ...... 1t 
asais_lCe. VWIILn capital and franchising. AI have their own adwaltagaS and 
clsalhadageS and degrall of riIk iIIIathed. 

Soun:es of funds 

• The Cll .... mabts: 

i) new shira islll". for _nple. by COIJ1IIIIlIl acquiring • atock 
marIc8t lilting for .. firIt time 

i) rIgtiIs --

• ...... atock 
• Retained _lings 
• Bank bon'Owlng 
• Gov. i 1118111: IOUR:8I 

• BusiMss expansion sdieme funds 
• Venta.n capital 
• FraiChising. 
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Ordinary (equity) shares 

Ordinary shares are Issued to the owners of a company. They have a nominal or 
'face' value, typically of $1 or 50 cents. The market value of a quoted company's 
shares bears no relationship to their nominal value, except that when ordinary shares 
are issued for cash, the issue price must be equal to or be more than the nominal 
value of the shares. 

Defened ordinary sharws 

are a form of ordlnary sfIares. which are entitled to a dividend only after a certain date 
or if profits rise above a certain amount. Voting rights might also differ from those 
attached to other ordinary shares. 

Ordinary sharel1oldel'S put funds into their company: 

a) by paying for a new issue of shares 
b) through retained profits. 

Simply retaining profits, instead of paying them out In the tonn of dividends. offers an 
important, Simple low-cost source of finance, although this method may not provide 
enough funds, for example. if the firm is seeking to grow. 

A new issue of shares might be made in a variety of c:IIfrMImt cirourrIstanc:e: 

a) The company might want to raise more cash. If It issues ordinary sfIares for 
cash. should the sfIares be issued pro reta to existing shareholders, so 
that COI,bol or ownership of the company is not affected? If, for example. a 
company with 200,000 ordinary shares in issue decides to Issue 50,000 
new shares to raise cash. should it offer the new sfIares to existing 
shareholders, or should it sell them to new shareholders instead? 

i) If a company sells the new shares to existing shareholders in 
proportion to their existing shareholding in the company, we have a 
right$ issue; In the example above, the 50,000 sfIares would be 
issued as a one-in-four rights issue, by offering shareholders one 
new share for every four shares they cummlly hold. 

ii) If the number of new shares being issued is small compared to the 
number of shares already in issue, it might be decided instead to sell 
them to new shareholders, since ownership of the company would 
only be minimally affected. 

b) The company might want to issue shares partly to raise cash, but more 
importantly to floar its shares on a stick exchange. 

c) The compeny might Issue new shares to the shareholders of another company, 
in order to take it over. 

New shares Issues 

l· A company seeking to obtain adc:IItional equity funds may be: i 

--------) 
'04 
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a) an unquoted company wishing to abt8In a SIDc:k Exdlatge q.d hI! 

b) .. unquoted company'.uishing to laue new ....... bulwIhaul a:tJlwi.1O 8 
SIDc:k Exchange quotallun 

c) a company whic:h is a/nIady Isted on the SIDc:k ExI:hange wial_1O to laue 
additional new shants. 

The meIhods by whic:h .. unquoted company can abt8In • qlM1taII!lI1 on the IIIOCt 
market are: 

a) .. offer for .... 
b} a pRMIpeCII. laue 
c) 8 placillO 

. d) .. 1nIroduction. 

Offers for sale: 

An offer for sale is a rna_ of saling the ....... of 8 com".., to .. .,.1IlIIe 
a) An "'Iqlloted company may laue .... _. and then ... them on .. SIrx:k 

Exchange. to raise cash for the COIl.,..,. AI the .... _ in the COi'I"'''. 
not just the new ones, would then become madI8IabIe. 

b) ShanII'IcIIdfn in .. W'lqliOIed company may ... _ of their.1 IiIO 
shanJI to the gellaral public. When IhiI occuns. the COlli, • ., Is not I ' . ng 
any new funds, buljust providing 8 wldar'marketforls .d.1 10 It_ (al 
of whic:h would become marketable). and giving exiStillO ..... lCIIdets the 
chance to cash in some or aI of their invl.bl"" in Iheir COIIIPIIRr. 

When COi'I!p8f1ln 'go p.dc' for the first time, • 'IaIge' ........ ababIJ ..... 
fonn of .. offer for ..... A Imalar laue II mont IbIy to be a plldlG. lira .. 
8II'IOlri to be raised can be obtained mont cheaply" the Issuing house or oil.­
sponsoring firm approachIs selected inItIIutionaI im nlDlS prill 7 I). 

RIgI ........ 

A rights laue pRMdes a way of Rising new shant capital by rn.lns of an off8r to 
exiStiI 10 ""ahokIers. invIling them to .lbtIaibe cash for new st._ in ,,101'011100'1 to 
their mdsting hokIngs. 

For ...... 8 righIs laue on • one-I'IDr-ftv baIiIa 280c per .... would ..... 
that a COi'I.,.., II invIling Is exilli 10 shar8hoIdera to _"":0 ibe for orwa new shant for 
fINfIIIIJ four shares they hold, at a price of 280c per new ..... 

A company making a righIs laue must sat a price which II low enough to sean the 
accaptance of st •• "'IoIders. who are being asked to provide 8ldI'8 funds. but not 100 
low, so as to avoid 8ICCIIsMI diIuIion of the ... _. per ..... 

PtefeiellC8 shares hava a ftxed peroantage dividend befoIe.., dNi_1d Is pail to 
the ordinary sharehoIcIers. As wiIh on:Iinary shins a peJeianc:e dMdand can only be 
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paid if sufficient distributable profits are available, although with 'cumulative' 
preference shares the right to an unpaid dividend is carried fOlW8ld to later years. 
The arrears of dividend on cumulative preference shares must be paid before any 
dividend is paid to the ordinary shareholders. 

From the company's point of view, preference shares are advantageous in that: 

• Dividends do not have to be paid in a year in which profits are poor, while 
this is not the case with Interest payments on long term debt (loans or 
debentures). 

• Since they do not carry voting rights, preference shares avoid diluting the 
control of existing shareholders while an issue of equity shares would not. 

• Unless they are redeemable, issuing preference shares will lower the 
company's gearing. Redeemable preference shares are normally treated as 
debt when gearing is calculated. 

• The issue of preference shares does not restrict the company's borrowing 
power, at least in the sense that preference share capital is not secured 
against assets in the buslnass. 

• The non-payment of dividend does not give the preference shareholders the 
right to appoint a receiver, a right which is normally given to debenture 
holders. 

However, dividend payments on preference shares are not tax deductible in the way 
that interest payments on debt are. Furthermore, for preference shares to be 
attractive to investors, the level of payment needs to be higher than for interest on 
debt to compensate for the adcfltional risks. 

For the investor, preference shares are less attractive than loan stock because: 

• they cannot be secured on the company's alsets 
• the dividend yield traditionaUy offered on prefetence dividends has been 

much too low to provide an attractive Investment compared with the 
interest yields on loan stock in view of the additional risk involved. 

Loan stock 

Loan stock is long-term debt capital raised by a company for which interest is paid, 
usually half yearly and at a fixed rate. Holders of loan stock are therefore long-term 
aeditors of tha company. 

Loan stock has a nominal value, which is the debt owad by the company, and interest 
is paid at a stated ·coupon yield" on this amount. For example, if a company issues 
10% loan stocky the coupon yield will be 10% of tha nominal value of the stock, so 
that $100 of stock will recalve $10 interest each year. The rate quoted is the gross 
rate, before tax. 

Debentures are a form of loan stock, legally defined as tha WI'itten acknowledgement 
of a debt incurred by a company, normally containing provisions about the payment of 
interest and the eventual repayment of capital. 

. Debentures with a ftoatlng rate of interest 

l~_~ _____ ~/ 
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These ant debentures for which the coupon rate of ilt8o'elt can be d'I8Ilg1d by lie 
issuer, in acx:ordance wiIh changes in market rates of inl&iast. They may be atllaclive 
to both IendeIs and borroOllel'S when inl&iest rates ant volatile. 

SecIA'fty 

Loan sIoct and debentures wII often be IIJQ.I!Id. SacurIly may .... lie fann of ..... 
a fixed dIeIfIe or • fIo8tin(1 dIeIfIe . 

• ) FIx8d cha .... ; SacurIly would be r 'alad to • apec:iIic __ or ... of 
assets, typically land and buildings. The COIIII*I)' would be I.I'IIIbI8 to 
dispose of the asset without providing a sub$tiIula asset for sec:uily, or 
without the lendef's consent. 

b) Floallng chIIrge; WIIh aloatlng dage on CIN1.IiI III ... of lie compel" (for 
exalliple, stDc:ks and debtors), the ..... securily In lie .... of a 
default paymellt is whalever assets of the appiIopriate c:Iau !he COfI1P8I" 
then owns (proYided thai anoIher lender does not have • prior ct.ge on 
the assets). The company would be able, hc:Iwaver. to diIpoee of its all lis 
as it chose until a default took place. In the event of a defauI, the lender 
would probably appoint. receiver to run the company nlIMrlhan .., dIIim 
to • paIticutar asset. 

The ledemplion of loan stock 

Loan sIoct and debenlures ant usually .. dl , .. 1liiie. They antlAued for ...... of tin 
years or men, and perhaps 25 to 30 years. At the end of this period, .., wII 
"malin" and bec:ome redeemable (at ~ or potllbly at a va. above par). 

Most retlaamable stDc:ks have an ..... st and latest radIiIllfllOll dale. For. • pie, 
1ft. DebenIunt Stock 2OO7m9 is redeemable, at .., .... belII.an !he .... U 
specified dale (1'1 2(07) and the latest dale (in 2009). The ......, COl .... " can 
dloose the dale. The decision by a company when to Nd •• m a debt .. depelKt on: 

a) how muc:h cash is available to !he company to ftIP8Y !he debt 
b) the nominal rate of illanlSt on !he debt. If !he cIaberUaa par 1. 

nomil8l i_est and !he Cl.I'nInt rate of i ....... is .... .., 1010, lie 
company may by to I8isa a new loan at 101t to radllm lie debt which 
costs 1ft.. On the oIhar hand, I cunwillnl&i .......... 21M'. lie 
company is unIkeIy to radaam the debt until lie IaIaIt dale pc 11_ 
becallSe the debentures would be a cheap IOIA'C8 of bw.ts. 

Thera Is no guatatd8e 1hat a company wII be able to ... a new loan to par 0« a 
maturing debt, and one item to look for in a company'l bill nee sheet is !he 
,ademption dale of currant loans, to estabIlh how muc:h new f/nanc:e is .., to be 
needed by the company. and when. 

Mortgages ... a speciIc: type of seand loan. CornpM.I p/ace !he tile deeds of 
fnIehokf or long leasehold p!operty as IIICIdy willi an inuwICII comp8I" or 
fI'IOI1gage bft*er and rec:eive cash on loan, UIUIIIy raparjIIbIe eM!' a spedfied period. 
Most 0Iganisati0ns CJIIri'Ig property which is I.I"IIBI"ICUI by .., d'l8lge should be 
able to obtain a mortgage up to two thirds of the value of the p!operty. 
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As far as companies are concerned, debt capital is a potentially attractive source of 
finance because interest charges reduce the profits chargeable to corporation tax. 

Retained earnings 

For any company, the amount of earnings retained within the business has a direct 
impact on the amount of dividends. Profit re-invested as retained earnings is profit 
that could have been paid as a dividend. The major reasons for using retained 
earnings to finance new investments, rather than to pay higher dividends and then 
raise new equity for the new investments, are as follows: 

a) The management of many companies believes thllt retained earnings are 
funds which do not cost anything. although this is not true. However, it is 
true that the use of retained earnings as a source of funds does not lead to 
a payment of cash. 

b) The dividend policy of the company is in practica determined by the 
directors. From their standpoint. retained eamings are an attractive source 
of finance because investment projects can be undertaken without 
involving either the shareholders or any outsiders. 

c) The use of retained earnings as opposed to new shares or debentures 
avoids issue costs. 

d) The use of retained earnings avoids the possibility of a change in control 
resulting from an issue of new shares. 

Another factOr thllt may be of importance is the finencial and taxation position of the 
company's shareholders. If, for example. because of taxation considerations, they 
would rather make a capital profit (which win only be taxed when shares are sold) 
than receive current income, then finance through retained earnings would be 
preferred to other methods. 

A company must restrict its self-financing through retained profits because 
shareholders should be paid a reasonable dividend. in line with realistic expectations, 
even if the directors would rather keep the funds for re-investing. At the same time. a 
company that is looking for extra funds will not be expected by investors (such as 
banks) to pay ganerous dividends, nor over-generous salaries to owner-directors. 

Bank lending 

Borrowings from banks are an important source of finance to companies. Bank 
lending is still mainly short term. although medium-term lending is quite common 
these days. 

Short term lending mar tie in the form of: 

a) an overdraft, which a company should keep within a limit set by the bank. 
Interest is charged {at a variable rate) on the amount by which the company is 
overdrawn from day to day; 

b) a short-term loan, for up to three years. 
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Medium-tarm loans are loans for a period of from .... 10 ten ,..... The ... of 
inlelest charged on mediI.m-IIIrm bank IInding 10 large CDIrII*lin will be a lei 
margin, with the size of the margin depending on the aedit sIaIdlg and risIIiI IIII of 
the boIlo.'J8r. A loan may have a fixed rata of illerelt or a variable i ........... 10 
that the .. of interest charged will be adjusted every ..... six, nine or tMIve 
months in line with recent movements in the Base Lending Rata.. 

Lendilg 10 &malar compallies will be at a magi. above the ..... bale .... and at 
either a variabIa or fixed rata of i Itef8Sl. Lending on ovadtaft II always at a variabIa 
rata. A loan at a variabIa rata of illt_est is sometimes lafemId 10 as a 1Joe6", .... 
loan. Longar-tarm bank loans will sometimes be avallllbll. usually for the JUd as. of 
property, where the loan takes the form of a mortgage. \MIen a bank8r II asked by a 
business customer for a loan or CMIIdtaft facility, he will consider _81 fadOiS. 
known tOillllOl1!y by the nmemonic PARTS. 

-Purpose 
-Amount 
-Repayment 
-Term 
-SeCI.dy 

tottle .... 
amount of ttIe loin. TIle CUIItomef must .... .,..., haw II'IbdI lie __ ID 

~row. TIle bIInbr must wrify. as far as lie Is able to do ",IhIl .. amount .... eel 
I'IIIIke ttIe pn:IpIlSed inveslmllllt has been esIImaIed COInIdIy. 

wiI .. loan be repaid? II't'III ttIe customar be able to alllalrllUllicllLlllncoi,. to 
tha lIe( I 'ry ,ep8)lMids? 
-*f be ttIe duraIIcIn ofttle loin? TIIdIoIIIIy.IIanb .... oII'ILeeI IIioIt 111m 

'lIOIiI1581111OV8ldtans. aI5hough mecIIum-term Poens .. now quill CXIIDIIIOII. 

leasing 

A IIasa is an aglaam.lIl belween two parriS, the 'SlItIi'" and .. '11111". The 
IIssor owns a capital asset. but allows .. /esIBI 10 usa It The luul mlltn 
paymellIs IA'Idar the terms of the ..... 10 the 1Issor, for a spec:Iied paliod of time. 

un.' Ig is. It.BIoi .. a form of 1WItaI. Laa.ld I Ills ... ,. 1Iy"'" pIInIand 
madlillefY, cars and c:ommen::iIII WllticlBI. but might also be CXIII1pUIIrS and oIIca 
equipment There .. two basic forms of lease: ·Op8Iatilg ilia. I- and "1161C8 
I ..... •. 

Opeiatilg 11 .. 1 ... RInIaI agI ...... 1Is belw8ln the ....... and .. Ia 1.11 whaI_ 
.) ......... sIiPIlIaS" equipment 10 the 1Is1 .. 
b) the IIssor is •• pOIlSible for S8fVicing and II ..... lilg .. lusad 
equipment 
c) the period of the lease is faity short, .... than .. 8tOi1DilLic .. of .. 

l .... ____ asset. __ 

SO

_that_at_the_and __ of_ .. __ Iease __ ._ ... _IIIIII_nt. __ .. _IIsIOr __ C8I'I __ eittI_. _-___ .... J 
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i) lease the equipment to someone else, and obtain a good rent for it, 
or 
ii) sell the equipment secondhand. 

FInance leases 

Finance leases are lease agreements between 1he user of 1he leased asset (the 
lessee) and a provider of finance (the lessor) for most, or all, of the asset's expected 
useful life. 

Suppose that a company decides to obtain a company car and finance 1he acquisition 
by means of a finance lease. A car dealer will supply the car. A finance house will 
agree to act as lessor in a finance leasing arrangement, and so will purchase the car 
from the dealer and lease it to the company. The company win take possession of the 
car from the car dealer, and make regular payments (monthly, quarterly, six monthly 
or annually) to the finance house under the terms of the leaH. 

Other important characteristics of a finance lease: 

a) The lessee Is responsible for the upkeep, senricing and meintenance of the 
asset. The lessor is not involved in this at an. 

b) The leaH has a primary period, which covers all or most of 1he economic 
life of the assai. At the end of the lease, the lessor would not be able to 
lease the assai to someone else, as the assai would be worn out. The 
lessor must. therefore, ensure that the lease payments during the primary 
period pay for the full cost of the assai as wen as providing the lessor with 
a suitable return on his investment. 

c) It is usual at the end of the primary lease period to allow the lessee to 
continue to lease the asset for an indefinite secondary pariod, in return for 
a very low nominal rent. Alternatively, the lessee might be aHowed to sell 
the asset on the IeSSOl's behalf (since the lessor Is the owner) and to keep 
most of the sale proceeds, paying only a small percentage (perhaps 10%) 
to the lessor. 

Why might leasing be poput.r 

The attractions of leases to the supplier of the equipment, the lessee and the lessor 
are as foHows: 

• The supplier of the equipment is paid in full at the beginning. The equipment is 
sold to the lessor, and apart from obligations under guarantees or warranties, 
the supplier has no further financial concern about the asset. 

• The lessor invests finance by purchasing assets from suppliers and makes a 
return out of the lease payments from the lessee. Provided that a lessor can 
find lessees willing to pay the amounts he wanls to make his return, the lessor 
can make good profits. He will also get capital ellowances on his purchase of 
the eqUipment. 

• l.easing might be attractive to the lessee: 
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i) if the leSsee does not hava enough cash to pay for the .... and 
wcukI have diII'icuIIy obIaiIling a bank loan 10 buy I, and so has to 
rent it in one way Of: anoIher if he Is to have the 11M 011 at. Of: 

i) If finance leasilg is cheaper IIan 8 bank !Dan. The COIl 01..,.... ... 
under 8 loan might ext I a c1the cost 01 8 lease . 

• The leased equipiiM does not need to be shown in the luu." phtllhed 
balance sheet, and so the leSsee's balance $heel shows no ilClll.e in ill 
glllilg ratio . 

• The ecppme.1II1s 1.lsad for 8 IhorIar peJiod IIan .. aopected ueeruI ... In the 
case 01 high-tect.1OIogy equipment, I the equipment t.DMs ~ 
babe the and of ill exped8d ... the IeSI.1 does not t'NMt ID ...., on I.IIinJ 
It. and it Is the lessor who must bear the risk of having ID ... obac I a •• 
equipmelit sec:oncII8I tel. 

The lass .. wiI be able to deduct the lease payments In ~ til_able PftIIIs. 

Hire purchase 

Hire ptRhase Is 8 form of instaImeIlt aecIt. HIre pwc:l I n Is lill J ID I I' 10. .... 
the exception that ownantIip of the goods ~ .. s to the ,.. pwc:l ..... GJSIDJI_ on 
payment of the final aedit il8lalment. whefeas 8 1eS.11 never t.DMs the OIIIII*'of 
the goods. 

Hire PUlc:I lSI &gnI8m8I1IS uauaIIy involve 8 finance hcIuM. 

i) The SI4lJlIi.r salls the goods to the finance hcIuM. 
i) The SllPIllial deIveIs the goods to the customer who wiI......., 
PUlc:I:8SII1em. 
Ii) The ,.. PUlc:I ...... ,angement exiIls between the 1naIlC8 house and the 
cust.oIMr. 

The fitallC8 hcIuM wiI always insist that the hnr should pay a cIapoIIlO .... the 
PUlc:I:I •• price. The size of the deposit wiI depend on the finance compMf"s paley 
and its aSSlssment of the hirer. This Is in cOilb_ 10 a ftnanc:e ...... wtIent the 
'sssea might not be required to make any large IniIIaI payment 

An indusIriaI or CDlnnl8l'dal businestI c:an 11M ,.. pula II. _ a IOUI'C8 of ...... 
WItt indusIriaI ,.. ptRhase. 8 buIII:ess c:usIOmeroblaillS'" pwc:l III 1i.lC8fn1m 
8 fitallC8 hcIuM in order to ptRhase the fixed 8SMl Goods bought by buIII ••• II. on 
,.. PUlc:ll8Se include CDlnpany 'I8hiC:Ies, plant and madlill .. Y, oIfice equiplllent and 
rarming machi.-y. 

Government assistance 

The govwnm8Id pnwkIes Iinance ID CORIflMIIi In CIIIh 01 .... and oIhIr forms 01 
direc:t assistance, as part of its policy of helping to de1IeIop the 1181i0lial 8CDItonIJ, 
especially in high technology indusIJies artd in araas of high unemployment. For 
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example, the Indigenous Business Development Corporation of Zimbabwe (IBOC) 
was set up by the government to assist small indigenous businesses in that country. 

Venture capital 

Venture capital is money put into an enterprise which may aU be lost if the enterprise 
fails. A businessman starting up a new business will Invest venture capital of his own, 
but he will probably need extra funding from a source other than his own pocket. 
However, the term 'venture capitar is more specificaHy associated with putting money, 
usually in return for an equity stake, into a new business, a management buy-out or a 
major expansion scheme. 

The institution that puts in the money recognises the gamble inherent in the funding. 
There is a serious risk of losing the entire investment, and it might take a long time 
before any profits and returns materialise. But there is also the prospect of very high 
profits and a substantial return on the investment. A venture capitalist will require a 
high expected rate of return on investments, to compensate for the high risk. 

A venture capital organisation wiH not want to retain its Investment in a business 
indefinitaly, and when it considers putting money into a business venture, it will also 
consider its "exit", thet is, how it will be able to pull out of the business eventually 
(after <five to seven years, say) and realise its profits. Examples of venture capital 
organisations are: Merchant Bank of Central Africa Ltd and Anglo American 
Corporation Services Ltd. 

When a company's cfnclors look for help from a venture capital institution, they must 
recognise that 

• the institution will want an equity stake in the company 
• it will need convincing that the company can be successful 
• it may want to have a repJeSantative appointed to the companys board, to 
look after its intarests. 

The directors of the company must then contad venture capite! organisations; to try 
and find one or more which would be willing to offer finance. A venture capital 
organisation will only give funds to a company that it believes can succeed, and 
before it will make any definite offer. it will want from the company management: 

a) a business plan 
b) details of how much finance is needed and how it will be uSed 
c) the most recent trading figures of the company. a balance sheet, a cash 
flow forecast and a profit forecast 
d) details of the management team, with evidenca of a wide range of 
management skiHs 
e) details of major shareholders 
f) details of the company's current banking arrangements and any other 
sources of finance 
g) any sales literatura or publicity material that the company has issued. 

A high percentage of requests for venture capital are rejected on an initial screening. 
, and only a small percentage of all requests survive both this screening and further 

~~ ____ i_nV_e_s_tig_a_tion __ ._a_nd __ re_s_ul_t_in_a_ctu __ a_li_nv_e_s_~ ____ . __________________________ ~~ 
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Franchising 

FI8I1ChIsif1l is a meIhod of expanding buIIinesI on .................. ala: •• 
be naeded. For suIIabIe businesses. it is an .. lien"" to I'1IiIling exInI cfIIliIaI for 
growth. Franchisors iIduda Budget Rant a C... Win1IY. Nando"s aa.n and 
Chic:kan 1m. 

Under a franchllillI 81laiQ8Rl8lllo a franchisee pars a fnIIldli80r for .. right to 
opecate a local business. underlie franchisor's trade name.. The fnIIlClliIor rrust .... 
certain costs (possibly for ardIitec:l's work, establishment COItI.IegaI COlts, ' ...... 111 
costs and lie cost of other support 1IIr¥ic:es) and wiI c:haIge lie "ad'l I. an initial 
frar.c:hIsa fee to cover sekIp costs, ~ on lie $lltlsa quent raguIar paymenIs by 
lie franc:hIsee for an operating profit. These regular paynI8Iu wiI UIU8IIy be a 
pen:entage of lie fnIIlChIsee's turnover. 

AIIhouctIIIe flalChlsor will probably pay a large part of lie iniIiaI Im;. 7 'M. cost of a 
franc:hIsee's 0UIIet, lie fl8IIChi ... wiI be eJq)ICfad to cDutllb .. tIt ..... of lie 
imesbnent himself. The franchisor may wei help the fiwIc:t1i ••• to obIain Ioane ... iIaI 
to proyIde tn..shant of the ir'IIfwbll8l1l cost. 

The advall?agw of fnInc:hises to the franchisor ... as foIotus: 

• The c:apl1I 0U9Iay n .. dad to expand the busIn ... is reduced 
IUbstalilaly . 

• The Image of the buIIinesIls inplo.'8d ~_the "81d I • II wiI be 
motivated to achieve goad resuII$ and wiI have the auItIOIIy to take 
wha?aver action they ?hink II to impIove the ..... 

The ad .. ". of a fl8I1ChI.e to a fiwIc:t11.ti is that he .. t .... OIIIIell. of a 
busiI.1 I. for an agreed number of years (Induding sIDck and .. ..,1111. aIIIough 
.. ani181 might be leased from the fl8l1Chilor) tDgaIh.- wiIh the baclef", of a ... 
organisalods II'IIIMting effort and experience. The ".!Chlill is able to avoid_ 
of the mislakw of many smaI businesses, because the '18I1d"IiIor 11M ... 1ft 
I • .-ned from its own past mistakes and developed a scheme that WOIks. 

ExeRlI •• 7.1 ScMnes of ....... 

0uId00r LMrtg Ud.. an owner-managed c:on.-lY. 11M dev t' tiMId a ... .,.,. of 
MatilII using .... power, and 11M financed .. denltlJlllatl I' ... from Is own 
resot.r'C8S. Market research indicates the possillBy of a large YCUne of demand and 
a significant arncu'LI of addiIioi1III c:apiIaI wiI be naaded to ftli8IlC8 .. odudion. 

AdYisa 0uId00r LMrtg Ud. on: 
a) the adwaIl7ages and dIsadvanIagas of loan or equity ...... 
b) the various types of c:apilal1ik8Iy to be tH IllbIe and thelOl.llWl from whk:h 

they might be obIairted 
c) the mathOd(s) of fii'Ianc::e Iik8Iy to be molt ........... , to boIh ()*foor 

Living Ltd. and the pnwidar of fundi. 
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